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280 o Rupis 1421 32%4kx4k%%3516 KA T =M X &I Uy At 1394938 1200
281 R 14022 T#kokkkxk 3538 pNGilit] =X i 2 g s A 130%##+2690 1200
282 Fidbt 14213 24%kkkx4%%3515 NG =MIX IEIR 2 UEE U A 136%%%%3291 1200
283 Tt 14022 Tskkdokokk 3512 NG X gk 2 IR 181%+4%9856 1200
284 FiR%E 14213 24%kkkx4%%3512 NG “MIX IEIs 2 IR ] 133k 7753 1200
285 gREE 1421 32%kkxx4%%3523 NG ZIHIX IR 2 UEE IR A 18048492 1200
286 ik LA 140225%kskkk45k4529 NG =“MIX IEIR 2 U U A 136%%%%0136 1200
287 = 1421 328kk4k% %3536 KA =M X gk 2 UEE IR A 139%%%8262 1200
288 g 5t 13252 2skskskkk4%1 035 NG =X IEIR 2 UEE U A 15 1k%6343 1200
289 ] 1421324k 3517 NG X gk 2 IR 155%+4%2472 1200
290 MR 14213 2%kskkk4k% 352X NG =X IEIs 2 IR S 155%kskk2473 1200
291 L 14213 2%kkk4k k%351 1 KA X g £ e s A 13054074 1200
292 HEEAE 14213 24%kkkx44%3520 NG =X IEIR 2 U U A 155%%%%2954 1200
293 B Ak 1421 32%*kkxk44%352 1 KA T zMIX gk 2 UEE IR A 1398262 1200




294 P 14921 32%kkxk%%%3533 KA T =N IX s & UEE U A 1398k 3173 1200
295 5 1421 32%kkxx%%%3517 NGl =N IX IEIR 2 U U3 A 1385743 1200
296 HAE 14213 2%kkk%%%%3528 NGl =X I 2 g 0y A 15547068 1200
297 HE>= 1421 25%kskskkskkk 1821 KA =MIX IEIs 2 IR ] 136%k%%3479 1200
298 EREpA 14022 7#kkkx46%5070 NG z=MIX IR & U U A 150%%%%7596 1200
299 FERLL 1421 32%kkxx%%%3537 NGl =IHIX IEIR 2 g U3 A 136++++8815 1200
300 N 14022 73k84444%5039 pNEil] = MIX % 2 WA s A 15332100 1200
301 A2 14213 2sk8:445%% 3527 NG = MIX s 2 e U A 136kekek4 784 1200
302 TR 1421 32%kkkk44%3535 KA T =N IX IR & U Ut Ao 13 Dkokok4 784 1200
303 K= 14022 78455553829 NG =X I 2 U U A 1586709 1200
304 55 14022 7#kkkx4k5055 NG z=MIX IR & U U A 150%%%%9459 1200
305 ERE 1421 32%kxxk%4%3524 NGl =IHIX IEIR 2 g U3 A 1344444191 1200
306 8T 14022 Taskokotokkkk 3513 yNGNi =IX I 2 g Uy A 1889153 1200
307 T&5% 1421 32%kxxx%%%3518 NGl =N IX IEIR 2 U U3 A 150%k5k0465 1200
308 K geF 1421 32s%kkk40kx 352 1 NG =MIX IEIs & U Ut Ao 150%+4%0465 1200
309 RN 1421 32%kxx%%%%3521 pN il =NIX IEIR 2 U U A 15250106 1200
310 THi 14213 24%kkkx45%3510 NG z=MIX IR 2 UEE U A 15 13kk%1 764 1200
311 AR 14022 7xx%x%%%%3516 NGl =NIX g & U U A 1350987 1200
312 EISE! 14022 73k84444%5030 pNEi] =MIX % 2 WA s At 136kkk2091 1200
313 FRIEAL 140227 #kkskkkxk3515 KA =X IEIs 2 UEE U A 1362091 1200
314 TR 1421 32%kkkk44%3527 KA T =N IX IEIs & U Ut Ao 13 1skkk0309 1200
315 X R 1% 1402274k x4%%3523 KA M X IEIs 2 IR ] 15147209 1200
316 X 14213 2%kkkx4583227 NG z=MIX IR 2 UEE U A 1394k%%0973 1200
317 TR 1421 32%4kkkk%351 1 KA =M X &I Uy At 157%%4%7885 1200
318 B 14022 Txkskxkkk%3515 y.NGil] Z X W% & U3 A+ 1515%kk%4415 1200
319 X A 140227 %%k xxx%%351X NGl =N IX IEIR 2 U U3 A 159%kkk8837 1200
320 P 142132kt 351 1 NG =N IX gk 2 U Ut Ao 136%*+%9514 1200
321 EEJ 14213 kskskkxkk k292X pN il =INIX IEIR 2 UEE U3 A 136%*kkk9514 1200
322 mE 14022 73skskkktkk 3512 NG z=MIX IR 2 UEE IR A 1394%k%%4316 1200
323 TAE 142132%kxx%%%%351 1 NGl =N IX IEIR 2 U U3 A 139skskkk 1599 1200
324 X E 14022 T3kkkkkxk 3210 KA =MIX gk 2 KR 1384kx%2956 1200
325 W75 L 14022 7x%%%%%%%3224 NGl =NIX g & KL R 136%%%%0116 1200
326 X 14022 T#kkkk%%%3529 NGl =X I 2 AR A 136%%%%6960 1200
327 Tk igk 14022 7%kskkx45%3219 NG “MIX IEIs 2 R A 18443671 1200
328 X VK== 14022 THkkkk%%%3229 NGl =X g 2 AR A 150%%%%3409 1200
329 X 14022 7%%%%%%%%3539 NGl =NIX g & KL R 136%%%%4767 1200
330 ik 14022 Tkt 321 1 yNGhi =X I 2 AR A 187440128 1200




331 TKAL 14022 Twskkdokk 3218 KA X gk 2 KRR 139k%%0443 1200
332 A 14022 7%kskkx45%3316 NG MIX IEIR 2 R R 175%%%%1086 1200
333 X 14022 Tsstkkdokokk 3227 NG =M X gk 2 ARG 186:k*%4582 1200
334 RFEF 14022 7kskkk4k%321 1 NG “MIX IEIR 2 IR A 1865136 1200
335 = 14213 2%kkkk4k% 3218 KA X IR 2 R A 1304k%%1911 1200
336 Tk i 14022 74kskkx45%321 3 NG =MIX IEIR 2 R R 13950719 1200
337 ik 14022 7skskketokokk 3543 KIFITH X gk 2 R 155%kk%7082 1200
338 Tk 14022 7kskkk4k%321 4 NG =MIX IEIR 2 R R 175%%%%4759 1200
339 7K 5L 14022 Tsskkdokok k3228 NG =M X gk 2 ARG 159%k%kx1175 1200
340 N E ST 140227 **kxxx%%%3518 NG “MIX IEIR 2 IR A 15258736 1200
341 §oEE 14022 7kkxx45k% 321X KAl zMIX IR 2 R A 1863600 1200
342 ENER 14022 7%kkkx45%3510 NG =MIX IEIR 2 R R 136%%4%4500 1200
343 K i [E 1421324kt 321 1 KA =M X gk 2 R 1884#kx%5905 1200
344 il = 14213 2%kskkk44%3212 NG =MIX IEIR 2 R R 13957186 1200
345 KT~ 14022 Tsskkdokk k3229 NG =X gk 2 ARG A 178+**x%8706 1200
346 KA 14022 74kskkk4k%507 4 NG MIX IEIR 2 IR A 139%sksksk4352 1200
347 KEH 142132%kkt0kk4321 4 NG =X IR 2 R A 1874k%%8324 1200
348 F AU 15262634 kkkx44k4829 KA T =MIX IEIR 2 R R 13946574 1200
349 i 14022 7wsksksksiokkk32 14 KIFITH =M X gk 2 R 1515kxx7741 1200
350 [N 14022 74kskkx45%3216 NG MIX IEIR 2 R R 1516962 1200
351 BER 14022 Tsskkdokk k3219 NG =X gk 2 ARG A 17 7+%%%5936 1200
352 A%t ] 14022 7kskkk4k%321 1 NG =X IEIR 2 IR A 13359623 1200
353 AR 14022 7sskktk%%3219 NG =M X IR 2 R A 135%%k%3437 1200
354 IRoE 14022 7skskkk4k% 321 X KA T =X Wl & IR A 159%%%3892 1200
355 R 14022 Twsksk4okk %3210 KIFITH X gk 2 R 1883259 1200
356 BRI 14022 7#kskkx45%5059 NG =X IEIR 2 R R 1315443613 1200
357 X ZA& 14022 73kkkkkkk51 18 NG =MIX gk 2 ARG 155%+4%6977 1200
358 X% 14022 7%kkkx45%3216 NG =X IEIR 2 IR A 155%skskk4795 1200
359 R il 14022 7skskketokkk3248 NG =M X IR 2 R A 1396649 1200
360 Bk 14022 74kskkx45%3235 NG =X IEIR 2 R R 1394895 1200
361 R 14213 23%kkkk45k3210 KA T zMIX gk 2 R 130%kk6183 1200
362 TARM 14212 3skskskkokotk 1 024 NG =X IEIR 2 R R 1316522 1200
363 TS 14022 Ttkskkookk504 1 NG =M X gk 2 ARG 198skkx1124 1200
364 B5E 14213 2%kkkx45%3227 NG “MIX IEIR 2 R A 155%skskk7153 1200
365 PR e 142125%kkk4%%0029 NG =M X IEIs 2 R e A 15658808 1200
366 BES S 150924 %kskkx4%%3122 NG =MIX IEIR 2 A 13052701 1200
367 A B 150924 sskskskk45k3120 KA T =N IX gk 2 R A 130%+4%1923 1200




368 =2 1421323%kkkk45k3226 pNEili zMIX g £ M A} 130%xk1797 1200
369 A5 14921 32skkskskkokkk321 2 NG MIX IEIR 2 R 16636564 1200
370 T 14022 Tskkdokk k3210 NG =M X gk 2 PRl 139%+4%9952 1200
371 AR 140227 *kkxxx%%322X NG =X IEIR 2 (LR 188ssksk9582 1200
372 e 140225%kkkk4k%4 320 NG =M X IR 2 el 152545496 1200
373 B )% 14022 74kskkx45%321 3 NG =MIX IEIR 2 P RED NN 135%kk6506 1200
374 FEF5 5L 14022 7skskkskkk%3529 KA =M X gk 2 RIS 135%kx%0565 1200
375 HYkES 140227k xxx%%%3526 NG =MIX IEIR 2 R R 18255300 1200
376 BRI 14022 Tsskkdokk k5083 NG =M X gk 2 ARG 152447748 1200
377 B 14022 TsskskskkA4k5034 NG =X IEIR 2 (LR 1593415 1200
378 IEEER 142132sk4k%%%3529 KA =X s 2 s I3 A 150%ksksk3177 1200
379 il 1421 32%*kxxx%%%3535 NG =MIX IEIR 2 Vg U A 187%%%x7505 1200
380 T 14213 2s%kkskk44%3516 pNEili] =N IX gk 2 UEE IR A 13940725 1200
381 ZIe 1421 32skskfeksiekok 3528 KR =X iR & i s At 139skskok2485 1200
382 XFEE 14022 7skkskkekk443526 KA T =X IEIs 2 U I A 1839986 1200
383 TIRIE 1402273555351 0 KA =NIX g 2 I I AT 13 skokok6663 1200
384 ThE 14022 Takoksokkrk 3521 KA =X iR & i s A 13 1skokok6828 1200
385 R 14213 2sksktoksiekok35 15 KA =X i & i s At 159sksksk ] 388 1200
386 TR 142132663534 KA =NIX Ui 2 UEE U A 151 %%%%3668 1200
387 TR 1421 32skskteksiekok 351 7 KR =X i & i s At 15 [skskok5265 1200
388 A 142132ss84%%%% 3522 KA Z X i & i s A 152%%%%0926 1200
389 EER 14213 2%skkskkk4k 3529 KA =X &I A Fsf 153%k%%1729 1200
390 FIKIL 142132%kkxx%%%3516 NG ZIHIX IR 2 UEE IR A 13840458 1200
391 FEZR 14022 74kskkx45k5043 KA T =“MIX IEIR 2 Vg U A 138%+%6968 1200
392 IR A 14213 2skskokokok 3247 KA T =X i & s At 187446884 1200
393 FEIT 140227 %*kxxx%%%5035 NG =MIX IEIR 2 UEE U A 155%%%8648 1200
394 EA 14022 73kkkk46% 3526 NG =N IX gk 2 N 19849769 1200
395 EEE R 14022 Tssksksksiokokk 38 1X KA =MIX HRES KA 15257890 1200
396 FBAFER 14022 T3kskkektork 382X NG ZIHIX HRXES H R 13 1%%4%2637 1200
397 JE/REE 14022 7skskkkskk4 11X NG =X HEXEZS e i) 134%%4%6228 1200
398 X ] % 14022 7%k x%%%3819 KA =MIX HEXES R 187+*%%6107 1200
399 X E 140227 **kxxx%%%3818 NG =X HEXEZS HRER 1802418 1200
400 HiEE 1421 32kkt0kk438 14 NG =M X HREZS XA 187*+4%1310 1200
401 AR 140227 **kxxx%%%3817 NG =X HEXEZS EE i) 13630394 1200
402 X 14022 Txkskxdkkx4115 NG = MIX HEXEZS H R 139%k%%2839 1200
403 e 14022 74kskkx45%4129 NG Z X HEXEZS e i) 133%%4%6390 1200
404 AIEESS 14022 7ws5skkstkk%3815 KA =X HEXES R 187+%*%%6998 1200




405 2 14022 7skskketokkk3823 KA =MIX HXES KA 1784%kx%0275 1200
406 PErkrt 14921 32%kxxx%%%41 26 NG =X HEXEZS EHRER 1813340 1200
407 PRI 14022 Tkkdokok k4118 NG =MIX HEXES XA 17T4%kk%1776 1200
408 TR 14022 7%kkkx45%%3816 NG =X HEXEZS EE i) 18632253 1200
409 B HER 142132tk 381 4 NG =M X HRXEZS H R 1334kk%5790 1200
410 A 75 14213 2%kkkx44k3827 NG =X HEXEZS e i) 173%%4%4095 1200
411 AT 14022 7skskkstokkk5045 KA =M X HEXES R 1738354 1200
412 1 &M 14022 Tsksk8:845%% 3829 NG =X HRES KA 184%%%%5615 1200
413 X 14022 Tkktokk k3826 NG =M X HEXES XA 130%+4%1892 1200
414 XYL 140227 **kxxx%%%3819 NG =X HEXEZS EE i) 1873k 2821 1200
415 JEtid 14022 Tsskkdokok k5048 KAl =M X HRXES H R 1574%k%%3709 1200
416 X 37 14022 7kskkk4k%381 4 KA M X HEXEZ i R 187*%4%8063 1200
417 P - 14022 Tsskkdokek k5042 KA =MIX HEXES R 1870594 1200
418 JEIRAR 14213 24%kskkk4kk4 114 NG =X HEXEZS HRER 1380563 1200
419 SRS 14022 Tskkdokk k3826 NG =X HEXES XA 15242021 1200
420 129 140227k xx%%%%3824 NG =X HEXEZS EE i) 1873k 1828 1200
421 JE At 1402274k 382 1 NG =X HRXEZS H R 1364k%%8562 1200
422 ZE 14022 73kskkk4k%503 1 KA T =X HEXEZS e i) 1330452 1200
423 K P 14022 T#skskstokkk3824 KA =MIX HEXES R 15154453 1200
424 RSN 14022 7kskskk45k4 132 NG =X HEXEZS EHRER 137%%%%5877 1200
425 gk /N 14022 Tkkkktoxk 3828 NG =MIX HEXEZS XA 15146372 1200
426 190951 14022 74kkkx4%%3815 NG =X HEXEZS EE i) 1860650 1200
427 Je/RFe 142132skk4kk%4 118 NG =M X HRXEZS H R 1394k%%8535 1200
428 Vg B 14022 7skskskkdkk411 1 KA T =X HEXEZS e i) 159%%%%8051 1200
429 XI5 o 1402275kt 381 1 KA =MIX HEXES R 1364%k%%0493 1200
430 B4 o 14022 74kskkk44%3819 NG =X HEXEZS EHRER 135%%%9805 1200
431 Z=2t 14022 7Tskskkakotork 1 12X NG =MIX HEXEZS XA 159%k%%9325 1200
432 AR T+ 14022 74kkkx45%3818 NG =X HEXEZS EE i) 176%kskx0644 1200
433 PJerEIH 14022 Txkskxkkk %3823 NG z=MIX HRXES H R 1334%kx%8256 1200
434 XIJ [FE 3 14022 7#kskkx45%5068 NG =X HEXEZS e i) 153%%%%x1810 1200
435 jaEpia 14022 7#kskkx45%3849 pNED X HEXEZS EE R 19059700 1200
436 FEAC 140227k xx%%%%3811 NG =X HEXEZS HRER 187*%%%8133 1200
437 BT 142132skk4kk%4 110 NG X HREZS XA 186:*x%0087 1200
438 Bt 140227 *kkxxx%%382X NG =X HEXEZS [P 135%kskk6612 1200
439 R 14022 7%k x4%%3832 NG ZIHIX HEXEZS PuvE kA 1525440376 1200
440 PR 140227 %*kxxx%%%0020 NG Z X HEXEZS [IREDNN 135%skskk5685 1200
441 MRAL 2 14022 7T3kkkkkk5035 KA zMIX HEXES PavE LAY 15548848 1200




442 . 14022 7Hskskskeksiokok 38 1 1 pNEili =MIX HRES PavE LAY 155%+4%7658 1200
443 A=) 14022 7sskskskkodk:04.39 NG ZMIX HEXEZS PUVE LAY 1882705 1200
444 A P4 14022 73kkkktokk 3813 NG zMIX HEXEZS PUvE LAY 13 k41144 1200
445 FREES 14022 74kskkx45%3817 NG =X HEXEZS PEIE LS 159%sksksk4539 1200
446 KER 14022 Txkskx4k% %3818 NG X HRXEZS B MR A 1764%%%6275 1200
447 VR 14022 Tkkk44%004 1 PG X EXIES R R A 178343130 1200
448 FRR 140227k5%%%%%005X PGl =HIX HRES PR AT 157#kk%7131 1200
449 SRR 14022 Tkkk44%5035 PG X EXIES R A 1833##:#x7980 1200
450 7k — 14022 7skskskksokkd 1 3X PG X HEXEZS B RS 150%%%1092 1200
451 VB ik 14022 7kskkk4k% 382 1 NG =X HEXEZS AR RS 18733804 1200
452 ZELE 140624%%kx4%k%%6513 NG X HRXEZS B MR A 152442987 1200
453 PEA L 14213 2%kskkk44%4119 NG =X HEXEZS B RS 137%%%5364 1200
454 KBS 14022 75tk 5067 KA =M X HFERES R AT 157%%k%%x2537 1200
455 kL 14022 7skskskkdokk4 114 NG =X HEXEZS MR RS 157%%%%2538 1200
456 HRZ 14021 1skktetokokk 3344 NG X HREZS MR RS 135%+4%3083 1200
457 M 14021 1sskskskkkkk3312 NG =X HEXEZS AR RS 13232934 1200
458 MR 14022 7*%kk5%4%5048 KA X HEREZS T A 152%%%%x9092 1200
459 REN 14022 74kskskx45k5045 KA T =X HEXEZS i mE AT 175%ksk%204 1 1200
460 AL 14213 23kkkk43k4 140 pNEili] =X HEXEZS T A W A 175%x%604 1 1200
461 B4 14022 74kskskk45k5047 NG =X HEXEZS T i mE AT 18736946 1200
462 B K/ 14022 7kskksiokkk4 11 1 NG X HFERES T A 15551651 1200
463 AHZ I 14213 2%kkkx45%4120 NG =X HEXEZS T i mE AT 13957306 1200
464 JaRAR ] 152630%kkk4k%%]1 185 NG X HEXEZS WA 1314k%%8397 1200
465 AHEM 14022 74kskkx45%%3819 KA T =X HEXEZS i mE AT 137350329 1200
466 f/Nl 14022 Tsskktokk 3820 KA X HFEREZS T A IR A 1823624 1200
467 B 14022 7kskskk45k4 125 NG =X HEXEZS T i mE AT 1873k 7370 1200
468 B AL 14022 Tkkdokk k4116 NG =X HREZS F A 187*++%3595 1200
469 i 14022 74kskkk45k4113 NG =X HEXEZS T i mE AT 1373550386 1200
470 AEE 142132%kkkk4k%4 137 NG =M X HRXES F AT 18243612 1200
471 FKE 14022 74kskkx45%5035 NG =X HEXEZS i mE AT 15252700 1200
472 iy 14921243kt 1 228 KA T =M X HEXEZS T e A 15036902 1200
473 PREEZE 14213 2%kskkk44k4 138 NG =X HEXEZS T i mE AT 1863%sksksk4574 1200
474 R 14022 7skskkstokkk4 126 NG zMIX HFERES A 1393653 1200
475 e s 14022 7%kkkx4%%4116 NG =X HEXEZS T i mE AT 183sskskk527 1 1200
476 INEE 140225%kskkx45%3423 NG Z X HEXEZS A 13550591 1200
477 PRI 14022 7kskkx45%4115 NG =X HEXEZS i mE AT 132%skskk4565 1200
478 Fa 14022 Twskskdokk 4115 KA zMIX HFEREZS T A WA 156%%%2885 1200




479 AT 14022 7skskksiokokk5034 KA =M X HXES T A 13254919 1200
480 B2 140203%kxxx%%%2017 NG =X HEXEZS T i mE AT 135%skskk 7184 1200
481 R 7K iR 14022 Tskkdokok k4113 NG =MIX HEXES T A 155%+4%4370 1200
482 B g B 142132%kkxx%%%4118 NG =X HEXEZS T i mE AT 158k 1669 1200
483 TRl 1421323440029 NG =M X HRXEZS T A 1394k%%6865 1200
484 ZERE 14022 5%kskskkk4 1 845 yNEih =X HEXEZS T A 13 1skskskk2771 1200
485 PR 14022 Tsskoionsond 1 28 PNEi “HIX HREZ F AT 184348990 1200
486 PRz 1421 32%kkxx%%%4119 NG =X HEXEZS T i mE AT 139sksksksk 7794 1200
487 PR 14022 Ttkskbotokkq 131 NG z=MIX HEXES T A 135%+4%0593 1200
488 EiRR 140227854 1 39 KA X HXRES A A 186%kx2652 1200
489 % 14022 Txkskx4kk%4130 NG z=MIX HRXEZS T A 1834k%%7850 1200
490 FRdk B 142132%kxxk%%%4114 KA T =X HEXEZS i mE AT 13658699 1200
491 KK E 14213240k 44 14X KA zMIX HEXES T A WA 150%%kx%9877 1200
492 L2 14021 2kkxxk44%104 1 NG =X HEXEZS T i mE AT 134350370 1200
493 AR 14022 Tstkskbotokkq 111 NG =X HEXEZS AT 151440772 1200
494 A EX 140227k xx%%%%3814 NG =X HEXEZS T i mE AT 153k 7342 1200
495 FRY % 132525 %5kk4kk %6328 KA zMIX HEREZS WA 1846065 1200
496 g 14022 T3kt 113 KA T =X HEXEZS i mE AT 1522632 1200
497 iR MG 14022 73kkkkckokk 3824 KIFITH =X HFEREZS T A IR A 18446749 1200
498 51 LR 140227 **kxxx%%%3829 NG =X HEXEZS T i mE AT 184sskskk6 748 1200
499 KN 1421 25%kk4kk%5129 NG =X HREZS AT 185%++%9179 1200
500 Bk 14022785438 26 KA ZMIX HXRES A 185%kx4 742 1200
501 Atz 1421 32skk4okk %4117 NG =M X HRXES T A 1513k%%0489 1200
502 Bz 130726%kxxx%%%2553 NG =X HEXEZS i mE AT 176%kkk5721 1200
503 [T 130726%kkkx4%%2529 KA =M X HEXES T A 13340753 1200
504 BHE 1421 32%kkxx%%%4118 NG =X HEXEZS T i mE AT 1836915 1200
505 FRM 142132tk 4 12X NG =M X HEXES A 18745101 1200
506 % W] 14022 Tseksototoriokd 119 NGl =X HXRIEZ F T A 199%x%%0717 1200
507 XN 140225%skskskekeketk5112 yNEih =MX HEXEZS M A 157%%%%5576 1200
508 AR 140227345033 KT zHIX e T I A 1594462 1200
509 PRt e 142132358641 10 e =INIX HXREZ F Wi 18248744 1200
510 Bl 14212 3skskskkkdok 1 028 NG =X HEXEZS T i mE AT 1846339 1200
511 =5H 14022 Tsektotokokk4 114 NG =X HEXES F A 130%+4%2536 1200
512 & H gk 142132553854 118 KA X HXRES A 135%kx4552 1200




513 & 14022 7*skkxkk4%4 112 KA zMIX HRES T A I A 182s%k1545 1200
514 INEAE 14213 2%kskkk44k4 128 NG =X HEXEZS T i mE AT 18257076 1200
515 i 140227kt 505 1 NG =M X HEXES W A 185%x+k3214 1200
516 B S 140227 **kxxx%%%3820 NG =X HEXEZS T i mE AT 1598792 1200
517 MR SCHE 14022 7skkskkk4%4112 KA X HEREZS T A 155%%%x5599 1200
518 RS0 14022 7%kskkx45%3810 NG =X HEXEZS i mE AT 176%%%3918 1200
519 K eI 14022 Tkskksokkq 131 KA zMIX HFEREZS T A WA 190%xx%476 1 1200
520 FHiAE 1421 25%kskskk4k%51 2X NG =X HEXEZS T i mE AT 15738259 1200
521 A 14022 Tskkdokok k4133 NG =M X HEXES F A 137+4%5485 1200
522 T% 140227 *k*kxxx%%381X NG =X R din T i mE AT 175%skskk5242 1200
523 HEE 14022 T3skskk5k41 10 KT “HIX HEREZS T A 1523446254 1200
524 XF5F 14213 2%kskkx44k4127 NG =X HEXEZS i mE AT 1527934 1200
525 EEER 14022 Twskskdokok k4117 KA zMIX HEXES T A WA 17658581 1200
526 R == 14022 7#kskkx45%3825 NG ZMIX HEXEZS fifl 55 S AT 155%skskk6845 1200
527 X EERE 14022 Tkkdokk 3836 NG =MIX HEXES fih 5 SR A 18740291 1200
528 X 14022 7sskskskk44%0068 NG =X HEXEZS fifl 55 SE AT 15055076 1200
529 SEFE TN 14022 7*%kk55%4% 3820 KA X HEREZS 13 2 SEAY 155%%%x7992 1200
530 E A 140227 **kxxx%%%3846 NG ZMIX HEXEZS fifl 55 SE AT 139%skskk6845 1200
531 Sk 1421 32s8kk4k% %3835 KA =M X HEXES fih SR A 135%%%%5595 1200
532 P4 2 142132%kkkx44%3819 NG ZMIX HEXEZS fifl 255 S AT 159k 7763 1200
533 THE2 14022 Tsskkdokokk 3827 NG =MIX HEXES fih 5 SR A 15144340 1200
534 X 14022 T3tk 3813 KA ZHIX HREZ S A 137452523 1200
535 X EZ 1 1421 32%kkx4%k%%3816 NG z=MIX HRXES fih SR A 1874%%%9097 1200
536 X 14213 2%kkkx44%3823 NG ZMIX HEXEZS fifl 55 SE AT 150%skskk5221 1200
537 (& 1526265k 4kk %4223 KA =X HFEREZS fih SR A 137+%%%3118 1200
538 KT 14022 74kskkx454%3813 NG ZMIX HEXEZS fifl 55 S AT 156%kskk5172 1200
539 #HIL T 1421 32kk4kk 43838 NG =M X HEXES fih 5 SR A 150%+4%5669 1200
540 EHrk 14022 73kskkk4k%381 1 NG =X HEXEZS il SRS 15130074 1200
541 K58 14022 Tsskktokk k3815 NG =X HRXEZS fih SR A 1593k%%3301 1200
542 THE 14022 74kskkx44%3823 NG ZMIX HEXEZS fifl 55 SE AT 175%sks0189 1200
543 T Hil 14022 7wskskkstokkk3817 KA =X HFEREZS fih SR A 18345829 1200
544 X1k 14022 74kskkx45%3828 NG ZMIX HEXEZS fifl 255 S AT 159%sksksk4479 1200
545 Xl E ik 14213234kt 381 1 NG =X HREZS fih SR A 18348814 1200
546 FER 14213 24%kkkx44%3848 NG =X HEXEZS fifl 55 SE AT 18233846 1200
547 [ 14022 Twskk4okk %3825 KA zMIX HRES b B SR AY 1860535 1200
548 X% 14022 73kskxk4k% 385X NG ZMIX HEXEZS il SE AT 134557007 1200




549 Iy A 142132s8kk4k% %4116 KA =MIX HXES KA 18640973 1200
550 JE & 14022 73kskskkk4k4112 NG =X HEXEZS KA 159sksksksk4984 1200
551 e LR 6 14022 Tsktetokokk4 114 NG X HEXES KA 158%kk+4151 1200
552 AN 14022 74kkkx45%%3835 NG =X HEXEZS KA 152204 1 1200
553 Hn K 14022 7%kkkx4%%3813 NG ZIHIX HRXEZS KA 18941127 1200
554 Rk 14022 7kskskk44k4112 NG =X HEXEZS KA 1873k 7132 1200
555 o B HE 14022 7#skkskk4k5055 pNEili zMIX HRES JRU 1A 138*x4%1445 1200
556 *xH 14022 7skskskksokk4 11X NG =N IX HEXEZS JRU 1A 134sskskk431 1 1200
557 RIS 14022 Tsektotokekk4 1 1X NG X HEXES JRUE 1A 185%++%9957 1200
558 ) 14022 74kkkx45%%3815 NG “MIX HEXEZS JRIA 1A 1802310 1200
559 ERES 14022 7#kkxx45%%381 4 KAl ZIHIX HRXES REFEN 152%+4%8115 1200
560 TR} 14022 74kskkx45%3822 NG ZMIX HEXEZS REFER 1528115 1200
561 PEE 14022 7Hskskskeksiokk 3824 KA zMIX HEXEZS REFEN 1 78%::%6853 1200
562 7K KA 14022 74kskkx44%3818 NG ZMIX HEXEZS R FER 17 73sk%857 1 1200
563 AP RE 14022 Tkkkktokk 3833 NG =M X HEXES REFKER 13 13kkk9820 1200
564 K AN 152628%kskkk4k%301 4 NG =X HEXEZS REFREN 176%k 7880 1200
565 PR 14022 Tkskkektork 382 1 NG ZIHIX HRXEZS REFEN 187*%4%2806 1200
566 BTt 14022 74kskkx45%3817 KA T ZMIX HEXEZS REFER 13 132666 1200
567 /i 14022 Tkkkkkkk 3825 pNEili] zMIX HEXEZS RLEFEN 1523548 1200
568 B 152626%kkkk45k5445 NG ZMIX HEXEZS R FER 188ssksksk6289 1200
569 K= 1421323kt 381 1 NG =X HEXEZS RUEFEN 18846289 1200
570 kR 14213 24%kkkx44%3812 NG =X HEXEZS REFREN 135%kk2803 1200
571 KA 14022 Tskskkrtork 3827 NG =M X HRXEZS REFEN 186%%4%6761 1200
572 gkt 14213 2%kskkk4k% 381X KA T ZMIX HEXEZS R FER 135%skskk 1972 1200
573 Bemtt 14022 7kttt 381X KA T =X HEXEZS e ] 1883%k4k5965 1200
574 YRR 14022 Tskseotoriok5032 pNGilit] =X HRIES AR F BN 152%%3%%6002 1200
575 THAE 14022 7kkkk4% 3819 NG X HFERES IR UEFEER 155%%%%0710 1200
576 i 4% 1% 1406223%kkxk4k% 239X NG =X HEXEZS REFREN 152s%skskk6004 1200
577 PR 14022 73kt 3816 NG ZIHIX HRXES REFEN 137%%%%9345 1200
578 BH 14213 24%kkkk4k%381 4 NG ZMIX HEXEZS REFEN 137353636 1200
579 JEH % 14921 32%kkkk4 4% 3822 KA T =M X HEXEZS RLEFEN 137353636 1200
580 KR 14022 74kskkx45%3810 NG ZMIX HEXEZS R FER 13552332 1200
581 BN 14022 7T3kkkkkkk 3818 NG zMIX HREZS R KR 189k 1456 1200
582 PH % 14213 24%kkkx45%%3816 NG =X HEXEZS REFREN 135%skskk5357 1200
583 EE¥& 511127 x%kkkxx%2742 NG ZIHIX HEXEZS REFEN 15240607 1200
584 JE IR 14213 24%kkkx44%3836 NG ZMIX HEXEZS REFER 137skskskk4562 1200
585 H 14022 7Hskskskeksiokk 3834 pNEili zMIX HEXEZS RLEFEN 1595826 1200




586 YrH = 14022 7Hskkskekokk 38 13 pNEili =M X HRES REFEN 1826235 1200
587 B2Vl 14022 74kskkk44%3818 NG ZMIX HEXEZS REFER 139%skskk3739 1200
588 KR4 140225%kkk4kx 222 1 NG =M X HEXES IR UEFKEER 15244017 1200
589 2R 14022 74kskkx45%%3819 NG =X HEXEZS REFEN 1528714 1200
590 HNE 14022 Twskkdokk %3813 KA zMIX HEREZS REFEN 187#%*%9364 1200
591 B 14022 74kskkx45%3827 NG ZMIX HEXEZS REFREN 1374489 1200
592 HEE 14022 7kkxk44%1 721 KA T =N IX K2 RAEEHRS 1390995 1200
593 A 14022 Tsskskstotodossk 1 721 NG =X REZ KALEAT 159sksksksk 1869 1200
594 A 14022 Ttkskkokx503 1 NG =M X K2 RAGER 136%%%%1673 1200
595 [ 14022 7sskskskkokksk 1 726 NG =X 52 KALFEFS 159026 1 1200
596 =/ 14022 7wsksk4okk %1719 KA zMIX KRe KRALEH 1594453 1200
597 HEX 140226%kkkx45%7028 NG =X REZ KALEA 15133607 1200
598 KA 14022 745065 pNEili] =M X K2 RAEEHRS 1880409 1200
599 kKEA 14022 74kskkk45k5035 NG =X REZ KALEAT 1513k 1677 1200
600 5 14022 Tkkdokokk 1113 NG =X K2 RAGER 1864929 1200
601 S 14022 7ssksksktokodosk 1 712 NG =X REZ KALFEFS 135%skskk5346 1200
602 7K 14022 Tsskskskotdsrok 1712 NG zMIX K2 RIEEHRS 13943715 1200
603 %k — 14022 7ssksksktokkk 5042 KA T =X REZ KALEA 15050572 1200
604 2 H #% 140227 *skkxk44%1 727 pNEili] =M X K2 RAEEHRS 157359650 1200
605 7K 36 14022 74kskkk44k5045 NG =X 52 KALEAT 151 skk4816 1200
606 b 14022 Tstkkdokokk 1 717 NG =X K2 RAGER 135%k%%1532 1200
607 I 14022 Tssksktkdossk 1711 NG =X 52 KALFEFS 15930340 1200
608 E§E 14021 1sskskkskskk 4447 NG ZIHIX K2 RAEEHRS 150%%%%0286 1200
609 7K 7 14022 74kskkx45%5033 KA T =X REZ KALEA 1832810 1200
610 T% 140227 %kkxx%%%1 725 KA T =N IX K2 RAEEHRS 136%skskk1943 1200
611 EiE 14022 Tsksksktodsk 1 717 NG =X REZ KALFEAT 139%skskk3158 1200
612 TR 14022 7ssksksksiokokk 1 72X NG =MIX KRe RAEEHRS 1592754 1200
613 T B 14022 7ssksksktokskosk 1 729 KET ZMNIX K52 KALFEEA 13947413 1200
614 T4 14022 T3tttk 1716 ENGi ZIHIX REZ RABEEAS 156+k4£7253 1200
615 EiPN 3 14022 7skskkk40k% 111X NG =X REZ KALEA 1363k 1422 1200
616 =k 14022 7%kkxk%%%1 129 KA T =N IX K2 RAEEHRS 1513kkk3953 1200
617 7k 14022 7sksksktokssk 1 717 NG =X REZ KALEAT 175%skskk557 1 1200
618 Vi 14022 7ssksksksiokokk 1 12X NG =M X ERe RAEEHRS 136%::%8632 1200
619 7k 48 -F 14022 Tsskskskkoddok 1718 NG =X 52 KALEFRS 1525518 1200
620 KEE 14022 Tskk40kk %5039 KA zMIX KRe KRALEH 184%%*x%2447 1200
621 AW 14022 73kskskk4k%5044 NG =X REZ KALEA 139sksksksk(014 1 1200
622 kKEH 14022 7Hskskskeksiokok 5034 KA zMIX K2 RAEEHRS 135%%4%5379 1200




623 FTFT 14022 T3kt 1 723 KA T =N IX K2 RAEEHRS 155%::4x0402 1200
624 FTH 14022 73kskskk45k%506 1 NG =X 52 KALEAT 188k 2238 1200
625 BT 14022 7T3kkkktkk5045 NG zMIX K2 RAEEHRS 135%kkk3741 1200
626 M/ T 14022 Tsskskstkodossk 1711 NG =X 52 KALFEFS 18839890 1200
627 EER 14022 7kxx%%%%5050 NG ZIHIX K2 RAEEHRS 135%%4%1632 1200
628 X8R & 140624 3%kkkx45k5022 NG =X REZ KALEA 152k 1 728 1200
629 [ 14022 7kkkx4%5065 KA zMIX K2 RAEEHRS 156%:%5998 1200
630 K E 7 14022 7skskskkokdk 1 769 NG =X REZ KALEAT 155%sksk8239 1200
631 KX 14022 7Tskskskokotorok 171 1 KA =MIX ERe RAEEHRS 150%::k7878 1200
632 )i 57 140221 skskskk45k2426 NG =X 52 KALFEFS 155%skskk4932 1200
633 7k Ak 14022 Twsksk4okk %1720 KA zMIX KRe KRALEH 187#%*%8998 1200
634 7k % 14022 73kskx44k%506X NG =X REZ KALEA 155%sksksk 1843 1200
635 KEE 14022 7s#skkskekk4k5039 pNEili] zMIX K2 RAEEHRS 136%x%0401 1200
636 kA 14022 7ssksksktokdsk 1 712 NG =X REZ KALEAT 13059418 1200
637 LT 14022 7skskskekeketoiok 1 124 KA T =N IX REZ KALEA 150%kk2263 1200
638 =& 14213 2s%skkskdokokk 1 712 KA =X 52 KALER 1515%k%%2949 1200
639 AR 14022 Tstkkdokokk 1 713 NG =X K2 RAGER 1394k%%6988 1200
640 MR AE 14022 7skskskk40kk 171X KA T =X REZ KALEA 136%kk7615 1200
641 K E 14022 7s5skkstkk%5068 KA =M X K2 RAGER 178%x%2487 1200
642 MEE 14022745k x45k5048 NG =X 52 KALEAT 176%kx 7681 1200
643 HE 14022 Tskkdokkk 1119 NG =X K2 RAGER 13849592 1200
644 XEH 14213 24kskkk4k%1714 NG =X 52 KALFEFS 1599223 1200
645 x| B 14022 7kkx444%503 1 NG ZIHIX K2 RAEEHRS 176%%%%003 1 1200
646 JA 4 14022 7sksksktk k%5058 KA T =X REZ KALEFRS 13936590 1200
647 R 14021 1skskdokk k4727 KIFITH =M X K2 RAGER 1867543 1200
648 HE 14022 7%kskkx45k5032 NG =X REZ KALFEAT 139%skskk 7466 1200
649 K 14022 7sskkstkk%5030 NG =M X KRe RAEEHRS 1376714 1200
650 FHE 14022 7sskskskkk4%5038 NG =X 52 KALFEFS 13735636 1200
651 7k % 142132%kkkk4kx 1717 NG zMIX K2 RAEEHRS 155%%%%0015 1200
652 X R 14022 7sskskskottokk 1 71X NG =X REZ KALEA 1593215 1200
653 A& 14022 1 seksktokktk 6544 pNEili zMIX K2 RAEEHRS 136%::%0983 1200
654 el 14022 7skskskkokk:5046 NG =X REZ KALEAT 195%skk8525 1200
655 B X 14022 7T3skskekortork 1713 KA zMIX ERe RAEEHRS 135%:x0075 1200
656 Y 14022 74kskkx45% 1723 NG =X 52 KALEFRS 19550691 1200
657 T & 14022 74kkxx4%%1726 NG zMIX K2 RIEEHRS 19940275 1200
658 AT 14022 7kskskk48k 1712 NG =X REZ KALEA 135%%%9170 1200
659 B 14022 745040 KA T zMIX K2 RAEEHRS 151%%%%6356 1200




660 H#rE 14022 7445039 KA T =M X K2 RAEEHRS 1365%kskk457 1 1200
661 FTEX 1492132kt 1 712 NG =X 52 KALEAT 158%skskk4578 1200
662 g 14022 Tskkdokekk 1 720 NG =M X K2 RAGER 18840408 1200
663 25 14022 7skskkk4k% 1 73X NG =X 52 KALFEFS 13959877 1200
664 M%EY% 14022 73kskkktokk 1125 NG =M X K2 RAEEHRS 18046934 1200
665 K 14022 7skskskkskk 171X NG =X REZ KALEA 1320797 1200
666 KNE 14022 70033 KA T =M X K2 RAEEHRS 13732256 1200
667 /A 14022 7kskkx45%1716 NG =X REZ KALEAT 130%skskk4638 1200
668 WaLE 14022 Tsstkktokokk 1 727 NG X K2 RAGER 198%+4%9319 1200
669 ELE 1421 32s%kskskkkkk1 715 NG =X 52 KALFEFS 15133498 1200
670 BRE R 142132sskskkstokkk 1 728 KAl =M X KRe RAEEHRS 151%%%%5879 1200
671 5 14022 THsksksktoskokk 1 712 KA M X 52 KALEFRS 1765%k%%6321 1200
672 KA 1421323%kkkk45k 1716 pNEili] zMIX K2 RAEEHRS 15243994 1200
673 7k 142132kttt 1 71X NG =X REZ KALEAT 159065 1 1200
674 ] 140622:35k:4%%0086 NG =M X KRe RAEEHRS 17745829 1200
675 kA A 14022 7ssksksktodok 1 713 NG =X REZ KALFEFS 1899052 1200
676 7K I 14022 7kskkk45k%1 71X NG ZIHIX K2 RIEEHRS 15234594 1 1200
677 TEF 14022 73kskxk4k%504X KA T =X REZ KALEA 135%skskk 7181 1200
678 RIRE 142122s5kk4k% %5026 KA =MIX K2 RAGER 1593110 1200
679 A4 14022 7%kkxx45%0086 NG =X 52 KALEAT 1806934 1200
680 2N 370723%kkkkkk61 33 NG =M X K2 RAEEHRS 18036934 1200
681 A 14022 TsskskskkAsk5034 NG =X 52 KALFEFS 1825257 1200
682 2B 142132sskksk40kok4 1 71X KA zMIX KRe KRALEH 13953751 1200
683 Mk 14022 7ssksksktkk:5035 KA T =X REZ KALEA 13238033 1200
684 A SR 14022 73445030 KA T =M X K2 RAEEHRS 193k 1998 1200
685 7K B 4 14022 7%kskkx45k5048 NG =X REZ KALFEAT 136%k9963 1200
686 kE 140227 skkskkkkx 1 721 NG =M X KRe RAEEHRS 13952515 1200
687 Mg A 14021 1skskskkk66469 NG =X 52 KALFEFS 135%skskk531 1 1200
688 asi 14022 Tstkktokokk 1 718 NG =M X K2 RAGER 1364k%%4193 1200
689 K E 14022 74kskkx45k5033 NG =X REZ KALEA 150%skskk0384 1200
690 IME T 14022 7skkxk44% 1 72X KA T =N IX K2 RAEEHRS 18730706 1200
691 7K 48 14022 7%kskskx435k5042 NG =X REZ KALEAT 150%skskk381 1 1200
692 i 14022 7Tskskskekotork 1 71X NG zMIX K2 RAEEHRS 13946894 1200
693 X sl 14022 73kskxk45k%506 1 NG =X 52 KALEFRS 15054819 1200
694 ZEME 14022 7#skskskdokk k503X KA zMIX KRe KRALEH 1387756 1200
695 R 14022 7skskxk4k%503X NG =X REZ KALEA 153k 7425 1200
696 i 14022 7skskskeks4kk506 1 pNEili =M X K2 RAEEHRS 1855k 2772 1200




697 I 14022 7skskksiokokk5034 KA =M X K2 RAGER 1733154 1200
698 i 140227 *xxx%%%%506 1 NG =X 52 KALEAT 1327925 1200
699 7K 142132 kkkks40kk 1714 NG zMIX K2 RAEEHRS 1385430 1200
700 B E M 1421 32s%ksksktododok 1 713 NG =X 52 KALFEFS 15057918 1200
701 kK H 142132 kkkks4kk 1 72X NG ZIHIX K2 RAEEHRS 150%%%%4210 1200
702 7K % 14022 7skskskstkdk % 509X NG =X REZ KALEA 18736299 1200
703 [ eaa 14022 7Hskkskekk4k5068 KA T =M X K2 RAEEHRS 155%skskk1914 1200
704 X 14921 32%kkxx%4%1 728 NG =X REZ KALEAT 182ssksksk 1892 1200
705 WK E 14022 Ttksktotokk 1 73 1 NG =MIX K2 RAGER 1313#k%%9279 1200
706 FEE 142132%kkxx%4%1713 NG =X 52 KALFEFS 18733636 1200
707 Tk 14022 74kkkx4%%1735 KAl ZIHIX K2 RAEEHRS 135%k+%4444 1200
708 KA E 1307 28%kskskk4kk 459X NG =X REZ KALEA 188skskskk3954 1200
709 fies 14022 7skskskksskok 504X pNEili zMIX ERe KRALEH 15250557 1200
710 H Y 140227 %*xxx%%%%508 1 NG =X REZ KALEAT 1863206 1 1200
711 AL T 14022 Tsktetokek k503X NG z=MIX K2 RAGER 1874%kx%0426 1200
712 XEF 14022 7sskskskstkk 1 11X NG =X REZ KALFEFS 18637693 1200
713 BE 14022 Twskskdokok k1 728 KA zMIX KRZ KRALFEH 181%%%%2302 1200
714 s 14022 7sskskskkk4%5069 KA T =X REZ KALEA 18133850 1200
715 Z Rz 14022 Tkkkkk4%5036 pNEili] =N IX K2 RAEEHRS 176%kkk5842 1200
716 BER 1421 22%kxx%%%%6019 NG =X 52 KALEAT 159skskskk 3404 1200
717 K 14022 Tskkdokokk 1 713 NG =X K2 IEREEE) 18249929 1200
718 INK 1421 32skskskkkokk 1714 NG =X 52 L { A 183sskskk4 171 1200
719 EAS 14022 73skskkktork 1715 NG =M X K2 Ly H AT 139547451 1200
720 FME 14213 2%kskkx44k1710 KA T =X REZ Ly { AT 137350629 1200
721 AR 14022 7%kkxx4%%1710 KA =M X K2 L H &R 1816963 1200
722 Ik 140227 *xxx%4%%1711 NG =X REZ Ly { AT 18732095 1200
723 IEE 14022 Tsskktokek k5057 NG =X K2 IEEEES) 13942487 1200
724 INKE 1421 32s%kskskkkkk 1 735 NG =X 52 L { A 1386715 1200
725 ERiEE 14022 7%5k%xx%5%2020 NG ZIHIX K2 Ly H AT 135%x+%0944 1200
726 I 14022 74kskkx45%1716 KA M X 52 L HIER 138%x%8151 1200
727 A 14022 7#skkkx4%%1719 KA =M X K2 IEREEE) 1999799 1200
728 7k % 14022 1 kit 7982 NG =X REZ Ly { A 13733437 1200
729 AT 14022 7skkkkkk% 1110 NG =M X K2 L HiERS 13741342 1200
730 I E 14022 74kskkk4k1117 NG M X 52 L { A 1520716 1200
731 FNEAX 142132%kkkk4k% 1719 NG =M X K2 Ly H s AT 150%%%%8376 1200
732 IEE 14022 74kskkx45%1710 NG =X REZ Ly { AT 13650462 1200
733 BEYE 14022235kkkk4k3028 KA =M X K2 Ll H &R 1581454 1200




734 I 14022 Tsskskskkksrok 1715 KA =M X K2 Ll HIER] 15153766 1200
735 DVE 1402243%kskkk45k%4 224 NG =X 52 Ly { A 18639664 1200
736 Ly 14022 7kkkskkkk 1114 NG X ERe Ll 5 & Ay 132351668 1200
737 TP K 14022 74kskkx45%1715 NG =X 52 Ly { A 1596204 1200
738 KEE 15262 7#kk*kx4%%5827 KA =M X K2 L HIER] 137449633 1200
739 =g el 411322%kkkx44k4947 NG =X REZ Ly { AT 134350025 1200
740 FNTE 7 14022 Tsskskskkdsrok 1162 KA =MIX K2 Ll H &R 13153090 1200
741 WEH 14022 74kskkx45%5030 NG =X REZ Ly { A 139%skskk 1675 1200
742 KEE 14022 7wsskkstkkk 1115 NG =MIX ERe L &R 15746166 1200
743 INAL 142132%kxxx%%%1718 NG =X 52 Ly { A 183k 1607 1200
744 ZHE 142132%kkkk4k%4428 KAl =M X K2 Ly H s AT 195%%%%8213 1200
745 HAE 1526263 kkkx4%%5120 NG =X REZ Ly { AT 139%skskk6325 1200
746 R 14022 Twskskkdokkk 1124 KA X K2 IEREE ) 135%%%%3305 1200
747 REX 14213 2%kskkk45%1719 NG =X REZ Ly { A 15255869 1200
748 AN 14022 7tk 1127 NG =M X K2 L HiERS 138k 7579 1200
749 FNE 140227 *kxxx%%%1713 NG =X REZ Ly { AT 135%skskk6467 1200
750 KExE 14022 7T3skskkkkekk5033 NG =M X K2 Ly H s AT 13944204 1200
751 =Rk 14022 7kskkk4k% 2324 KA T =X REZ Ly { AT 187sskskk6843 1200
752 INE X 14022 Twskk4kk %1716 KA =M X K2 Ly H &R 1871586 1200
753 REZE 149213 2skskskkkdkk 1715 NG =X 52 Ly { A 139%skskk3152 1200
754 A K 14022 Tkktokk k5036 NG =X K2 IEREEE) 18246584 1200
755 IFE X 14022 74kskskx45k 1717 NG M X 52 L { A 147358709 1200
756 IEF 140227 *kkxx4%%5072 NG ZIHIX K2 Ly H AT 188341385 1200
757 2 op 14213 2kkkk400292 1 KA T =“MIX REZ Ly { AT 15250095 1200
758 X7 14022 7sksksksiokokk 504X KIFITH =M X K2 IEREE ) 18652500 1200
759 x4 14022 Thkkkknkx 1117 NGl =NIX 52 L H & A 130%%%%0385 1200
760 IEE 14022 1kt %6510 NG =X K2 IEEEES) 13445528 1200
761 I RE 140221 skskskk435k56 10 NG =X 52 L { A 132s%skkk2321 1200
762 IMEHE 14022 73skskkktork 1715 NG =M X K2 Ly H AT 130%%5%7250 1200
763 FhH A 14213 2skskkkodotk 1711 NG =X REZ Ly { AT 139sksksksk6742 1200
764 KA 62292 1 xkskokkk k216 1 KA T =M X K2 Ly 5 AT 15933026 1200
765 pall:d 14022 7skskskkokssk 1115 NG =X REZ Ly { A 139skskskk4934 1200
766 FhER X 14022 Tskkdokokk 1117 NG =M X K2 Ll 5 & Ay 155%+4%5587 1200
767 FME £ 14022 74kkkx4%%1116 NG =X 52 L { A 1863k 7839 1200
768 WEE 140227 *kxxx%%%1116 NG ZIHIX K2 Ly H s AT 139341807 1200
769 S 22058 1 kkskskdokk 1 464 KA =X BIRS EEEE ) 13953517 1200
770 EEW 14022 Twskskdokok k1117 KA =M X K2 Ll H &R 1516504 1200




771 B 14022 Tkt 1 721 KA =MIX K2 Ll HIER] 1313%kk%6248 1200
772 FMME TR 14022 T#4kk4k%%1 130 KA =M X BIRS SR ) 150%%k%%3456 1200
773 Bk n 142132 kkkks40kk 1 724 NG =N IX K2 L HiERS 153k 1481 1200
774 FhiE L 142132%kxxk4%%1714 NG =X 52 Ly { A 139%skskk0579 1200
775 ey 14022 73kkkk46%5036 NG =M X K2 Ly H s AT 18846290 1200
776 KR 14022 Tssksktdodossk 1711 NG =X REZ Ly { AT 195%sksksk 1308 1200
777 F=X 14022 7skskkstokkk5032 KA =MIX K2 IEREEE) 155%%%%x2103 1200
778 b EW 14022 7xxxx%%%%1110 NGl =MNIX 52 L H & A 18244442127 1200
779 BRER 4T 14022 Tkkdokokk 1113 NG =M X K2 Ll 5 & Ay 152444327 1200
780 &R 14022 7skskskk44%006 7 NG =X 52 Ly { A 139%skskk6458 1200
781 FF 14022 73k 1730 NGl =X K2 Ly H s AT 186%k4k6070 1200
782 INEAX 14022 7sskskskkk4:08 10 NG =X REZ Ly { AT 139%skskk6137 1200
783 B 14022 7sskkstkk%5039 KA =M X K2 IEREE ) 150%%%x0034 1200
784 Fh A 14022 THskskskdoskokk 1713 KA =X BIRS W B A 187%%%7796 1200
785 I EE 14022 Tkkdokokk 1 719 NG =X K2 IEREEE) 138444723 1200
786 I e #E 140227 **kxxx%%%1115 NG =X REZ Ly { AT 155%sksk7200 1200
787 X\ 3¢ B 142132%kkxk4%%1718 NG ZIHIX K2 Ly H s AT 15249254 1200
788 RigE 140227 *kxxx%%%1723 KA T =X REZ Ly { AT 15250280 1200
789 FAEF 14022 7%kkkx45%%1130 KA =M X K2 Ly H &R 153%+4%8777 1200
790 EHF 140227 %*kxxx%%%1115 NG =X 52 Ly { A 151 skskskk0649 1200
791 5 B A 140227 kkk5%%x%1114 NG =MIX R w1 FIEAS 188**4%7156 1200
792 Z e 14212 3%kskskkk4% 1 028 NG “MIX 52 L { A 136%kkk 7482 1200
793 2 14022 T3kskkektork 1714 NG =M X K2 L HIER] 137*%%%9634 1200
794 7k g 140227 *kxxx%%%1727 KA T =X REZ Ly { AT 13658020 1200
795 BT 140227 %kkxx%%%1 126 KA T =N IX K2 [LESR 177%%%9176 1200
796 KEZX 14921 32%kkxx%%%1 129 NG ZMIX REZ [IES) 18732917 1200
797 M E 14022 Tkkdokokk 1113 NG =X K2 [LESR] 15141063 1200
798 X 14022 7ssksksktodosk ] 112 NG =X 52 [IES) 13 1skskskk8111 1200
799 i 14022 Tskkdokkk 1110 NG =M X K2 [LESR] 155%kx%0244 1200
800 i 14022 Tssksksktodosk ] 127 NG ZMIX REZ IESE) 13651037 1200
801 W& 14213 23kkkk45k 1135 KA =M X K2 [LESR 1852324 1200
802 158 14022 7Tsskskskkskk 1115 KA =M IX %52 7 Ay 1875567 1200
803 T 14022 Tstkkdokokk 1112 NG =M X K2 [LESR] 18747997 1200
804 kit E 52213 1 skkkkkxx6828 NG =X 52 IS 137359588 1200
805 X 142132%kkx4k%%1116 NG = MIX K2 [LESR] 1874%kx%5620 1200
806 K 1421 32sksksksksttokk ] 11X NG ZMIX REZ IESE) 1589691 1200
807 IR 14022 Tsskskskkksrok 1122 pNEili zMIX ERe R 17 7%%%%2593 1200




808 ST 140227 %kkxk44%1 114 KA T =N IX K2 [LES 1879969 1200
809 WG 52052 1 kkskkskk k%4567 NG ZMIX 52 [LES] 133k 1827 1200
810 RN 14022 Tskkdokk k5068 NG X K2 [LESR] 150%kx%3356 1200
811 15 3 [T 14022 73kskx445k%506X NG =X 52 [LES] 15055193 1200
812 i ok 140227kt 1114 KA X KRg RERAY 157%%5k631 1 1200
813 ERLd 1402224%kkkx45% 7526 NG =X REZ FORA 187*x4%2171 1200
814 HEE 14022 745035 KA T zMIX K2 RN 184%x%3886 1200
815 & T 14021 23kskskkkk 2425 NG =X REZ FIRA 155%%%%1079 1200
816 F g 14022 7Tskskekrtork 1117 NG =MIX K2 FIRK 182341486 1200
817 A& 14022 Tssksksttodoiok 1111 NG =X 52 FIRA 137%%%%9603 1200
818 T 1421 32%kskk4kk%1127 KAl X K2 TR 182445620 1200
819 & 1 14022 Tssksksrtokdok ] 113 NG =X REZ FIRA 158%kx4437 1200
820 B CHE 51068 1 kksdokskdokk 2345 KA =M X K2 TR 155%%%2677 1200
821 o R 14213 2%kskskk40kk 1 12X NG =X REZ FIRA 138%%%6738 1200
822 =% 14022 73kt 0078 NG =MIX K2 FIRK 15946598 1200
823 %4 1421 32skkskskkokdok 1117 NG =X REZ FIRA 135%%4%3784 1200
824 2 142132%kkkk4k% 1126 NG =M X K2 TR 135%x4%3784 1200
825 =X 7 14022 7skskskk4okk 1121 KA T =X REZ FIRA 187*%%%2351 1200
826 F 5K 14022 Twskk4kk %1116 KA =MIX K2 TR 15946598 1200
827 7 14022 7%kskskk45k5042 NG =X 52 FIRA 18842034 1200
828 # H Fu 14022 73kkkk44%51 36 NG =MIX K2 FIRK 18845574 1200
829 HEZ 142132%kkxx%%%1 128 NG =X 52 FIRA 137%%%%2636 1200
830 A% 142132%s4kkkkkx 1111 NG X K2 TR 1314k%%6235 1200
831 BAZ 149213 2s%kskskkokodok ] 145 KA T =X REZ FIRA 136%%%%8206 1200
832 FE 1421 32%kkkk44%1 121 KA T =N IX REZ LR FKEN 15052691 1200
833 TR A 14022 Tkt 1117 NG =X REZ b= ZER 130%skskk 1093 1200
834 e 1402274k 1112 KA =X KRe LR K ER 1580610 1200
835 e 14022 74kskkx44%1118 NG =X 52 Jb = ZER 18733148 1200
836 EHE 14212 1skkdokk %5928 NG =M X K2 bR FKER 1334kk%2182 1200
837 FBRF 14022 7ssksksktodkssk 1110 NG =X REZ Jb = ZER 1828109 1200
838 e 14022 7sskskskkkskok 1119 pNEili zMIX K52 b EFKER 18255183 1200
839 e 14022 7kt 1116 NG =X REZ b= ZER 1525720 1200
840 i 1402274k 1113 KA X ERe LR K ER 187+%%%0397 1200
841 ThEE 14213 2%kkkx44%1120 NG =X 52 Jb =R 155%skskk026 1 1200
842 e 14022 7skskskoktokok 1111 NG zMIX REZ bR K ER 130%x%%6164 1200
843 F BRI 14021 1sskskskkksk0013 NG =X REZ Jb =R 155%skskk6319 1200
844 £ 140227 %*kxxk%%%1115 KA T =N IX K2 LR FKEN 18839973 1200




845 %2 14022 Tkt 1115 KA T =M X K2 LR FKEN 158%:k:kk64 12 1200
846 E 14022 7ssksksttodk ] 113 NG =X 52 Jb R SR 157331990 1200
847 F B F 14022 7Tsskkkrtork 1117 NG =N IX REZ LR K ER 13639932 1200
848 ZRE 14022 Tsskskstkodosk 1 121 NG =X 52 Jb R SR 1835733 1200
849 FEH 14022 73skskkkdokk 1128 NG ZIHIX REZ b RFER 13244100 1200
850 FhuiE 14022 Tsskskskkodososk ] 134 NG =X REZ Jb R SR 153%skskk5214 1200
851 245 1421 32%kkkk44%1 131 KA T =N IX K52 Jb R R 151 skskk0437 1200
852 Ei 14022 7sksksttodsk 1117 NG =X REZ Jb R SR 139%skskk9649 1200
853 i 142132tk 141X NG =MIX PUYFE EEEAKX 155%kx%3007 1200
854 PR 14022 7Tssksksketsiokok 142X NG X PP ZREEAHX 155%kk+0245 1200
855 Ry 14022 Tsektetokokk 1414 KAl z=MIX PUYEE EEEHKX 1884kk+4665 1200
856 JELITR R 14022 7sskksktkk%0050 NG X PR ZHEEAX 150%%k+0617 1200
857 3Bl 7 142132skkskektoiok 1411 pNEili] =N IX [iEa! AKX 1399434 1200
858 = 14022 7kskkskstokek 1424 NGk =X PR SEEHKX 139%k:6%0834 1200
859 B 14022 Tskkdokokk 1410 NG z=MIX PUYFE EEEAKX 139%k%%2097 1200
860 A 14022 7tk k2640 NG X PP ZREEAHX 1574%*k%4189 1200
861 FEHEZ 1421 32skk4okk %1422 NG z=MIX PUYEE EEEHKX 1364%x%9576 1200
862 Finias 14022 7sskksktokokk26 17 KA T X PUPEER ZHEEAX 136345761 1200
863 % 14022 Tkskkekstork 504X KA =MIX [iEa! SREHEMX 155%*4%0363 1200
864 A5 140227tk 261 1 NGk =X PR SEEHKX 130%+%%6049 1200
865 R 14022 Tsktetokek k23 1X NG z=MIX PUYFE EEEAKX 130%kk%1101 1200
866 FKiAE 140225%kkk4kk%5929 NG X PP ZREEAHX 130%%k%2046 1200
867 FhE 1402274k 503 1 NG z=MIX PUYEE EEEHKX 159%%k%%9323 1200
868 HHE K 140227k 261X KA T X PUPEER ZHEEAX 186k++9484 1200
869 B A 14022 Tkskkokotork 1714 KA =MIX [iEa! SREHEMX 153443747 1200
870 3 [ K 15253 Ikskksksiekkok 1925 NGk =X PR SEEHKX 182%#%%8243 1200
871 2 14022 Tskkdokk k2319 NG =MIX PUYFE EEEAKX 139%%kx%9156 1200
872 e AL 14022 1sskskekstokokk 1826 NG X PP ZHEEAHX 187#%k+3055 1200
873 e 14021 1sektetokk k33 14 NG z=MIX PUYEE EEEAKX 1374%kk%2638 1200
874 B 140227tk %2310 NG X PUPEER ZHEEAX 19540823 1200
875 E'e)d 14022 7skskskskekk4%26 15 KA T =N IX PUYFE REEEAX 135%skkk 7542 1200
876 REE 140225%kkkskk45320 NGk =X PR SEEHKX 136%+%x1546 1200
877 A7 14022 Tkkdokk k2319 NG =MIX PUYFE EEEAKX 1993kxx0229 1200
878 [28'a 14022 7sksksksiokekk2324 NG X PP ZHEEAX 150%%kk%2632 1200
879 5 i 14022 Tsstkktokek k5057 NG = MIX PUYEE EEEAKX 1784%%kk+7646 1200
880 Wie 142132skkktokkk 1418 NG X PR ZHEEAX 187#kk%1265 1200
881 FHET 14022 7skskskskekekkk231 2 KA T =N IX [iEa! AKX 155%kkk8504 1200




882 St 14022 7T3kkktotkk 2622 KA =MIX [iiEa! SREHEMX 15255004 1200
883 ikl 14022 7kskkskstokek 1414 NGk =X PR SEEHKX 185%%%%4993 1200
884 [ A 14022 Tsskktokk k0035 NG =MIX PUYFE EEEHKX 185%k%%4993 1200
885 ik 5 14022 7sskkktokokk 1418 NG X PP ZHEEHX 135342224 1200
886 7k 1421323442310 NG z=MIX PUYEE EEEHKX 155%kx%6106 1200
887 ik 5 14022 7sskkktkkk5075 NG X PR ZHEEAX 135%%kk%3028 1200
888 INEE 14022 Tkskkekotork5044 KA =MIX PUYEE EEEHKX 1821420 1200
889 FrE 140227k 2317 KA =X PR SEEHKX 187%kk%1191 1200
890 Fé 14022 Tkt 231 1 NG =MIX PUYFE EEEAKX 134%kk%1472 1200
891 Ty 14022 7tk 2620 NG X PP ZREEAHX 176%%%%0982 1200
892 T % 14022 Tsstkkdokok k2622 KAl z=MIX PUYEE EEEHKX 136%kk+4164 1200
893 s 1421 32skkktkkk2627 NG X PR ZHEEAX 15930801 1200
894 Teott 14213 2skskkekk4%26 1 7 pNEili] =N IX [iEa! AKX 135%%kk9709 1200
895 HH 14022 7kkskskk4005X NGk =X PR SEEHKX 138%#k%4776 1200
896 EEa 14022 Tkkdokk k2628 NG z=MIX PUYFE EEEAKX 195%%kx+0759 1200
897 KEE 14022 1sskskskstokok k6227 NG X PP ZREEAHX 1513kt 1481 1200
898 {ERH 140227kl 1 711 NG z=MIX PUYEE EEEHKX 130%kx%5326 1200
899 gk — 14022 7kskskskekkk 141X KA T =IHIX LR R HEAEX 139%kkk2182 1200
900 75t 142132skskkskokkk 1422 KA =MIX PUYFE SREHEMX 13942446 1200
901 k5 14213 2%skkskskk4k 1410 NGk =X PR SEEHKX 153%#%k%1615 1200
902 A7 14022 Tsktetokek k26 1 X NG z=MIX PUYFE EEEAKX 136%kk+3564 1200
903 X% 52240 1 ksksiokekkskk 6622 NG X PP ZREEAHX 152%kk%4245 1200
904 s 14213234k 1417 NG z=MIX PUYEE EEEHKX 1574%%%0490 1200
905 YL 14022 7sskkktkkk5039 KA T X PUPEER ZHEEAX 151342003 1200
906 ik 14022 Tkskektotork 1447 KA =M X [iEa! SREHEMX 15943949 1200
907 [ZES 142132tk 1411 NGk =X PR SEEHKX 188%#kk7748 1200
908 fSe 14022 1okt 652 1 NG =MIX PUYFE EEEAKX 150%kk%2042 1200
909 X 14022 1sskskekstokek k0549 NG X PP ZHEEAHX 157#%+*8159 1200
910 R 1421 32kt0kkk 141X NG z=MIX PUYEE SREHEMX 137*x4%1936 1200
911 EHK 14022 Tskkketokok k26 13 NG X PUPEER ZHEEAX 1524%%%3609 1200
912 T LR 14022 7T3kkekkkx007 7 KA =MIX PUYFE SREHEMX 1817693 1200
913 k=1 14213 2%skksksikdok 1417 NGk =X PR SEEHKX 184%#%%x4386 1200
914 7K [ % 14022 Tsektetokk k26 14 NG =MIX PUYFE EEEAKX 15044981 1 1200
915 KER 14022 7sskkktokok k2628 NG X PP ZHEEAX 1864k*+*6588 1200
916 I 1421 32skk4kk% 1420 NG = MIX PUYEE EEEAKX 137H%kk%5782 1200
917 FINTG 1421 32skkkekstokx 1 43X NG X PR ZHEEAX 185%%*k%5913 1200
918 BHE 14022 7T3kskektotkk5043 KA =MIX PUYEE SREHEMX 13940180 1200




919 XL 14022 1 kskskskeekk:6229 KA T =N IX [iiEa! AKX 13236029 1200
920 WHEYL 14022 7kskksksiketok 1 12X NGk =X PR SEEHKX 135%#%%4650 1200
921 (EEEH 14022 Tsktstokek k232X NG =MIX PUYFE EEEHKX 150%%kk+3454 1200
922 57 1421325k 261 1 NG X PP ZHEEHX 15 13kk%7295 1200
923 i 14022 Tsektetokk k26 14 NG z=MIX PUYEE EEEHKX 132%%k%43611 1200
924 TR 14212 1sskkektokokk2128 NG X PR ZHEEAX 1824%*x+3516 1200
925 1 1421325460036 KA =MIX [iEa! SREHEMX 187*+4%5106 1200
926 Tk 142132tk 1411 KA =X PR SEEHKX 159k 1482 1200
927 [ 142132skk40kk% 1415 NG =MIX PUYFE EEEAKX 1364kx%8377 1200
928 B T 14022 7sskskktokokk5049 NG X PP ZREEAHX 1874%k+8067 1200
929 2= =4 14022 Tsskkdokk k2638 KAl z=MIX PUYEE EEEHKX 1384kk%2997 1200
930 kT 14022 7kt k2618 NG X PR ZHEEAX 138#kk%7401 1200
931 B3 1406223kt 1929 pNEili] =N IX [iEa! AKX 139skkk6776 1200
932 ES 14213 2%kkskskk4k 1426 NGk =X PR SEEHKX 187%%%%6140 1200
933 hi I 140227kl 14111 NG =X PUYFE EEEAKX 137Hkk%4344 1200
934 EEV: 14022 Tssksksktokokk 4427 NG X PP ZREEAHX 15933987 1200
935 HH 1421 32skk4kk %4432 NG z=MIX PUYEE EEEHKX 139%%kx+0686 1200
936 i 14022 7skkskstokokk2634 KA T X PUPEER ZHEEAX 183442225 1200
937 e 14022 7Tkt 0035 KA =M X [iEa! SREHEMX 18647248 1200
938 PR 14022 7kkkkskk4k 2623 NGk =M X PR SR EAEIX 150%k6%0161 1200
939 Filg & 14022 Tsktetokek k233X NG z=MIX PUYFE EEEAKX 1913k%%4210 1200
940 KN 130434kt %6063 NG X PP ZREEAHX 13434%k%0702 1200
941 ElSi 14022 Tsstkktokokk 1417 NG z=MIX PUYEE EEEHKX 1374%k%%8943 1200
942 E s 14022 74kskkx45% 2617 KA T =M IX LR ZHEEAX 1513#%x%8076 1200
943 HTHERN 14022 73kkkkkkk5046 KA =MIX PUYFE SREHEMX 15158076 1200
944 P 140227 %*kxxx%%%26 12 NG =MIX PR ZEHEAX 131%k%4455 1200
945 F LR 14022 Ttk k2650 NG =MIX PUYFE EEEAKX 137#%kk%2017 1200
946 ZER IR 14022 7sskkktokok k2628 NG X PP ZHEEAHX 1584kk+0282 1200
947 i S7ay 142132skkkk0kk 141 1 NG z=MIX PUYEE EEEAKX 139%kk+0587 1200
948 ViERE 14213 2%kkkx45% 1429 NG =M IX JLpR:! ZHEEAX 18645892 1200
949 HRE 142132skkkekek4%1 736 yNGhi =N IX [iEa! REEEAX 139k 3544 1200
950 T 142122%kkkskkk602 1 NGk =X PR SEEHKX 139%kkk3544 1200
951 Jhe St 1421 32kk4kk%2615 NG =M X PUYFE EEEAKX 156%kk+1814 1200
952 XI55 14022 7sksksekstokok 1 72X NG M X PP R HEAEX 13945353 1200
953 ESE2 142132%kt0kk1 714 NG = MIX PUYEE EEEAKX 13 13#kk%6965 1200
954 B 14022 7sskkktokkk 1416 NG X PR ZHEEAX 185442245 1200
955 K SR bk 14213 25kkskek4 202X KA T =N IX PUYEE AKX 1346183 1200




956 FH 14022 7skskskskek62319 KA T =N IX PUYEE AKX 13932082 1200
957 T 14022 7kkkd0kkk2 324 NGk =X PR SEEHKX 135%%k%x5017 1200
958 R RR 51302 7kkstokkdokk5729 NG =MIX PUYFE EEEHKX 130%kk%429 1200
959 FAM 142122skkkkkk%3027 NG X PP ZHEEHX 1364%x%8377 1200
960 F% 14022 Tstkkdokokk 1413 NG z=MIX PUYEE EEEHKX 185%k*k%5343 1200
961 BT 14022 7ssksksktokokk 1712 NG X PR ZHEEAX 1864kk%1322 1200
962 it 14022 T3skskektokrk 2613 KA =MIX PUYEE SREHEMX 13943417 1200
963 XK % 14022 7xkkkskk4k5048 KA =X PR SEEHKX 139%#%%8935 1200
964 ¥R 14022 Tsktetokokk 1414 NG =MIX PUYFE EEEAKX 1584#k%+0643 1200
965 S 1421323tk 1410 NG X PP ZREEAHX 153444702 1200
966 YR 14022 Tsektstokokk 1 44X KAl z=MIX PUYEE EEEHKX 1784%x+9666 1200
967 PN U 142132skkktkkk 1410 NG X PR ZHEEAX 182:4kk+1065 1200
968 B 1421 32skskkek44426 18 pNEili] =N IX [iEa! AKX 158%%+%9591 1200
969 B EAE 14022 7k5kkkk4 1426 NGk =X PR SEEHKX 175%%%%1340 1200
970 HALAL 14022 Tsskktokek k5046 NG z=MIX PUYFE EEEAKX 1534%x%8515 1200
971 WAEE 14213234k 1417 NG X PP ZREEAHX 1593%++8897 1200
972 FEFR, 1421213kt 0529 NG z=MIX PUYEE EEEHKX 150%kk%5134 1200
973 e 142132skkk4kk%26 19 KA T X PUPEER ZHEEAX 187#%*k*0565 1200
974 25U 14022 7sskskskekek4426 28 pNEili] =N IX PUYFE AKX 139tk 1472 1200
975 PFEAR IR 1402275k 2618 NGk =X PR SEEHKX 135%#%%4190 1200
976 A 14022 Tsskkdokk k2625 NG z=MIX PUYFE EEEAKX 185%kx%7803 1200
977 e 14022 Tsskskktokokk2323 NG X [lpaR:! ZREEAHX 13243118 1200
978 Tk R Bk 14022 Tsskkdokk k2629 NG z=MIX PUYEE SRHEMX 131%*%%9214 1200
979 BRI 14022 7sskksktokokk2627 KA T X PUPEER ZHEEAX 13 13kk%5121 1200
980 Eorn 140225%kskskekeke4:01 22 KA T =M X [iEa! AKX 18634349 1200
981 BN 14213 2%skksksioketok 141X NGk =X PR SEEHKX 159%#%k%2346 1200
982 X FE5T 14022 Tsektotokekk 1 714 NG =MIX PUYFE EEEAKX 157#%kk%]1259 1200
983 BE 14022 7sskskktokkk2310 NG X PP ZHEEAHX 155%%k+0995 1200
984 R 14022 Tseketokk k5084 NG z=MIX PUYEE EEEAKX 159%k++8284 1200
985 Z 14022 7sskksktokokk 1713 NG X PUPEER ZHEEAX 15947240 1200
986 3 B 14022 7kttt 1 722 KA T =N IX [iEa! REEEAX 18835020 1200
987 e 532130skkskkskskeokk 1 12X NGk =X PR SEEHKX 135%k%%7563 1200
988 LS 14022 Tstkktokokk 1 717 NG =MIX PUYFE EEEAKX 139%kk%5224 1200
989 I g 4 14022 7skskktokkk 1715 NG X PP ZHEEAX 18747300 1200
990 4 1F 14022 Tsskktokek k5039 NG = MIX PUYEE EEEAKX 188#k+%4509 1200
991 # F 1k 14022 7sskkktokok k2648 NG X PR ZHEEAX 13544063 1200
992 L& E 14213 2%kkkx4%%1722 KA =MIX [iEa! SREHEMX 136%+4%9339 1200




993 B £ 14213 2skkskskekektok 1 728 KA T =N IX [iiEa! AKX 182k 1022 1200
994 7 14213 2%kkskstokkk 17 14 NGk =M X PR SEEHKX 135%#%%3929 1200
995 IEH 14021 2skkdokk k3622 NG =MIX PUYFE EEEHKX 139%kk%1040 1200
996 IER 14213 24%kkkx4%%1719 NG X PP ZHEEHX 135%++%3929 1200
997 R ek 14022 Tsskktokk k5048 NG =M X [ipag:Ed B A X 1391040 1200
998 R 140227 **kxxx%%%1717 NG =IHIX LR R HEAEX 132548813 1200
999 [ 14022 1kt 6544 KA T =N IX [iEa! AKX 1873kkk 7667 1200
1000 £ AT 14022 1 kkkxx4%%7940 NG =N IX JlpR:! R HEAX 16642770 1200
1001 Y= 142132skk4kk%1 710 NG =MIX PUYFE EEEAKX 13 7#%k%%4280 1200
1002 x5 EF 14022 Tsskskskstokokk 1 722 NG X PP ZREEAHX 158+%++8286 1200
1003 ZES 1421323k 1 725 KAl =M X [ipag:Ed B A X 13 1%%%%6625 1200
1004 =y 14213 2%kskskxk5k 1712 NG X PR ZHEEAX 184#%*++3560 1200
1005 R 14213255k 1725 pNEili] =N IX PUYFE S HEAX 135%+:4%6607 1200
1006 FEE 14213 2%kkkd0kkk 1714 NGk =X PR SEEHKX 135%#%%6607 1200
1007 e 142132skk4kk%1 716 NG z=MIX PUYFE EEEAKX 1513kk%9141 1200
1008 %% Al i 15092 3skskskskstokekk 5724 NG X PP ZREEAHX 1334kk%2145 1200
1009 a3 1421 32skkkokokk [ 721 NG z=MIX PUYEE EEEHKX 1804k*k+7138 1200
1010 ZE 142132kttt 1 71X KA T =IHIX LR R HEAEX 15051324 1200
1011 TA K 14022 7T3kskkkkkk5038 KA =MIX PUYFE EEEHKX 150%+4%2639 1200
1012 212 1421 32%kkxx%%%1725 NG =N IX [lpR:! R HEAX 1519141 1200
1013 % B 14022 1sskktokok k6547 NG z=MIX PUYFE EEEAKX 182341302 1200
1014 EQES 14022 7skkskekskx504 X NG X PP ZREEAHX 153%k*k%5515 1200
1015 XA 14022 Tkl [ 721 NG z=MIX PUYEE EEEHKX 13640987 1200
1016 A 140227k 1113 KA T =IHIX LR R HEAX 13786034 1200
1017 xF 14213255k 1716 KA T =N IX PUYFE S HEAX 187*+4%9857 1200
1018 ZEY 14022 7k%kkskk4k 1713 NGk =M X PR SEEHKX 176%+%%2153 1200
1019 Tt 1421 32skkkotokk [ 721 NG =MIX PUYFE EEEAKX 18243614 1200
1020 A 14022 Tsskkktokokk 1 728 NG X PP ZHEEAHX 135%%k%4285 1200
1021 REE 14022 Tkl 1 73 1 NG z=MIX PUYEE EEEAKX 15149721 1200
1022 LA 14213 23%kkkx45%0523 NG X PUPEER ZHEEAX 13938965 1200
1023 B EE 14022 T3kskkekstokk 503X KA =MIX PUYFE EEEHKX 1394kx%8965 1200
1024 AR 140227k xxx%%%2613 NG =N IX [lpR:! R HEAX 137541046 1200
1025 2EE 14022 Ttkkdokokk 1 718 NG =MIX PUYFE EEEAKX 1593kk+0481 1200
1026 I 5 5 142132%kkkkkk 1717 NG “MIX PP R HEAEX 13843819 1200
1027 FAT 14022 Tsskktokek k5035 NG =X [ipag:El B A X 1588140 1200
1028 FRE 14213 2%kkkx45%2619 NG X PR ZHEEAX 1863#%x+0037 1200
1029 FEX 1421 25%kskskekk464917 KA T =N IX PUYEE S HEAX 13740574 1200




1030 % 14213255k 1715 KA T =N IX PUYEE S HEAX 187k 1086 1200
1031 BRE 14022 7*xkk:5k45069 NGk =X PR SEEHKX 198%#k%5627 1200
1032 £ 5 & 14022 Tskkdokokk 1 718 NG =MIX PUYFE EEEHKX 139%k%%9275 1200
1033 PR 14022 745106 NG X PP ZHEEHX 1313#%k%6185 1200
1034 Z2E%E 14022 Tstkkdokekk 1 710 NG z=MIX PUYEE EEEHKX 1864kk+4843 1200
1035 B EE 14022 7sskkktokkk2313 NG X PR ZHEEAX 1513%k%8612 1200
1036 EEE 14022 73kttt 004X KA T =N IX [iEa! AKX 18746300 1200
1037 ZFA 14213 2%kskksksikdok 1713 KA =X PR SEEHKX 134%#%%6207 1200
1038 ZEF: 14022 Tstkkdokokk 1 713 NG =MIX PUYFE EEEAKX 1564%%k%%3336 1200
1039 ERTd 14022 7sskkktokok k2628 NG X PP ZREEAHX 1324%%%%9557 1200
1040 HES 14022 7*kkkkkk5038 KA =X P IF 4 SEEX 189%*x%6010 1200
1041 HKAET 1402274k %26 10 NG X PR ZHEEAX 15245698 1200
1042 wEE 14022 7skskskskekek626 1 2 pNEili] =N IX PUYFE S HEAX 137skkk454 1 1200
1043 A% 1402275k 2613 NGk =X PR SEEHKX 13 7kkk6034 1200
1044 Bl 14022 Tskkdokk k2618 NG z=MIX PUYFE EEEAKX 153%k*k%1538 1200
1045 2% 14022 7sskkkekdork 1421 NG X PP ZREEAHX 135442778 1200
1046 A & 1526264k 0965 NG z=MIX PUYEE EEEHKX 175%%k%%5455 1200
1047 7k % vt 14022 7sskksktokokk2627 KA T X PUPEER ZHEEAX 155%%k%7640 1200
1048 31 H 142132skkkek44%26 14 pNEili] =N IX [iEa! AKX 13936952 1200
1049 KAEE 14022 7*kkkdkk 2624 NGk =X PR SEEHKX 150%#%%8237 1200
1050 #= X 14022 Tskkdokok k2638 NG z=MIX PUYFE EEEAKX 130%kk%7661 1200
1051 S 142132skkktkk k2617 NG X PP ZREEAHX 175%%k%7255 1200
1052 SHE 14022 Tskttokek k006X NG z=MIX PUYEE EEEHKX 188+x+8076 1200
1053 LS 142132skkktkkk26 17 KA T X PUPEER ZHEEAX 1593%**6559 1200
1054 g 14022 73kt 2926 KA =MIX PUYFE EEEHKX 136%++x7804 1200
1055 7K 140227k 2616 NGk =X PR SEEHKX 139%kkkk4541 1200
1056 A A 14022 Tsskkdokok k2642 NG =MIX PUYFE EEEAKX 137#%k%%5549 1200
1057 THE 14022 73k 2660 NG “MIX PP ZEEHEAEX 135%k4%5625 1200
1058 B 14022 Tsektetokekk 26 1 X NG z=MIX PUYEE EEEAKX 1764%kx+3888 1200
1059 s 142132skkk4kk%26 10 NG X PUPEER ZHEEAX 137#%%%9519 1200
1060 BF 14022 7skskkek44:262 1 KA T =N IX [iEa! REEEAX 138s%kkk 7177 1200
1061 K 142132k 2315 NGk =X PR SEEHKX 186%+*%x8826 1200
1062 %2 14022 Tsskkdokk k2310 NG =MIX PUYFE EEEAKX 1513kk%2310 1200
1063 7% & & 14022 7sskksktokokk2337 NG X PP ZHEEAX 155%%k%2997 1200
1064 K A 1421 32skk4kk %2317 NG = MIX PUYEE EEEAKX 139%kk%4414 1200
1065 [ 14022 7tk %5105 NG X PR ZHEEAX 188+%++0696 1200
1066 B E 14022 73kt 2320 KA T =N IX PUYEE S HEAX 15747909 1200




1067 AN 14022 Tkskkatotork 2324 KA =MIX PUYEE EEEHKX 187*+4%9928 1200
1068 BHEA 14022 7kkskskk4k51 12 NGk =X PR SEEHKX 155%#%%(0492 1200
1069 LEE 132526kt 002X NG =MIX PUYFE EEEHKX 187#kk%7105 1200
1070 0 B A 1421323kt 1716 NG X PP ZHEEHX 15 T3kk%7044 1200
1071 REE 14021 2skkdokk 3633 NG z=MIX PUYEE EEEHKX 135%kk%3929 1200
1072 T 14022 Lsskskskeksioksk6 52X NG =IHIX LR R HEAEX 139%kkk5272 1200
1073 7K 142132kt 1716 KA T =N IX [iEa! AKX 1573kkk0359 1200
1074 = 14213 2%skksksioketok 1 72X KA =X PR SEEHKX 159%#k%4107 1200
1075 7% E X 14022 Tkkdokk 2316 NG =MIX PUYFE EEEAKX 1934%kxx0870 1200
1076 RED 14022 7skksksiokekk 5044 NG X PP ZREEAHX 137#%k%9560 1200
1077 TEH 1421323k 1 717 KAl z=MIX PUYEE EEEHKX 187#%k++9851 1200
1078 I #45 1421 32skkkk4k%26 1 X NG X PR ZHEEAX 13932949 1200
1079 " HE 14022 7k 2623 pNEili] =N IX PUYFE S HEAX 1392949 1200
1080 B 140222%kkkskk4k 3828 NGk =X PR SEEHKX 158%#%k%4369 1200
1081 G 14022 Tskkdokok k2612 NG z=MIX PUYFE EEEAKX 1334kxx0025 1200
1082 KR 140226%kkk4kk%3025 KA X PP ZREEAHX 183442510 1200
1083 1K 14022 Tstkktokekk 1 710 NG z=MIX PUYEE EEEHKX 136343121 1200
1084 Ga%id 140227 4kkkkx 1 71 1 KA T X PUPEER ZHEEAX 1374%%%9050 1200
1085 A )55 51303 Ltk k0806 KA =N IX PUYFE AKX 166%+:4%2688 1200
1086 SR 14021 Ikskeksiokk0028 NGk =X PR SEEHKX 189%k:k%9731 1200
1087 F it 14022 Tskkdokokk 1 715 NG z=MIX PUYFE EEEAKX 1894k%%2973 1200
1088 [ 14022 Ttk 1 725 NG X PP ZREEAHX 1593kk+6134 1200
1089 TKHE 14022 Tsektetokekk 1 714 NG z=MIX PUYEE EEEHKX 1313kk%2157 1200
1090 A 14022 1 kskskskerkkk652.3 KA T =IHIX LR R HEAX 136%*kkk3923 1200
1091 54 14022 7Tkkkkkkk 1716 KA =MIX PUYFE EEEHKX 150%++8191 1200
1092 28 R 140227k 1 128 NGk =X PR SEEHKX 177%%%%3716 1200
1093 i 142132kk4kk% 1716 NG =MIX PUYFE EEEAKX 1874k 0848 1200
1094 SR i 152625%kksksikkx0124 KA X PP ZHEEAHX 1393kk%4117 1200
1095 Bopia 14022 Tskktokek k5040 NG z=MIX PUYEE EEEAKX 1874%kk%7629 1200
1096 25 14022 7sskskekstokk 1 71X KA X PUPEER ZHEEAX 1334k%9782 1200
1097 BEK 14022 7sksksksketetoiok 171X KA T =N IX [iEa! REEEAX 13 13skokk3288 1200
1098 k=7 140225%kkkskk4k5122 NGk =X PR SEEHKX 136%+%%2108 1200
1099 Wi 142226 kk4kk% 3947 NG =MIX PUYFE EEEAKX 137Hkk%3177 1200
1100 BEF 14022 73tk 1718 NG “MIX PP R HEAEX 13743324 1200
1101 BT 14022 Tsskkdokk k2335 NG = MIX PUYEE EEEAKX 1593%kk%2063 1200
1102 X RLAE 1421 32skskskekk4k26 1 2 NG =IHIX LR R HEAEX 139%kkk9628 1200
1103 7T H 14022 7Tsskskektotork 1113 KA =M X [iEa! SREHEMX 150%+4%2353 1200




1104 ik 1421323kttt 1 729 KA T =N IX [iiEa! AKX 155%kkk7818 1200
1105 BEF 14213 2%skkskskoketk 1711 NGk =X PR SEEHKX 1534k%%7818 1200
1106 W 142132skk40kk% 1 728 NG =MIX PUYFE EEEHKX 137Hkk%2712 1200
1107 FEEM 1421323tk 1726 NG X [lpaR:! ZHEEHX 156%+4%7458 1200
1108 B 14022 1sstekttokok®k 1 323 NG z=MIX PUYEE EEEHKX 136%%kk%3563 1200
1109 WK TLRE 14022 7sskkktokkk2318 NG X PR ZHEEAX 176%%%%9246 1200
1110 % 14022 Tkskekokotork 1714 KA =MIX PUYEE SREHEMX 18348511 1200
1111 ININES 14022 I kkksksiskk6520 KA =X PR SEEHKX 1764%%%4720 1200
1112 o 142132skk4kk%1 710 NG =MIX PUYFE EEEAKX 1874%kk%6637 1200
1113 AL 1421323tk 1717 NG X PP ZREEAHX 18648442 1200
1114 B 14022 Tstkkdokokk 1 725 KAl z=MIX PUYEE EEEHKX 187#%kk43286 1200
1115 K i 142132skkk4kk%26 19 NG =M IX LR ZHEEAX 13143366 1200
1116 5 14022 7T3kkektotokk 1 757 KA =MIX PUYFE SREHEMX 182346497 1200
1117 57 H 1421 32%kkxx%%%1719 NG =N IX JlpR:! R HEAX 138%kkk5762 1200
1118 ottt 1421 32skkk0kx231 1 NG z=MIX PUYFE EEEAKX 139%kk%7255 1200
1119 T 14022 7sskkktkk%0015 NG X PP ZREEAHX 198+#%%%9972 1200
1120 5 5 14022 Tstkkdokokk 1 718 NG z=MIX PUYEE EEEHKX 139%kk42221 1200
1121 KET 14022 7skkskstokekk26 14 KA T X PUPEER ZHEEAX 1393k 1447 1200
1122 [y 14022 Tkkekkkk4426 KA =M X PUYFE SREHEMX 150%kxx0557 1200
1123 A2 14213 2%kkkd0kkk 1724 NGk =X PR SEEHKX 1594k%%4187 1200
1124 S 14022 Tstkskbotokk 1 711 NG z=MIX PUYFE EEEAKX 136%kx%5349 1200
1125 HH 75 % 140203 s%kskkk4k% 3244 NG X [lpaR:! ZREEAHX 132545836 1200
1126 & 1421 32skk4kk% 1716 NG z=MIX PUYEE SRHEMX 137*%4%2712 1200
1127 0 E M 152628 xkkkkkkk4028 KA T X PUPEER ZHEEAX 135%%%%5969 1200
1128 ke EE 1421 32skkskskekektok 1 728 KA T =N IX [iEa! AKX 158%kkk6453 1200
1129 BEVE 14213 2%kkskskokkk 17 14 NGk =X PR SEEHKX 1584k*%%6453 1200
1130 AL 14022 Tskktokek k5090 NG =MIX PUYFE EEEAKX 1824k%+9334 1200
1131 2] 14022 7ssksksktokokk 1712 NG =X PP ZEEMX 1393%k%6262 1200
1132 SEHs 1421323k 1 720 NG z=MIX PUYEE EEEAKX 187#%kx+0586 1200
1133 (A1 14213 2%kskkxkk 1712 NG =M IX JLpR:! ZHEEAX 136%%kk%4560 1200
1134 35407 14022 7Tkkekkokk26 18 KA =MIX PUYFE SREHEMX 189442677 1200
1135 e 140227 *kkxx%%%232X NG =N IX [lpR:! R HEAX 13 1kkekek 1504 1200
1136 HEZ 1421 32kk4k%%2629 NG =M X PUYFE EEEAKX 1894kk%1913 1200
1137 TR 14022 Tsskkktokokk2328 NG X PP ZHEEAX 1844#%*+*9555 1200
1138 TRl 14022 Tsstkkdokok k2333 NG = MIX PUYEE EEEAKX 187#%kk%6111 1200
1139 g — 5 14213 2skkktkk k2323 NG X PR ZHEEAX 156%%++3868 1200
1140 B8 15263 2skkskkekekk2123 KA T =M X PUYEE AKX 1503k 7042 1200




1141 75 [ 72 14022 T3kskektotork 1712 KA =MIX PUYEE EEEHKX 199skkk4412 1200
1142 FiFI 14213 2%skkskskktk 1 748 NGk =X PR SEEHKX 1804k*%6945 1200
1143 K 14022 Tskkdokokk 1 717 NG =MIX PUYFE EEEHKX 1384kx+8234 1200
1144 Tk 1402278k k504X NG X PP ZHEEHX 136%k%%994 1 1200
1145 g 14022 1sktetokkk2144 NG z=MIX PUYEE SREHEMX 159%++%3116 1200
1146 ey 13252 1 sskskskskskk 3412 NG =M IX LR ZHEEAX 130%+%9035 1200
1147 A 142132sskkekeketoiok 171X KA T =N IX [iEa! AKX 138%kkk8155 1200
1148 Bk 14022 I ksksksieokok 2425 KA =X PR SEEHKX 138%#%%6316 1200
1149 fise s 1421 32kkt0kk42324 NG =MIX PUYFE EEEAKX 150%%k%%9649 1200
1150 T 142132skkkek4kx231 1 NG X PP ZREEAHX 150%%k%9649 1200
1151 5 14022 Tskkdokokk 1 719 KAl z=MIX PUYEE EEEHKX 1864k++0089 1200
1152 K 14022 7skkskstokokk 1734 NG X PR ZHEEAX 187#kk%4145 1200
1153 ik R 152630skkkkskokk 1 161 KA =MIX PUYFE SREHEMX 139446427 1200
1154 iR 140227kt 1712 NGk =X PR SEEHKX 155%k%+3241 1200
1155 HI5% 14022 Tsskktokok k0048 NG =X PUYFE EEEAKX 183#k%+9394 1200
1156 i 142132skkk34k%0030 NG X PP ZREEAHX 15 13#kk%9548 1200
1157 CliiEE 14022 Tskktokek k0013 NG z=MIX PUYEE SREHEMX 151%%4%k5131 1200
1158 i 140902skkk4kk%0068 KA T X PUPEER ZHEEAX 15 THkk0424 1200
1159 R 14022 7%kkkekekekok 1119 KIFITH =M IX [ipaEE RBEREHKX 157%k%k5064 1200
1160 EES.E 14213 23kkkkkk 1 72X NGk =X PR SEEHKX 1824%k%%6413 1200
1161 AT 14022 Tsskkdokok k5043 NG z=MIX PUYFE EEEAKX 1524%%%3978 1200
1162 M 14022 7#skskkx45%2329 NG X [lpaR:! ZREEAHX 158+kk%7796 1200
1163 bR 142132skk4kk%1 719 NG z=MIX PUYEE EEEHKX 159%kk%3517 1200
1164 T 140222skkskk4kx 264X KA T X PUPEER ZHEEAX 135%k+%9504 1200
1165 REE 1421323kttt 1710 KA T =N IX [iEa! AKX 1583k 1492 1200
1166 o 1421 32%skskkdkkk 1713 NGk =X PR SEEHKX 187%#%%0957 1200
1167 S 14022 Tkkdokkk 1110 NG =MIX PUYFE EEEAKX 1824k%+4914 1200
1168 3R 142132skkk4kk%26 19 NG X PP ZHEEAHX 150%%k%8132 1200
1169 TR, 142132442313 NG z=MIX PUYEE EEEAKX 159%k*k+1598 1200
1170 HKIL 140227231 1 NG ZMIX PUPEER ZEEMX 1344%%%0873 1200
1171 H 14022 Tskskektodork 1 727 KA =MIX PUYFE SREHEMX 155%+4%2293 1200
1172 B 14022 7kkkskk4k 1713 NGk =X PR SEEHKX 1394kkx4777 1200
1173 T i 14022 Tsektotokekk 442X NG =M X PUYFE EEEAKX 1364%k%%6957 1200
1174 (195 142132skkk4kk%26 16 NG X PP ZHEEAX 1334kk%7084 1200
1175 HSEI 1421 32kktkk42324 NG = MIX PUYEE EEEAKX 130%%kx%9558 1200
1176 IR 142132skkktokkk2313 NG X PR ZHEEAX 155%%kk%1660 1200
1177 [ 1421325tk 2326 KA =MIX [iEa! SREHEMX 155%+4%3045 1200




1178 FALL 14022 Tkt 2620 KA =MIX PUYEE EEEHKX 18645489 1200
1179 S 1402273k 1130 NGk =X PR SEEHKX 135%#%%5073 1200
1180 i 142132skk4kk%1 710 NG =MIX PUYFE EEEHKX 135%%%+83085 1200
1181 I 14022 Tsskskktokokk 1 743 NG X [lpaR:! ZHEEHX 150%:+4%9849 1200
1182 25 5 14213234k 1 740 NG z=MIX PUYEE EEEHKX 139%%kk%2607 1200
1183 B = 1402274426 1 8 NG =IHIX LR R HEAEX 136%kkk1211 1200
1184 FIMVL 142132%kkkk46k 1718 KA =MIX [iEa! SREHEMX 15253979 1200
1185 Tk 14022 1skketokok k7948 KA =X PR SEEHKX 15%%6%9301 1200
1186 b 142121400028 NG =MIX PUYFE EEEAKX 139%kk%1074 1200
1187 2l 1421323%kkk4kk% 1 715 NG X [lpaR:! ZREEAHX 150%#4%4557 1200
1188 B9 142132340k 1 713 KAl z=MIX PUYEE EEEHKX 1584k++3849 1200
1189 (353 13252 Lssksksketsiokok 342X NG X PR ZHEEAX 139348714 1200
1190 H 14022 7Tsskskektotork 1717 KA =MIX PUYFE EEEHKX 136%+4%5610 1200
1191 KNG 140227k 2026 NGk =X PR SEEHKX 152%#%%9493 1200
1192 it )Y 14022 Tskkdokokk 1 710 NG z=MIX PUYFE EEEAKX 1384kk%1245 1200
1193 BERk 14213 2%kskkeks4kk 1 72X NG X PP ZREEAHX 1874%k%9172 1200
1194 PR 511022kkskktkk4 52X NG z=MIX PUYEE EEEHKX 1864kx%8120 1200
1195 HET 14022 T*4kkk4%%261 1 KA T X PUPEER ZEEMX 13746373 1200
1196 T et 14022 Tkkektokk2329 KA =MIX PUYFE EEEHKX 175%+4%8810 1200
1197 Bk 14022 7kskkskstokkk231 1 NGk =X PR SEEHKX 155%#%%4355 1200
1198 58 14022 Tskkdokk 26 10 NG z=MIX PUYFE EEEAKX 130%%kx%2899 1200
1199 s 51052 1 ksksickekkkek6025 NG X PP ZREEAHX 1593kk%1273 1200
1200 5 35 7 14022 Tsstkttokokk 1127 NG z=MIX PUYEE EEEHKX 131349982 1200
1201 ZE-L] 14022 7skkskstokokk 1114 KA T X PUPEER ZHEEAX 1513kk%1597 1200
1202 % 14022 Tskskkokotork 231 1 KA =MIX PUYFE EEEHKX 15848617 1200
1203 kE 14213 2kskksksioketok 171X NGk =X PR SEEHKX 187%#%%9518 1200
1204 T 14022 Tsektstokokk 44 1X NG =X PUYFE EEEAKX 187#%kk%0443 1200
1205 7K M 9 14022 7tk k2355 NG X PP ZHEEAHX 176%%x+0809 1200
1206 R 14022 Tstktetokokk 1 722 NG z=MIX PUYEE EEEAKX 150%+4%6028 1200
1207 fiicEil 142132skskekek44k231 1 NG =N IX JLpR:! ZEHEAEX 139%kkk5157 1200
1208 1] 56 5 513029k 2380 KA =MIX PUYFE EEEHKX 13945157 1200
1209 KGR 152626%%kkkk%kx514 1 NGk =X PR SEEHKX 139%kkkk4762 1200
1210 £ 5 #E 14022 Tkkdokokk 1119 NG =MIX PUYFE EEEAKX 183#kk%5269 1200
1211 ETE 1421323tk 1712 NG X PP ZHEEAX 1513%k%8973 1200
1212 ZEE 14022 Tsstkttokek k5043 NG = MIX PUYEE EEEAKX 1584kk%5787 1200
1213 EhE 1421 32s%4kkkkkex 1 711 KA X PR ZEEMX 1374kk7484 1200
1214 KEW 1421 32skskskkekeketok 1 722 KA T =N IX [iEa! AKX 18638612 1200




1215 % E R 14022 7skskkokotork 171 1 KA =MIX PUYEE EEEHKX 134%k%%3369 1200
1216 REF 14021 2skskkskstokek052 1 NGk =X PR SEEHKX 187%+%%x9769 1200
1217 A5 14022 Tskkdokokk 1113 NG =M X PUYFE EEEHKX 1324%k%%3493 1200
1218 EEES 14022 7ssksksktokekk2312 NG X PP ZHEEHX 1384#kk%4290 1200
1219 ZES S 142132skk4okk 1 713 NG z=MIX PUYEE EEEHKX 1524%%+8198 1200
1220 ZF S 14022 7skkskstokokk 1714 NG X PR ZHEEAX 176%%%%5827 1200
1221 hd 14022 7T3kkekkokk 1128 KA =M X PUYEE EEEHKX 151%k%%3390 1200
1222 b 140227k 1710 KA =X PR SEEHKX 153%#%%0707 1200
1223 %24 1421 32skk4okk 1 727 NG =MIX PUYFE EEEAKX 139%:kx+0386 1200
1224 % 45 1421323tk 1713 NG X PP ZREEAHX 1804kk*7163 1200
1225 FZE 14022 Tstkkdokokk 1 717 KAl z=MIX PUYEE EEEHKX 135%%kk%9621 1200
1226 % E 14022 7sskksktokokk 1719 NG X PR ZHEEAX 1334kk%6163 1200
1227 HE 1421323kt 1710 pNEili] =N IX [iEa! AKX 137359617 1200
1228 5 A 1421 32%kkxx%%%1725 NG =N IX JlpR:! R HEAX 1882480 1200
1229 3R 14022 Tskkdokokk 1112 NG z=MIX PUYFE EEEAKX 187#kk46384 1200
1230 BE M 140227kt 1 12X NG X PP ZREEAHX 182:k++4961 1200
1231 RER 1421323k 42612 NG z=MIX PUYEE EEEHKX 158%kk+3534 1200
1232 x| & 75, 14022 7tk k2326 KA T X PUPEER ZHEEAX 175%%%+8998 1200
1233 R 3 14022 7Tskkekktkk 2628 KA =MIX PUYFE EEEHKX 135%+:4%2725 1200
1234 K A 14213 2%skkskskk4k 1 758 NGk =X PR SEEHKX 139kkk1114 1200
1235 B 14022 Tsstkktokokk 1 740 NG z=MIX PUYFE EEEAKX 18349256 1200
1236 [ 140227kt 1711 NG X PP ZREEAHX 182443770 1200
1237 eyis 14022 Tsskkdokok k2617 NG z=MIX PUYEE EEEHKX 193%kk%7525 1200
1238 EEG 14022 7sskkktokkk5045 KA T X PUPEER ZHEEAX 1934kk%7335 1200
1239 2B 14022 73kt 0033 KA =MIX PUYFE EEEHKX 156%++%6714 1200
1240 HE 142132tk 261 1 NGk =X PR SEEHKX 136%+%%9745 1200
1241 EWE 14022 Tsskkdokok k2623 NG =MIX PUYFE EEEAKX 135%kx%5086 1200
1242 7K T 7% 14022 7Hskkkekkk 2312 NG “MIX PP ZEEHEAEX 130%k4%1027 1200
1243 %% 14022 Tsstkktokk k2319 NG z=MIX PUYEE EEEAKX 1824+ 1268 1200
1244 =] Ak 142132skkktkk2325 NG X PUPEER ZHEEAX 186%k*++3168 1200
1245 F AR 14213255k 1710 KA T =N IX PUYFE REEEAX 15258492 1200
1246 & 140222%kkkskk46032 NGk =X PR SEEHKX 139%kkkx4167 1200
1247 K EHE 14022 Tsektotokekk 1 11X NG =MIX PUYFE EEEAKX 1864kx%5137 1200
1248 FRE 140925skkkkkk%0023 NG X PP ZHEEAX 155%%k%5393 1200
1249 3 140227kt 1 71 1 NG = MIX PUYEE EEEAKX 185%%k*+8962 1200
1250 ZEN 14022 7skskktokkk 1110 NG X PR ZHEEAX 18T+kk%7470 1200
1251 e 14022 Tkskkototork 1 724 KA =MIX PUYEE EEEHKX 19944981 1200




1252 T & 14022 T3kskekkkk 2619 KA =MIX PUYEE EEEHKX 1734%k%%6373 1200
1253 = X H 140226k 7026 NGk =X PR SEEHKX 138%#%k%1310 1200
1254 kKEH 1421214043010 NG =MIX PUYFE EEEHKX 1513%%%9479 1200
1255 FE2 1421325k 1727 NG “MIX PP ZEEHEAEX 136%+%3906 1200
1256 BN 140227kt 1111 NG z=MIX PUYEE EEEHKX 159%kx%6307 1200
1257 Ea gy 14022 7skksktkk:26 10 KA X PR ZHEEAX 1343442744 1200
1258 KR 1421325k 2317 KA T =N IX [iEa! AKX 18739504 1200
1259 REE 140225%kksk4k1 140 KA =X PR SEEHKX 187%#%%3983 1200
1260 TkARE 14022 Tskkdokk k2315 NG =MIX PUYFE EEEAKX 1824%k%%9833 1200
1261 AR 142132skksksiokkx23 14 KA X PP ZREEAHX 15 13kk%2612 1200
1262 S 142132442945 KAl z=MIX PUYEE EEEHKX 1513kk%2612 1200
1263 Ko 14022 7sskksktokkk2319 KA X PR ZHEEAX 15 13%k%2612 1200
1264 KA F 142132skkkek4%23 10 pNEili] =N IX [iEa! AKX 175%+4%8708 1200
1265 kEsH 142132tk 2324 NGk =X PR SEEHKX 175%+%%8708 1200
1266 ket 14022 Tskkdokokk 1112 NG z=MIX PUYFE EEEAKX 1864kk%2242 1200
1267 F o 14022 7sskskekstekk 1 71X NG X [lpaR:! ZREEAHX 18646557 1200
1268 A 14022 Tsektetokokk 1 714 NG z=MIX PUYEE EEEHKX 151340420 1200
1269 EANE 15262 7kkktokkk3728 KA X PUPEER ZHEEAX 136%%k%%0323 1200
1270 ] 14022 7T3kkktotkk 1710 KA =MIX PUYFE EEEHKX 13841581 1200
1271 SO 1402275k 1 726 NGk =X PR SEEHKX 175%#%%9558 1200
1272 HARE 14022 Tskkdokokk 1135 NG z=MIX PUYFE EEEAKX 1784%k%%2935 1200
1273 B 14022 7skksksiokekk26 14 KA X PP ZREEAHX 1593%k%2690 1200
1274 P 5 B 140225 kk4kk %3125 NG z=MIX PUYEE EEEHKX 1593kk%7982 1200
1275 B g B 14022 7kskskek4%26 10 KA T =IHIX LR R HEAX 182%%kk3117 1200
1276 AR 14022 7T3skskkktkk5045 KA =MIX [iEa! SREHEMX 155%%k++8896 1200
1277 g 14213 2%skksksikok 1713 KA =M X PR SR EAEIX 152%#%%9138 1200
1278 gt 14022 Tkkdokk 2316 NG =MIX PUYFE EEEAKX 176%%k%%3143 1200
1279 A& e 140227k xx%%%%2614 NG ZIHIX [lpaR:! g A 1373559043 1200
1280 (ANE S0 1421 32skkskskekek4426 1 7 NG =M X PUYEE MR AT 18340446 1200
1281 ik H ik 140227k xx%%%%2626 NG =N IX JLpR:! A 159k 3849 1200
1282 KK 14022 7skskskksskok 262X KA T =N IX [iEa! MR AT 136%+4%3890 1200
1283 AN 140227 *k*xx%%%261X NG =X PR g A 18948695 1200
1284 AR 14022 Tkskkekotork 2614 NG =N IX [ipa! MR A 1808160 1200
1285 X i Vg 140227 **kxxx%%%2630 NG =N IX [lpaR:! g A 182skkk8444 1200
1286 PEIRAE 140227 %5k x%%%2610 NG ZIHIX PUYEE MR AT 13846247 1200
1287 8782 511123%kkkkxx%2128 NG =X LR g A 15749782 1200
1288 K& 14022 7#kkxk45k%261 1 KA =MIX PUYEE MR AT 134%%%6458 1200




1289 A 14232 3skskkk4kk 229 1 KA T =N IX PUYEE MR AT 155%+:4%7403 1200
1290 7K 14022 7Hkskkk4k%26 1 4 NG MIX PR g A 15955150 1200
1291 2R 14022 Tkskkokotork 232 1 NG =N IX PUYFE MR A 18641687 1200
1292 B 14022 Ttttk 2618 KET =X i A 155%skskk4943 1200
1293 VA 14022 74kkk 54552613 NG ZIHIX PUYEE [ERR 153%+4%8556 1200
1294 akidkZE 14213 24%kkkx45%2616 NG =IHIX LR g A 132%%%%2119 1200
1295 PR 14213 23%kkkk45k 2629 KA T =N IX PUYEE MR AT 13243024 1200
1296 KoK 14022 74kskkx45%26 13 NG =N IX JlpR:! g LA 18245174 1200
1297 X [ & 1421 32skskskkekek4426 13 NG =N IX PUYFE MR A 150%kkk 737 1200
1298 ¥ S 14022 7sskskskotkokk 1 41X NG =X [lpaR:! ZRMEA 13958530 1200
1299 PRI 1421 32s8kk40kk %2349 KA zMIX [ipaEsE B | EgIED] 155%%%%2299 1200
1300 BUNE 14213 2%kkkx44%2313 NG =X LR ek 150537180 1200
1301 BT H 140227 %kkx%%%%2326 pNEili] =X [iEa! JeA 1A 18835150 1200
1302 2T 14022 7ssksksktoddk:00 1 2 NG =X JlpR:! ek 13138226 1200
1303 e R 14213 2kkkk4kk 2324 NG =MIX PUYFE B | D] 15746808 1200
1304 7 1421 32%kxxx%%%2310) NG =X [lpaR:! ek 1836768 1200
1305 Bl 14213 2%kkkx4%%0012 NG ZIHIX PUYEE ViR kL 186%+4%6573 1200
1306 TH%E 140227 %*kxxx%%%0019 KA T =X LR i At 139%kkk5601 1200
1307 PRI 14022 7skskksikk:0034 KA =MIX [iEa! VioE kL 1913kk%1857 1200
1308 2R 14022 Tssksktkd3:005 1 NG =X PR e At 1335400 1200
1309 x| F 14213 2%kkkk46%0030 NG =N IX i ViR 1834994 1 1200
1310 EEH 1421 32%kxxx%%%0012 NG =X [lpaR:! i At 135%kkk2974 1200
1311 7K R 14213 2%kkkx4% 1417 NG ZIHIX PUYEE ViR kL 133443362 1200
1312 2 14022 7sskskskkk4:0039 KA T =X LR idoE At 187kkk0415 1200
1313 F R 15262555k 3522 KA T =N IX [iEa! VioE kL 139k 3648 1200
1314 [ 14022 7skskskk44%00 16 NG =X [liipsas:! A 13446211 1200
1315 REM 14022 Tstkskkotokk 004 1 NG =MIX i A 178%++%8595 1200
1316 REH 14022 7ssksksktokk:0027 NG M X PUPEE TR 1373k 7494 1200
1317 IZES 14022 74kskkx4%% 1412 NG ZIHIX PUYEE A 152%k4%1441 1200
1318 7k 1421 32%kkxx%%%1729 NG =N IX JLpR:! A 135%%%%9275 1200
1319 oA 14022 7s5skkstkk%0520 KA =MIX PUYFE A 139%kx+8691 1200
1320 PR 14213 2sskskskstskokk 1410 KA M X PUPEAE e 139:%x%9716 1200
1321 R s 14022 T3skskkototork 1423 NG zMIX PUYFE A 136%:x:%3938 1200
1322 e 14022 7sskskskkokkk507 3 NG “MIX [lpaR:! TR 199%skskk 7312 1200
1323 *H 14022 Tsskktokek k5062 NG = MIX PUYEE A 1364kk%7742 1200
1324 353 14022 73kskkk45k%506 1 NG =X LR B A 198%kkk1132 1200
1325 W 1421 32%kkxx%%%0039 KA T =N IX [iEa! B 132%%4%4098 1200




1326 ] AR 14022 7sskskkek40019 KA T =N IX [iiEa! SR 15149913 1200
1327 LR 14022 7kttt 0034 NG =X PR B A 1892790 1200
1328 Bt 14022 73kkkk46%5050 NG =N IX [ipa! )5 153%k4%6447 1200
1329 L 14022 7kskkk4k%5034 NG =X [lpaR:! PG A 155%kkk0661 1200
1330 EE 142121 %kkkx45%6218 NG ZIHIX PUYEE B A 155%+4%3700 1200
1331 G Ep 14021 Dkskskxkkksk ] 352 NG =X LR B A 15k 7082 1200
1332 ESZ RN 14022 7skkskekk4k5032 KA T =N IX [iEa! SR 155%k+%5161 1200
1333 XAk 14022 7#kskkx45k5049 NG =X PR R EM 176%:+4%3736 1200
1334 XA 14022 7T3kskkktkk5045 NG =N IX PUYFE K ER 18340648 1200
1335 S 14022 7sskskskkk4:2329 NG =X [lpaR:! KV ER 187%4k8570 1200
1336 N 140227 *kkxk4%%2317 KAl ZIHIX PUYEE KW ER 137442530 1200
1337 5 140227 **kxxx%%%2313 NG =X LR Kb ER 186%*kk5657 1200
1338 A 14022 7sskskekeket4k503X pNEili] =M X PUYFE KW ER 175%kkk4 787 1200
1339 XIS 14022 7skskskk4k% 239X NG =X PR R EM 1780490 1200
1340 X E T 14022 7T3skkkrtork2317 NG =N IX PUYFE K ER 19944541 1200
1341 X E 7 14022 74kskkx45%2335 NG =X [lpaR:! KV ER 155%kkk7228 1200
1342 XN EAR 14022 7#kkkx4%%2315 NG ZIHIX PUYEE KW ER 182345646 1200
1343 XIS 140227 **kxxx%%%2315 KA T =X LR Kb ER 152%kkk1601 1200
1344 B R 140227k x4%4%2314 pNEili] =N IX [iEa! KW ER 130%kkk6095 1200
1345 EYS 14022 T#4kk4k% %2333 NGk X PR K ER 187%%%1338 1200
1346 R 14213 23%kkkx46%0020 NG =MIX PUYFE INTTR 1805117 1200
1347 M & 5 14213255k 0036 KA M X PP NR 13944171 1200
1348 S 14213 2%kkxx45%0029 NG zMIX PUYEE INTTIR 1386717 1200
1349 R UK 14022 Tsskskskskksrsk 0043 KA M X PUPEER NYR 187%4%3980 1200
1350 LM 14213 2s%kskksk43k 2840 KIFITH X PUYFE /NS 3R 151%%k%1976 1200
1351 SAEN 14213 2%kkkx45%0032 NG =X PR NSRS 135%%kk4850 1200
1352 REASE 1421325460012 NG =MIX PUYFE INTTR 135%%:4%9247 1200
1353 k&L 1421 32%kxxx%%%0045 NG “MIX [lpaR:! NI 13959275 1200
1354 KA 14022 7%kxxx%%%0035 NG ZIHIX [iipa! NSRS 1835544 1200
1355 RATE 142132kt 002X NG =X JLpR:! NI 158%%%%9355 1200
1356 H 7 14022 7s5skkstk%0018 KA =MIX PUYFE INTIR 152:%%%%1909 1200
1357 - danat 14022 Tskokokokokkk 5037 KET ZMNIX i R KM 18659597 1200
1358 Pan ot 14022 Tskkkktkk2325 NG zMIX PUYFE B RN 17 3%k 1257 1200
1359 Rk 1421 32%kxx%%%%261 1 NG =X [lpaR:! REE e 155%kskk7271 1200
1360 K5 14022 74kkxx4%%2320 NG ZIHIX PUYEE B R FEEN 175%%%%3411 1200
1361 BARAR 14021 2sksksktkd:0020 NG =X LR = ZEA 152k 1328 1200
1362 FE2 14022 7sskskskkk:k 2620 pNEili zMIX [ipaEE B R KM 176%%%%903 1 1200




1363 2 i 14022 Tsskkskkkkk2315 pNEili zMIX [ipazE B RN 186%%k%%8025 1200
1364 X Fg 14022 74kskkx45%2619 NG =X PR R FEN 176%sksk4389 1200
1365 FFET 14022 7Hskskskeksiokk 233 1 NG =M X PUYFE B RN 1883437 1200
1366 F i 14022 74kskkx45%2312 NG =X PP REE e 176%x8064 1200
1367 F5Ab 14022 Tskk4kk %2615 KA zMIX [ipaEsE B R EEN 136%%%%5723 1200
1368 Tk i 14022 74kskkx45%2310 NG =MIX PR REE S| 152sskskk34 14 1200
1369 ZER 14022 74kkxx4%%2610 KA =MIX PUYEE PUR G 134%%%x5419 1200
1370 ;AL 14022 7skskskskkk 2649 KA =M X VO ERAE ik o) 13250893 1200
1371 X 140225%kskkskkkk542X NG =M X PUYFE PUR G 151%%%8535 1200
1372 1L 14022 Tsskskskkk4%2315 NG =X PP ISR 131k 1893 1200
1373 %% NI 14022 Tx%skx45k%%0016 KAl z=MIX PUYEE AR A 1534%kk+6083 1200
1374 EE# 14022 7%kskkx45%5030 NG =X PR S 139%kkk8405 1200
1375 XI5 14022 Twskskdokok k1428 KA =MIX PUYFE A 189s%skkx4549 1200
1376 XilH 14022 Tskskskksokk 004 1 KA ZMIX PR A 1393kk%3247 1200
1377 FiliE 14022 Tskktokk k0029 NG z=MIX PUYFE AR AT 1524%%%8723 1200
1378 ARk 14022 7%55kxx45%0066 NG M X PP AR 155%kkk8113 1200
1379 33 14022 Txkskxskkk1414 NG z=MIX PUYEE AR AT 1784%%kk%5123 1200
1380 W% 1421 32skkskskstokokk [ 43X KA T =X PUPEER S 138%kkk8276 1200
1381 AR 14022 7skskskeksiokok 0044 pNEili =M X PUYFE AT 138%kk8276 1200
1382 2Bk 14022 7kskskk45k4 749 KA =X PR A 15848904 1200
1383 &) 14022 Tsskktokek k0027 NG z=MIX PUYFE AR AT 151#kk%8297 1200
1384 it 14022 74kskkx45%5038 NG “MIX PP AR 176%kk0257 1200
1385 R 14022 74kskxk4k% 1411 NG ZIHIX PUYEE A 155%++%5199 1200
1386 B 14022 7skskskkk4:0018 KA T =X PUPEER S 198k 1891 1200
1387 ek 15098 1 sskskskatksk 3020 KA T =N IX PUYFE A% 155%+4%4769 1200
1388 A 14921 32skskskk44%0030 NG =X PR HiA 18735293 1200
1389 o 14022 Tkskkeketokk 5034 NG =N IX PUYFE ikt 136%+4%1713 1200
1390 w5t 1421 32s%kskskk44%001 7 NG =X PP HiA 1843%kk0768 1200
1391 Hj AL 14213 23%kkxx4k%001 1 NG ZIHIX PUYEE ik 187+4%1629 1200
1392 E195%4 14022 7ssksktkds:003 1 NG =X PUPEER AL 187kkk 7753 1200
1393 = E=M 14022 7sskkskek00 19 KA T =N IX PUYFE ik 176%x4%3733 1200
1394 wj 14921 32skskskk44%001 8 NG M X [Pz AL 136%kk1973 1200
1395 ] R O 1402274550015 KIAET =M X [iiipa s YeHik) 18230297 1200
1396 ] 14213 2%%k%%%%%0036 KIE T =X PR RN bt 13958053 1200
1397 et 1421 32:k8555%0012 NG =X PUEPAR e bk 1390733 1200
1398 ) %A 14022 THkkkk%%%0013 KIE T =X iR ¥ ikt 158%+%%8103 1200
1399 EkE 14022 7585550037 KAl =MIX (iSR! YA 159552336 1200




1400 F /N 140221 sskskkk3%6549 pNEli] =N IX [iBS RN Yo bk} 139kkk366 1 1200
1401 R 14212 1 kskokokokokokk 4823 KIE T 7= [X [ipa e bt 18344442582 1200
1402 A 14022 7kkkkkkx%507 4 KIAT =N IX [l E ! YeHik) 1753k 7587 1200
1403 gk WK 14022 7%kkk x4k 2612 NG “MIX PP FRERIER] 178%%4%7792 1200
1404 FEM 14022 Twsksk4kk %2320 KA zMIX [ipaEsE RGN 199skskkk4459 1200
1405 fAr S 14213 24%kkkx45%2613 NG =X PR IRRIER] 199%kkk4452 1200
1406 fAp Rt 14022 THskskskkkskk 2327 KA T =N IX PUYEE RGN 199sksksksk 4452 1200
1407 ] A 14022 7kskskk4k%239 1 NG =MIX PR IRRIER] 199skx4459 1200
1408 AT AR 14022 Tkskkekotork 231X NG =MIX PUYFE RGN 199skk4%4452 1200
1409 R 14022 7%kskkx45%5067 NG =X PP IRERIER] 177%5k2928 1200
1410 VPR AR 14022 74kkk 545652613 KA =M X PUYEE RGN 130%%%%8915 1200
1411 FiE 140225%kskkx435k5410 NG =MIX PR IRERIER] 187%4%0782 1200
1412 AR5 14022 75*kxx444%262X pNEili] =N IX PUYFE FRERIERS 132%+4%3982 1200
1413 T4 14213 2%kskkk45k 2617 NG =MIX PR IRRIER] 156%%%%0198 1200
1414 EIEPS 14022 7s5skktk%%26 15 KA =M X PUYFE IREREN 13259495 1200
1415 SRS 14022 74kskkk4k%507 4 NG MIX PP FRERIER] 156%%kk6512 1200
1416 KA 14022 Txkskx4k%%2320 NG X PUYEE ) LAY 183#kx%4509 1200
1417 BB A 14022 74kkkx45%2316 KA T ZMIX PUPEER i) LIRS 18830894 1200
1418 EEYiA 14022 Tk k232 1 KA =MIX PUYFE ) LAY 139+%%8073 1200
1419 7k 2 14022 74kskskk45k5047 NG MIX PR ) LA 1873skskk5942 1200
1420 kiESE 14022 7kkksk4% 2313 KA X PUYFE ) LAY 136%%%x7753 1200
1421 1 5 1526264 kk*kx45%3935 NG “MIX PP ) LA 1832972 1200
1422 kit 14022 Txkskx4k%%2339 NG X PUYEE ) LAY 13 13kk%5672 1200
1423 XIF 14022 Tx4kx4k% %2326 KA T ZMIX PUPEER 1) LA 136%k%x7438 1200
1424 gk I 1421 32s8kk4k%%2310 KIFITH X PUYFE ) LAY 139%kx+8161 1200
1425 B4 H 14022 74kskkx45%2320 NG =MIX PR i A 175%%%%2989 1200
1426 G 14022 Tskkkkkkk26 15 NG =MIX PUYFE hn FEAT 15949040 1200
1427 F BRI 14022 7kskkk4k%231 4 NG “MIX PP A A 185%%%%5491 1200
1428 It 14022 7#kskxk45k%504 1 NG zMIX PUYEE A AT 19848430 1200
1429 g 140225%kskkk34k%51 2X NG =“MIX PUPEER i A 1854441 1200
1430 e i 14022 Tsskskskkkskk 2317 KA T =M X PUYFE A FEAT 135%+4%9627 1200
1431 B4 14022 74kskkk44%2339 NG =MIX PR i A 155%%+%8984 1200
1432 RXE AR 14022 Tskkdokk k2318 NG =M X PUYFE hn FEAT 189k%%5175 1200
1433 X SR 14213 24%kkkx45%2616 NG “MIX PP A A 139%%%%9173 1200
1434 X TG R 14022 7%kkxx%5%%2629 NG zMIX PUYEE A AT 175%+4%2112 1200
1435 X &G 14022 74kskkx456%2313 NG =MIX PR i A 17340627 1200
1436 R 14022 75kkx444%231X KA T =N IX [iEa! A FEAT 135%kk9882 1200




1437 kAR TT 15263 1 sskskskkork 1825 KA T =N IX [iiEa! A FEAT 155%skkk4385 1200
1438 X EFE 140227 %*kxxx%%%5053 NG =N IX [lpR:! i A 173540627 1200
1439 HEH 14213 2%kkkk46% 2653 NG =N IX PUYFE hn FEAT 185%*+5491 1200
1440 H& 14022 7skskskotkk k232X NG =X [lpaR:! A A 152%%%k8329 1200
1441 KifE 14213 2%kkkx4%%5112 NG ZIHIX PUYEE A AT 15343541 1200
1442 Filte 140227 %**kxxx%%262X NG =X LR i A 137kkk0337 1200
1443 B 14022 7skskskksskk 239 1 KA T =N IX PUYEE A FEAT 150%+:4%0102 1200
1444 o] il 14022 7kskkk45%5033 NG =N IX JlpR:! i A 187%%%3990 1200
1445 1% iU 14022 7T3kskkktkk5045 NG =M X PUYFE BAIA 1883k 1139 1200
1446 S 13252 2%kskxk4k% 492X NG “MIX [lpaR:! A AT 1390021 1200
1447 P ER 1421 32%kkk4kk%1 428 KAl z=MIX PUYEE A A 1584kk%0492 1200
1448 ity 14022 Tssksksktoksok 1 417 NG =X LR AT AT 178%%4k8682 1200
1449 E3E1l 149213 2skskskkoktk 1413 pNEili] =N IX PUYFE A 130%::x6313 1200
1450 X 14213 24%kskskk44k 1412 NGk ZMIX PR A AT 1513#%k%6186 1200
1451 % 142132tk 141X NG z=MIX PUYFE A 158+k%+06593 1200
1452 FH 14022 Tsskskskkodsok 1414 NG =X [lpaR:! A AT 130%kkk0343 1200
1453 M 1421 32%kskk4kk%1412 NG z=MIX PUYEE A A 139%%kx%8022 1200
1454 P A 14213 2%kskskk40kk 1 43X KA T ZMIX PUPEER A AT 159%:k4%5492 1200
1455 &R 14022 73440029 pNEili] =N IX PUYFE A 1373k 1132 1200
1456 FIF 142122 4kx4k% %0529 NGk ZMIX PR A AT 15930580 1200
1457 il 142132%kkkk4k% 1415 NG =N IX PUYFE A 13944589 1200
1458 T+ 1421 32skkskskkokodosk 1 412 NG =X [lpaR:! A AT 135%kkk4467 1200
1459 RED 152628%kkx4kx%332X NG z=MIX PUYEE A A 139%%%%8790 1200
1460 B 14022 74kskkx435% 1410 KA T ZMIX PUPEER A AT 135%k4%4162 1200
1461 IR TE 1492132kttt 1 425 KA T =N IX PUYFE A 13842606 1200
1462 R 14022 Txskskskdokkk 1414 NGk X PR A AT 136%%%%3621 1200
1463 kA 14022 1sktstokok k242X NG =X PUYFE A 156%+4%0586 1200
1464 Exc] 1421 32%4kkkskkx1 41X NG M X PP AT 150%+4%5390 1200
1465 mH 14022 Txkskx45k%%0046 NG z=MIX PUYEE A A 1534%k%+0997 1200
1466 E 0 152529%4skk4k% %2416 NG ZMIX PUPEER A AT 15141319 1200
1467 Ev 14022 7kskxk4k% 141X KA =M X PUYFE o R 185%*k%%9530 1200
1468 H L 14022 T3kttt 002 1 NG =N IX [lpR:! A 187*%%%x5015 1200
1469 EoL 14022 Tkkdokokk 1413 NG =M X PUYFE o AT 150%+4%4012 1200
1470 I 140227 **kxxx%%%1419 NG “MIX [lpaR:! A 1593872 1200
1471 (S 14213 2%kkkx4%%1410 NG ZIHIX PUYEE oA 151%+4%3978 1200
1472 JE A 14022 7skskskkokkok 1416 NG =IHIX LR A 186%*+%8664 1200
1473 XUy 14022 7%skkkx45%%1420 KA =M X PUYEE o R 186%kx%x2818 1200




1474 HEA 14022 7#kkxk4k% 1421 KA =M X PUYEE o R 1534%k%+6638 1200
1475 XIS % 14022 7kskkk4k 1415 NG =X PR A 186%**k9892 1200
1476 XU 14022 Tskkdokk k0013 NG =M X PUYFE o AT 135%+4%7547 1200
1477 JAAE R 14022 7skskkk4kk 141X KA =M X PP o A 13251331 1200
1478 Wik 14022 7kkxk4k% 1414 NG ZIHIX PUYEE o A 13946303 1200
1479 IER 149213 2skksksktokodok ] 412 NG =X LR A 136%%kk5126 1200
1480 G 1402275kt 003 1 KA =MIX PUYEE o R 1864kx+8506 1200
1481 X R 1L 1492132kttt 1418 NG =X PR i A 187kkk5204 1200
1482 LR 14022 Tkskkokotork 1414 NG =N IX PUYFE o AT 18848722 1200
1483 4 50022 2%kkkkkx %6483 NG =X [lpaR:! A 189%***x3335 1200
1484 2R 14213 2%kkkx4%%2319 KAl ZIHIX PUYEE AREPAY 15 skkkk2591 1200
1485 X tHAE 1421 32%kxxx%%%2363 NG =X LR ZRIPAY 159%%kk7239 1200
1486 iRy 14022 73k 3525 pNEili] =N IX PUYFE AREEAY 153%x+%9356 1200
1487 ZEM 14022 74kskkk44%2319 NG =X PR AP 153%%kk7156 1200
1488 1R 14022 7T3kskkekotork 231 1 NG =N IX PUYFE RIER 15341367 1200
1489 B 14022 7**kxxx%%%2323 NG =X [lpaR:! ZRIPAY 135%kkk4012 1200
1490 0 140227 kkxx4%%231 7 NG ZIHIX PUYEE AREPAY 18344625 1200
1491 TN 1421 32%kxxx%%%2313 KA T =IHIX LR ZRIPAY 135%%%%6591 1200
1492 &S 1421 32%kkxk44%231 1 pNEili] =N IX [iEa! e 159%x4%7185 1200
1493 R 1421 32skskkckodkk 2344 NG =X PR AP 159%%kk5589 1200
1494 R 142132%kkkk46%2316 NG =N IX PUYFE RIER 135%+4%9713 1200
1495 FEE 14022 74kskkx45k5042 NG =X PP ZRIPAY 130%kkk9422 1200
1496 LA 14022 74kkxx4%%5049 KA =X PUYEE ZRIER] 180%%4%7901 1200
1497 &7 140227 **kxxx%%%2333 KA T =IHIX LR ZRIPAY 139%%4%6662 1200
1498 S 14022 7#kskxk45k% 231X KA =M X [ipeds AR 15251143 1200
1499 EwAl 14022 74kskkk44%2339 NG =X PR ZRIEAY 198k 2851 1200
1500 At 14022 7sskskekeketoiok 2314 NG =N IX PUYFE RIER 15141303 1200
1501 Lk 14022 Tsskskskkkkx231 7 NG =X [lpaR:! ZRIPAY 151 %kkk3576 1200
1502 EIE 150221 sskskktkk %6824 KA =MIX PUYEE ZRIER] 1594k%%8904 1200
1503 S5 152529skskskk4kk 274X NG =X JLpR:! ZRIPAY 158%kkk8251 1200
1504 I s FE 14022 7sskskskkkskk 2312 pNEili =M X [ipaEE RIERS 134%kk%2743 1200
1505 2 14022 74kskkk45%2329 NGk =M IX [ipaa:s ZRIERS 187%x4876 1200
1506 Ve Sa 14022 T3kkkktork2323 NG =M X PUYFE RIER 18747211 1200
1507 FERE 14213 24%kkkx45%2330 NG =X [lpaR:! ZRIPAY 187tk 7211 1200
1508 F5F 2K 14213 2%kkxx4k% 2924 NG ZIHIX PUYEE AREPAY 150%+%8996 1200
1509 IR 140227 **kxxx%%%2316 NG =IHIX LR ZRIPAY 158%%4%3720 1200
1510 2= [FH 14022 745040 KA T =N IX PUYEE AREEAY 185%x#%7360 1200




1511 IESSS 1325265kkkk45k2220) pNEili =M X [ipazE RIERS 199sskkx1631 1200
1512 WA 14022 7skskskkdk k%2318 NG MIX PR ZRIEAY 187*%%%8115 1200
1513 A 142132 kkkk46%2313 NG =M X PUYFE RIER 13941853 1200
1514 B 140227 **kxxx%%%2328 NG =X [lpaR:! ZRIPAY 13 ekekek6621 1200
1515 53K 14213 23%kkkk4k%231 1 NG ZIHIX PUYEE AREPAY 15940624 1200
1516 L& 14213 2%kskkx45%2327 NG =X LR ZRIPAY 135%%%k5560 1200
1517 XI55 = 14022 Tsskkskkkskk 2323 KA T =N IX PUYEE AREEAY 130%%9028 1200
1518 SRR 14022 1 sokskskkdokk 2124 NG =X PR AP 155%%k0075 1200
1519 ZEIEHI 14022 7kkkkk6%23 10 NG =N IX PUYFE REEF 135%+4%1319 1200
1520 R 14022 74kskkx456%2328 NG “MIX [lpaR:! ZRIPAY 187%4%4429 1200
1521 BHEE 14213 2%kkkx4%%2028 KAl ZIHIX PUYEE AREPAY 187*+4%1616 1200
1522 RIRA 140227 **kxxx%%%2318 NG =IHIX LR ZRIPAY 135%%4%2052 1200
1523 awiR 14022 7Hskskskektokek5054 pNEili] =N IX PUYFE AREEAY 1887992 1200
1524 i 14022 7kskskk456k2317 NG =X PR AP 138%kkk1301 1200
1525 2R 14022 7T3skkkttork 2313 NG =N IX PUYFE RIER 18742410 1200
1526 RS BH 140227k xxx%%%2318 NG MIX [lpaR:! ZRIPAY 159%x+%8664 1200
1527 22 RN 14213 2%kkxk45k% 231X NG ZIHIX PUYEE AREPAY 187*+4%9570 1200
1528 i FH T 140227 **kxxx%%%2323 KA T =IHIX LR ZRIPAY 153%%%%2056 1200
1529 O 14213 23%kkkk45k26 19 pNEili zMIX [ipaEE ZEVENAY 1874206 1200
1530 PO 14022 74kskkk45%2339 NG =N IX [lpR:! ZEVENAT 159sskskk3054 1200
1531 BGED 1421 32%kkkk46% 2612 NG =MIX PUYFE ZEVE A 13740053 1200
1532 PR 14022 7%kskkx45%2610 NG =X [lpaR:! ZEVENAT 18 13k 7840 1200
1533 PR 14022 Tx%kx4%k%%2616 NG z=MIX PUYEE 2RV AT 150%%kx%5960 1200
1534 R 1421 32%4kk4k% %2619 KA T ZMIX PUPEER ZEVENR RS 1 38*:+4%6887 1200
1535 B Ak 152627 %kkxx%%%1920 KA T =N IX [iEa! ZEYEAT 13846887 1200
1536 g 140227 %*kxxx%%%5045 NG =X [lpR:! ZEVENAT 13630143 1200
1537 BT 14022 Tskkdokk k2615 NG =X PUYFE ZEVER AT 17848104 1200
1538 KR 140227 %*kxxx%%%0079 NG “MIX [lpaR:! FE)E RS 1829365 1200
1539 R om Ak 14213 2%kkxx4%%0013 NG ZIHIX PUYEE FEJE A 15946921 1200
1540 X5 = 14213 23%kkkk4k%202 1 NG =X JLpR:! FEJE RS 158%**k8959 1200
1541 P 14022 7sskskkek40050 KA T =N IX PUYFE RS 176%*%k0403 1200
1542 s 15263 1 skskskkk:k6625 NG =X PR REJE A 136%:k:4%5749 1200
1543 MRttt 14022 73k 0099 NG =M X PUYFE FEJE A 1883436 1200
1544 = 14022 7skskskskkk 001X NG =X [lpaR:! FEJE RS 150%%kk1485 1200
1545 KéE 14022 7%5kkxx4%%0012 NG ZIHIX PUYEE FEJE A 18842352 1200
1546 L 1421 32skskskk44%00 10 NG =X LR FEJE RS 187%kk7195 1200
1547 HHATE 14213 23kkkk45k0042 KA T =N IX [iEa! RS 139%kkk4862 1200




1548 151X, 14022 7340029 KA T =N IX [iiEa! RS 139%kkk2584 1200
1549 W vt 14022 73kskskk45k%002 1 NG =X PR REJE A 1995393 1200
1550 F&K 14022 T3kskskakotorek 504X NG =N IX PUYFE FEJE A 15948474 1200
1551 kIR E 140227 *xxx%%%%0014 NG “MIX [lpaR:! FEJE RS 185%skskk3343 1200
1552 X &% 132438 %kkkx4%%2625 NG ZIHIX PUYEE FEJE A 136%++¢6704 1200
1553 Bk 1421 32%kkxxx%%001X NG =X LR FEJE RS 152%%%k5628 1200
1554 152 14022 7skskskekeikk002 1 pNEili zMIX PUYEE FE)E A 135%x4%0543 1200
1555 TEE 14022 7skskskkk4%01 68 NG =X PR REJE A 18257686 1200
1556 a e 14022 73kt 0020 NG =N IX PUYFE FEJE A 19845760 1200
1557 EE 1421 32s%kskskk44%0057 NG =X [lpaR:! FE)E RS 139%kkk4253 1200
1558 HETT 14021 Lskskskokstorek 524X KAl ZIHIX PUYEE FEJE A 136%%%%4265 1200
1559 KRR 140227k xx%%%0012 NG =IHIX LR FEJE RS 135%skskk466 1 1200
1560 (50 14022 7skskskeksiskok00 1 1 pNEili] =M X PUYFE FE)E A 185%+4%8969 1200
1561 fe o Fl 14022 7ssksksktodd:0033 NG =N IX JlpR:! FE)E RS 18733160 1200
1562 s 14022 7Hskskskeksiokok002 1 NG =N IX PUYFE FEJE A 187*+4%9229 1200
1563 BRI 1421 32skskskk440024 NG MIX [lpaR:! FE)E RS 135%kskk5476 1200
1564 TRAFE 150924 %skskkx4%%4927 NG ZIHIX PUYEE FEJE A 182346040 1200
1565 ek 14022 7ssksksksksoskok 505 1 KA =M X VS AR 15253649 1200
1566 FEH 3 14022 T3kskektotork5047 KA =M X TS T EAR 193%+4%6995 1200
1567 KRR 14022 73kskkx45%2010 NG =X TS IR 155%%+%8334 1200
1568 HEi 14022 Tskkdokk k5055 NG X HFiES T ER 137#k%%5974 1200
1569 1 TG 14022 73kskkk4k%503 1 NG M X HFES A 18 1s%x4492 1200
1570 ARG 14022 Tx4kkk%%201 1 NG z=MIX S T HEAR 1814kk%1841 1200
1571 [ERiasE 140227 %*kxxx%%%5052 KA T M X HES A 133544006 1200
1572 S 14022 7#5kkxx4%%2039 KA zMIX R Z T EAR 187#%kk%3480 1200
1573 REFH 14022 74kskkx45k5038 NG M X HFES IR 182545381 1200
1574 H X 14022 7skskketokkk5033 NG =M X HFiES T ER 175%%%%5707 1200
1575 SR 14022 74kskkx45k5042 NG M X HFES A 150%%4%6245 1200
1576 R EH 14022 Txkskx45k%%2010 NG z=MIX S T HEAR 1384k%%3679 1200
1577 i 14022 74kskkx456%201 3 NG M X HES ENERE) 157%%%%9162 1200
1578 ARHEH 14921 32%kkxx%%%2025 KA T =X TS AT 139%kkk4267 1200
1579 FARE 1421 32skskskk44%2018 NG M X TS A 15250219 1200
1580 REME 14022 Tkskkkx506 1 NG zMIX HFiES T ER 18740446 1200
1581 KKK 14213 2%kkkx45%2012 NG M X HFES A 139%%%5402 1200
1582 LEL 142121 wskkdokk 2127 KA zMIX e 2 AT 187#%**7513 1200
1583 AR 140227 %kskkx45%2020 NG M X HES ENERE) 130%%%%x3170 1200
1584 WA 14022 7#kkkx45% 2027 KA =M X TS T EAR 13255565 1200




1585 KEH 14022 7skskksiokokk5034 KA zMIX T2 T EAR 1574%k%%6285 1200
1586 X ZEAE 15092 2kskskx44%2028 NG =X TS IR 13 1%%2438 1200
1587 W E 14022 Tskktokk k5036 NG zMIX HFiES T ER 131445776 1200
1588 i [ 1421 32skskkkodtk4 71 1 NG M X HFES IR 1518452 1200
1589 Pl 150922%4kkk%%%052 1 NG z=MIX S T HEAR 1894k%%2613 1200
1590 W 149213 2s%kskskkk4%201 3 NG =X TS ENERE) 15 1%3%5460 1200
1591 KA 14022 7s5skkstkk%5063 KA zMIX TS T EAR 187#%k%%4690 1200
1592 AR 132526%kkkx45%0020 NG M X TS IR 13847410 1200
1593 KA 14022 Tsskkdokek k5077 NG =MIX HFiES T ER 136%+4%3269 1200
1594 RIEF 140227 *kxxx%%%2023 NG M X HFES IR 13844221 1200
1595 KA K 14022 Txkskx4kx%20 1 X KAl z=MIX S T HEAR 130%%kk%5617 1200
1596 EF 140227 **kxxx%%%5047 NG =X TS A 187%%%%x7576 1200
1597 Kk 14022 7skskkstkk%5093 KA zMIX TS T EAR 137#%k%%3395 1200
1598 il 140227 **kxxx%%%2017 NG =X TS IR 152540921 1200
1599 EE 14022 1ktstokokk 1 864 NG X HFiES T ER 1869051 1200
1600 AR 14022 Tkt 2054 NG M X HFES A 156%%4%2633 1200
1601 ENE 14022 7#skskkdokk k5084 KA =M X S T HEAR 1884kx%0204 1200
1602 oL 142132%kxx%4%%2011 KA T =X TS A 15 1k%%%9284 1200
1603 [awia 14022 1ssokskkosokk 2421 KA =M X TS T EAR 15259496 1200
1604 K75 75 14022 7%kskskk45k5042 NG =X TS IR 15050882 1200
1605 PN E S 142132%5kkkk46%2010 NG =X S T ER 139k 1728 1200
1606 RIGels 14022 7%kkkx45%5046 NG M X HFES A 18 140574 1200
1607 Aith = 1421 32%kkk45k%%2013 NG z=MIX S T HEAR 1384k%%5379 1200
1608 iR 14022 7ssksksktokk:503 7 KA T =X TS A 130%%%6349 1200
1609 PN 14022 7T3kskkk465080 KA zMIX T2 T EAR 1824kx%5757 1200
1610 At 14022 7skskskkk4%51 06 NG M X TS IR 173%%%%4352 1200
1611 AN 14022 73kkkk4kk5052 NG =X S T ER 13036900 1200
1612 o 14022 74kskkx45%2012 NG M X HFES A 13843269 1200
1613 Bz 14022 74kkkx45%2023 NG ZIHIX HiEZ T HEAR 150%%%%8533 1200
1614 KAk 142132%kxxx%%%2077 NG =X TS ENERE) 138%+%9580 1200
1615 R 14022 7sksksksiokokk 504X KA zMIX TS T EAR 1513kk%5570 1200
1616 BN 14022 74kskskk45%2912 NG =MIX TS R 183%%%9855 1200
1617 BNER 14022 Tskkdokk k2918 NG zMIX HFiES Rt 150%+4%0232 1200
1618 147N ST 14022 Tx%kx4k% %2912 NG X e 2 R Ay 136%%4%8749 1200
1619 L 1421 32%kkx45%%%2910 NG = MIX S B AT 1593kx%0564 1200
1620 Lyt 140227 %*kxxx%%%5083 NG =X TS BB TS 155%%%%1551 1200
1621 X R 14022 7%kkxx4%%2037 KA =M X TS 2B AT 1734%%%9758 1200




1622 X /N 14022 Tsksk4kk %2939 KA zMIX T2 B AT 137+%%%6112 1200
1623 Fe & 14022 7skskskotkdk k292X NG M X TS R 157%%%%8954 1200
1624 FE5 14022 7sskk4k%%2916 NG ZM X S Rt 1874029 1200
1625 58 14022 7%kkkx45%2029 NG =X e 2 R Ay 159%x%%1821 1200
1626 S NE 14022 Tk %2037 NG z=MIX S 2B AT 175%%kx%4441 1200
1627 SN 14022 74kskkx456%2025 NG M X HES BB TS 187%%%%9250 1200
1628 AT 14022 7#kkkx4%%2913 KA zMIX TS 2B AT 1597110 1200
1629 fogel 14213 24%kkkx44%2916 NG =MIX e s IR 1514086 1200
1630 KR 14022 Tkkdokk k2916 NG =M X HFiES Rt 150%+4%3432 1200
1631 I [ 14022 T %kx4k% %2018 NG =X e 2 R Ay 139%%%%6471 1200
1632 FAE 14022 7skskkeketokk508 1 KAl =X HiEZ 2B AT 150%%4%4781 1200
1633 L 140227 %kxx%%%%2914 NG M X HES BB TS 1815560 1200
1634 Rk 14022 7%k x4%%2918 KA zMIX TS 2B AT 1394k%%8672 1200
1635 ik H 9t 14213 23%kskkk4k% 2992 1 NG =MIX TS IR 159s%kx4287 1200
1636 IR 14022 7tk 291X NG =MIX S R At 159%::x0236 1200
1637 KA 14022 Tx%kx4k% %2012 NG X e 2 R Ay 186%+%9220 1200
1638 FFUT 14022 Txkskkkskk 2027 NG z=MIX S 2B AT 185%kk%2587 1200
1639 Tk EA 14022 74kskkx45%2919 KA T =MIX HES BB TS 18255290 1200
1640 &R 14022 Twsksk4kk %2012 KA zMIX TS 2B AT 195%%:4001 1200
1641 F AR 14022 7%kkkx45%2036 NG MIX TS IR 178%%%2883 1200
1642 PibeEE 14022 7T3kskkrtokk 2023 NG =X S ZR KA 15735k 7623 1200
1643 R 14022 7%kskkx45%201 3 NG M X HFES ZRIK A 13734091 1200
1644 e S 14213 2%kkkx45%2017 NG ZIHIX e 2 ZRIK R 151%+4%3929 1200
1645 B 14022 74kskkx45k5037 KA T =M X 2 ZRIK A 166%%%%3538 1200
1646 RIE 14022 7sskkskkkkk2018 KA T =X TS ZRIK R 18340538 1200
1647 S malbeg 14022 74kskkx456%201 3 NG =MIX TS ZRIK A 1833935 1200
1648 B 14022 Tsskkdokk k2028 NG =M X HFiES oK A 151447402 1200
1649 (5 14022 7%kskkx45%2010 NG M X HFES ZRIK A 180%sksk3307 1200
1650 AR 14022 7%k x4%%2019 NG ZIHIX HiEZ ZRIK R 187*++%9997 1200
1651 R 14022 74kskskx435k5042 NG M X HES Rk 15133920 1200
1652 Rt 140227 %kxxx%%%2023 KA T =X TS ZRIK R 188skskkk4291 1200
1653 KET 14022 7skskskkokk:5046 NG M X TS ZRIK A 187skskskk581 1 1200
1654 il 14022 Tkskkekotork 2014 NG =MIX S ZRIK R 152%+4%3339 1200
1655 IO 14022 7%kkkx45k5068 NG M X HFES ZRIK A 1527102 1200
1656 RS 14022 74kkkx45%%2013 NG ZIHIX e 2 ZRIK R 153%+4%3065 1200
1657 XI TN 48 14022 74kskkx45%2023 NG M X HES Rk 175%kskk2132 1200
1658 X240 14022 Tsskskskkkskk 2017 KA T =MIX 2 ZRIK R 13944797 1200




1659 pREL 14213 23%kkkk45k2013 KA T =X TS ZRIK R 150%+4%9499 1200
1660 e 140227 %*kxxx%%%5063 NG M X TS KRS 1573k 7582 1200
1661 Z= ik 142132skskekeket4:201X NG =MIX S ZRIK R 138%kk6609 1200
1662 ERS 14022 74kkkx4%%5055 NG M X HFES KRS 150%skskk4443 1200
1663 R 14022 73kt 20 16 NG ZIHIX e 2 ZRIK R 18046668 1200
1664 4 14022 7skskxk4k% 201 X NG M X HES KA 18730781 1200
1665 LR 14022 7wskskkstokokk504 7 KA =M X TS oK A 15257641 1200
1666 AREATH 14022 7kskkk45%5033 NG M X TS KRS 151 skskskok4645 1200
1667 FEEMS 14022 Tsektetokekk 20 1 X NG =M X HFiES oK A 136%+4%9229 1200
1668 RIEER 140227 **kxxx%%%2013 NG M X HFES KRS 1513053 1 1200
1669 AL 14213 2%kkkx4%%2012 KA ZM X HiEZ ZRIK R 182549722 1200
1670 R 14213 24%kskkx45%2042 NG M X HES KRS 1313k 7050 1200
1671 B 1421 32s8kk4k%%2013 KA zMIX TS oK A 1317050 1200
1672 BT 14022 Tssksksttodkk:2023 NG M X TS KRS 13053640 1200
1673 FHRAE 142132:8kk4%%2020 NG ZM X S 2Rk A 136%x:007 1 1200
1674 R 14022 74kkkx45%2018 NG M X HFES KRS 188sksksksk4 427 1200
1675 R 14022 7#kkxx45%%2018 NG ZIHIX e 2 ZRIK R 175%+4%7711 1200
1676 ARIE K 14022 7skskkk34k%5 15X KA T M X HES ZRK A 135%skskk 7047 1200
1677 RES 14022 7skskskekstokok504 1 pNEili =MIX 2 ZRIK R 183883 1 1200
1678 N 140227 %*kxxx%%%2026 NG M X TS KRS 184k 2572 1200
1679 55k 152632 kk4kk %5403 NG =M X HFiES oK A 15940901 1200
1680 AR 14022 7%kkkx45%2020 NG M X HFES KRS 151 sksksksk4 132 1200
1681 T4 14022 7%5k%xx4%%5036 NG ZIHIX e 2 ZRIK R 139%#4%4801 1200
1682 R C 14022 74kskkx45%2018 KA T M X HES Rk A 15059714 1200
1683 R 14022 7Tsskkkk452016 KA T =MIX 2 ZRIK R 139%kskkk4 772 1200
1684 RARKE 1421 32%kxxx%%%2010 NG M X TS KRS 139%skskk7912 1200
1685 RIRST 14022 7T3kkkk46%20 16 NG =MIX S ZRIK R 18244576 1200
1686 SAEX 14022 7%kkkx45%2015 NG M X HFES KRS 1382957 1200
1687 ARG 14022 7#k%xx%%%2016 NG ZIHIX HiEZ ZRIK R 185%++%7819 1200
1688 RIFERE 14022 Tx%kx4k%%2019 NG =X 2 ZRIK A 19840024 1200
1689 K XA 14022 Tw5kk4k% %2026 KA =M X TS oK A 136%%%3206 1200
1690 AR 14022 74kskkk45k5052 NG M X TS KRS 17250610 1200
1691 E R 142132skkekeket4:2014 KA ZM X S ZRIK R 136%+4%4305 1200
1692 KEH 14022 7%kskkx45%5052 NG M X HFES KRS 151 sksksksk4 132 1200
1693 F AL 14022 7#kkxx45%%5044 NG ZIHIX e 2 ZRIK R 136%+4%7323 1200
1694 RIFLG 14022 Tx%kx4k% %2028 NG =M X e 2 ZRIK A 150%xk%1214 1200
1695 KEJE 14213 2skskskkk4%201 2 KA T =X 2 ZRIKHIES 159%kkk8759 1200




1696 R HE 14022 75*kxx444%2014 KA T =X e 2 ZRIK R 135%skkk091 1 1200
1697 K e 14022 74kskkx45%2020 NG M X TS ZRIK A 150%skskk4579 1200
1698 b 14022 Tsskkdokk k2033 NG =M X HFiES oK A 18643297 1200
1699 PN 14022 7#skkkx45%2046 NG =X RS ZRIK A 159%%4%2430 1200
1700 ARt 14022 74kkxx4%%2018 NG ZIHIX e 2 ZRIK R 13949509 1200
1701 AR 14022 74kkxx45%2036 NG M X HES ZRK A 18559152 1200
1702 AR 14022 7%kxxx%%%2023 KA T =X TS ZRIK R 187kkk8554 1200
1703 R 14022 7%kskkx45k5048 NG M X TS ZRIK A 173%kkk5753 1200
1704 N AN 14022 T3kskkakotork 202X NG =X S R KA 185%skkk 1525 1200
1705 N 14022 74kskkx45%%5035 NG M X HFES ZRIK A 1386302 1200
1706 B 14022 7kxx%4%%2030 NGl ZM X HiEZ ZRIK R 136%%4%4732 1200
1707 RPEZ 14022 7%kskkx456%2018 NG M X HES ZRK A 176%skskk4674 1200
1708 RAR K 14022 7skskskksoskk 201 1 pNEili] =MIX 2 ZRIK R 153k 7854 1200
1709 FRAkB 14022 73kskkx45%2010 NG M X TS ZRIK A 1589567 1200
1710 RAHE 14022 7Tskkkk46%2019 NG =X S 2Rk A 18530067 1200
1711 FhF 14022 Tx%kx4k% %2012 NG =X RS ZRIK A 157%%%%6061 1200
1712 ARG 14022 7#kkxx45%%2018 NG ZIHIX e 2 ZRIK R 18743741 1200
1713 KR 14022 74kskkx45%2022 KA T M X HES ZRK A 18732140 1200
1714 KH® 14022 T4kt 201 1 KA zMIX R Z oK A 13250444 1200
1715 REE 14022 Ts4kk4k% %2082 NGk =M IX YRS oK AT 136%%%x4479 1200
1716 Kk 14022 Tskkdokk k2018 NG =M X HFiES oK A 157x4%3484 1200
1717 A 14022 74kskkx45%2029 NG M X HFES ZRIK A 139%skskk4376 1200
1718 R 14022 Tsskskkkk:2016 NG ZIHIX e 2 ZRIK R 1594083 1 1200
1719 ST A 14022 74kskkx45% 2047 KA T M X HES Rk A 159sksksksk4212 1200
1720 RESCE 14022 Tws5skkdokk420 14 KA zMIX T2 oK A 1390052 1200
1721 EX 14022 73kskkk45k%503 1 NG M X TS ZRIK A 1780924 1200
1722 IR 14022 Tsskktokek k2017 NG =M X HFiES oK A 1834644 1 1200
1723 BB 140227 **kxxx%%%2028 NG M X HFES ZRIK A 13132110 1200
1724 RREEA 14022 7%kkxx45%%2018 NG ZIHIX HiEZ ZRIK R 137441527 1200
1725 K& 14022 75kskkx45%2018 NG M X HES Rk 1524686 1200
1726 e R 14022 Twskk4kk %2038 KA =M X TS oK A 1368051 1200
1727 RREENHE 1421 32skskskk44%2010 NG M X e s ZRIK A 135%skskk984 1 1200
1728 SR 14022 7Tkt 2019 NG =MIX S ZRIK R 18347607 1200
1729 ARG 14022 73kskx44k% 201 X NG M X HFES ZRIK A 173%%9290 1200
1730 NS 14022 74kkxx45%%5054 NG ZIHIX e 2 ZRIK R 153%+4%6753 1200
1731 T 3L 14022 74kskkx45%2012 NG M X HES ZR K RS 1534330 1200
1732 MY 14022 7Tsskskskkkkk2035 KA T X 2 ZR K A 1878743 1200




1733 e 14022 73#skkskekk4k5046 KA T =X e 2 ZRIK R 155%+:4%0082 1200
1734 Fhik 140227 %*kxxx%%%5033 NG =X TS KRS 1592560 1200
1735 AREHST 14022 7skkekekt4k503 1 NG =X S ZRIK R 17840287 1200
1736 Rott 14022 Tx%kx4k% %2012 NG =X e 2 ZRIK A 155%%%%5214 1200
1737 B 14022 7%kkxx45%2028 NG ZIHIX e 2 ZRIK R 156%+4%8100 1200
1738 B 14022 Txkkkdkk %5043 NG =M X TS ZRIK A 136%%%%9854 1200
1739 SR Ef IR 14022 73skkskekkk5045 KA T =X 2 ZRIK R 198k 1651 1200
1740 R 14022 T#4x4k% %2035 KA =M IX TS ZRIK A 137s%%%4944 1200
1741 1k I 142132%kkkk46%2018 NG =MIX S LA 18340255 1200
1742 B4 140227k xx%%%%206 1 NG M X HFES LR 155%kkk0683 1200
1743 AR S 14022 74kkkx45%%2013 KAl ZIHIX HiEZ EAH 155%+4%4326 1200
1744 EELE 140227k xx%%%%2014 NG =X TS EX| 138k 1614 1200
1745 k5 BR 140227 %kxx%%%%2016 pNEili] X 2 LN 1876646 1200
1746 TR 140227 %*kxxx%%%5089 NG =X TS AN 15056579 1200
1747 FLNI 14022 T3kt 201 1 NG =MIX S LA 15146541 1200
1748 BE 14022 73kskx44k% 202X NG M X HFES LK 139%kkk6987 1200
1749 Pkt 14022 7%5k%xx4%%5040 NG ZIHIX e 2 EAH 137446702 1200
1750 o P 140227 %*kxxx%%%2012 KA T =X TS E| 18935303 1200
1751 k&R 140227 %kxxx%%%201 2 pNEili] =X 2 LK 1873kkk 7067 1200
1752 BEF51E 14022 1 skskskkkskk 7125 NG =X TS AN 1363k 1668 1200
1753 7K 2 5t 142132%kkkk44%2016 NG =MIX S LA 159%+4%7105 1200
1754 58 14022 7%kkkx45%2026 NG M X HFES LK 135%kkk2878 1200
1755 SHE 14022 74kkkx45%2012 NG ZIHIX e 2 EAH 137444232 1200
1756 TR=E 14022 7%kskkx45%2030 KA T =X TS LN 176%%%3170 1200
1757 F& 14022 73#skkkk44k5056 KA T =X 2 EAHN 136%+4%4095 1200
1758 Y 1421 32skskskk44%20 14 NG =X TS K 135%skskk0485 1200
1759 F g 14022 73kkkk465030 NG =X S LA 136%+:4%0347 1200
1760 19k 1 ot 14213 24%kkkx45%2012 NG M X HFES LK 150%%%k5303 1200
1761 Ee 14213 2%kkkx45%2028 NG ZIHIX HiEZ EAH 13740919 1200
1762 ikt 140227 %*xxx%%%2016 NG =X TS E| 182082 1 1200
1763 PE & 14022 7skskskksoskk 201 1 KA T =X 2 EAHN 18849435 1200
1764 K B 140227 %*kxxx%%%2010 NG =X TS AN 1524596 1200
1765 5k 14022 1 kskekktokk6827 NG ZM X S LA 150%::k2650 1200
1766 BHIE 14022 Ts4kkk4%%201 1 NG =X RS AN 13950425 1200
1767 Fifuor 14022 74kkkx4%%5042 NG ZIHIX e 2 AN 15840340 1200
1768 W 15252 7sskskskstkdk k092X NG =X TS E| 18637501 1200
1769 B4k 14213 2skskkk45%201 1 KA T =X 2 EAHN 18647501 1200




1770 i NERan 14022 7sskskskk452020 KA T =X e 2 EAHN 1886099 1200
1771 K i 14022 74kskkx45k5049 NG =X TS AN 13736224 1200
1772 e 14022 T3kskkakotork 201X NG =X S LA 1803395 1200
1773 RN 14022 74kskkx45%5052 NG M X HFES LR 135%kkk8823 1200
1774 KA 14022 74kkkx45%%2013 NG ZIHIX e 2 EAH 173%+4%4913 1200
1775 TH— 14022 7%kkxx45%2016 NG =X TS E| 1893k 1955 1200
1776 A 14022 7Hskskskeksiokok 5044 KA T =X 2 EAHN 15940787 1200
1777 ST 14022 7skskskk4k% 202X NG =X TS AN 18739935 1200
1778 K F 14022 T3kskkakotork 202X NG =MIX S LA 136%+4%5112 1200
1779 BR¥ 14022 7sskskskkk4%2015 NG M X HFES LR 135%kkk5063 1200
1780 kA HE 14022 7%kkkx4%%5072 KAl ZIHIX HiEZ EAH 153440783 1200
1781 TR 5% 14022 74kskkx45%2017 NG =X TS EX| 18652017 1200
1782 PhIEZE 14022 Tskskstodkk:2013 pNEili] X 2 LN 1573%%k9816 1200
1783 PhAERE 140227 %*kxxx%%%2019 NG =X TS AN 187350320 1200
1784 BB R 14022 Tkskkektork 2014 NG =MIX S LA 152443748 1200
1785 Bl 14022 7%5kkkx45%2036 NG M X HFES LK 138%kkk3194 1200
1786 FI% 14020 23%kkkk45k%0 14X NG ZIHIX e 2 EAH 18448228 1200
1787 E S 14022 73kskskk4k%201 1 KA T =X TS E| 18739146 1200
1788 wHl = 140203 %skskkskkk%3922 KA zMIX TS EH 13150604 1200
1789 FkF 140227 **kxxx%%%2013 NG =X TS AN 176%k%3029 1200
1790 Wk 142132%kkkk46%2019 NG =MIX S LA 13941485 1200
1791 KTk 14022 74kskkx45%2017 NG M X HFES AR 185%sksk1915 1200
1792 kAL 14022 7#kkxx45%%2018 NG ZIHIX e 2 EAH 176%+4%0800 1200
1793 1S 14022 T#%skk4k%%2024 KA T =M X TS K 187*%%%9534 1200
1794 TKEFEK 14022 T#skskk4kk 202X KA =M X T2 FAKS 17 3446846 1200
1795 EIEH 140227 %**xx%%%202X NG =X TS K 1384932 1200
1796 2 14022 7T3skkkktkk2023 NG ZM X S LA 176%%4%9515 1200
1797 F i 14022 7skskskskskskkk5058 KA =X RS AN 183%k*%1197 1200
1798 B 14022 7%kkxx45%%2018 NG ZIHIX HiEZ EAH 18646694 1200
1799 kAR 14022 7%5kskkx45%2025 NG =X TS E| 198636 1 1200
1800 7K B 14022 Twskskkdokk42024 KA zMIX R Z EAHN 1521570 1200
1801 7k — X 140227 %*kxxx%%%2018 NG =X TS AN 1388072 1200
1802 FrH 14022 T3kskkekotork 201X NG ZM X S LA 150%::%4975 1200
1803 Brax 14022 7%kskkx45%2010 NG M X HFES LK 187kkk3901 1200
1804 F ki 14022 7%5k%kxx4%%2010 NG ZIHIX e 2 AN 130%+4%2226 1200
1805 =V 622103 k%5kkk%%7 026 NG M X TS E| 137sskskk5884 1200
1806 -5 14022 7s#skkskekk4k5059 KA T =X 2 EAHN 18346579 1200




1807 VI EERR 14022 7skskkstkk%5169 KA zMIX T2 EAHN 138%%%x4375 1200
1808 EX = 14022 7skskskk4k%503X NG =X TS AN 15134765 1200
1809 ST 14022 73kkkk46%2016 NG =X S LA 18845301 1200
1810 By 14022 74kkkx4%%5055 NG M X HFES LR 132%%%k5616 1200
1811 5 [H iR 14022 74kkkx45%%2012 NG ZIHIX e 2 EAH 177448866 1200
1812 T T 14022 Tsskskskekskeskx202 1 KA =X Y2 K 1324540228 1200
1813 FRE 140227 %kkxx%%%2028 KA T =X TS LK 176%66£9063 1200
1814 R 140227 %*kxxx%%%2012 NG =X TS AN 1836162 1200
1815 ikEE 14022 73skkkkkkk5032 NG =MIX S LA 18745506 1200
1816 PEF 14022 7%kskkx45%2010 NG M X HFES LR 187kkk2853 1200
1817 R 14022 7%kk*kx%%%5057 KAl ZIHIX HiEZ EAH 150%*+¢6364 1200
1818 B/ 140227tk %2019 KA =M X YRS K 176%k%%5157 1200
1819 NN 14022 7Tsskksktkskok 2012 pNEili] =X 2 LK 13946405 1200
1820 R K 14022 T 4kx4k% %2016 NGk =M IX YRS EYy| 157*%4%7958 1200
1821 skAEf 14022 7T3skkkkkokk 2017 NG =X S LA 150%+4%2749 1200
1822 KEA 14022 74kkkx45%2033 KA ZM X HE S AT 1879329 1200
1823 TR IGE 75 14022 74kkkx45% 2047 NG ZIHIX e 2 EAH 186%++%5856 1200
1824 K2 14022 T#%skk4k%%2024 KA T =M X TS K 18259250 1200
1825 ik 14022 7%*kxx%44%2034 pNEili] =X TS LK 156%kkk4375 1200
1826 TR 14022 74kskkx45%2018 NG =X TS AN 135%skskk468 1 1200
1827 E e fs 14270340k 1 262 NG =M X HFiES Y| 15940250 1200
1828 FREIC 140227 %*kxxx%%%2016 NG M X HFES AR 1513k 1546 1200
1829 K —F 14022 7%5k%xx4%%2010 NG ZIHIX e 2 EAH 176%+4%1477 1200
1830 XK AR 14022 Tx5kk4k% %2033 KA T =M X TS K 155%%%%6439 1200
1831 Bk E 14022 7Hskskskekstkok 505X KA T =X 2 EAHN 19 144406 1200
1832 PEW LR 140227 %xxx%%%%2011 NG =X TS K 1373k 1466 1200
1833 TK N 45 1402253544k 1126 NG =X S LA 137%%4%1076 1200
1834 B 14022 74kskkx45%5035 NG M X HFES LK 135%kkk1782 1200
1835 EN5'8 14022 7#kkxk4%%507 1 NG ZIHIX HiEZ EAH 15144492 1200
1836 IKoE 14022 Tx4kx4k% %5075 NG =X TS K 155%%4%7724 1200
1837 T 14921 32%kkxk4%%201 2 KA T =X TS LK 139skkkk5379 1200
1838 EHL 140227 %*kxxx%%%5055 NG =X TS AN 135%skskk64 15 1200
1839 K 14022 7skskkekotokek504 1 NG =X S LA 152541203 1200
1840 1555 14021 1skskskkkkk0812 NG =M X e 2 AN 187%4%4257 1200
1841 B 14022 74kkkx45%2035 NG ZIHIX e 2 AN 13948273 1200
1842 EREES 14022 7sksksktk43:0020 NG =X TS E| 136%sksksk4 194 1200
1843 F kI 14022 7ssskskek45030 KA T =X 2 EAHN 198%+4%9919 1200




1844 FRAEARL 14022 Twskk4kk%2015 KA zMIX R Z FEEFER 1981990 1200
1845 e 130727kt k002X NG M X TS FEEER 1386939 1200
1846 M 142132skk4kk%201 3 NG X HFiES FEEEN 13 1%+4%4799 1200
1847 EIENS 140227k xx%%%%206 1 NG M X HFES FELEEN 1573k 1654 1200
1848 ThRA 14022 7#kkxx4%%2019 NG ZIHIX e 2 FEZ M 13841573 1200
1849 FLge-p 14022 74kskkx45%2018 NG M X HES FELEEN 1380794 1200
1850 R 132526%kkkskk%0028 KA =X TS FEEIER 139%kk%4179 1200
1851 EI9O] 14022 7kskkx45%2025 NG M X TS FEEER 184k 7438 1200
1852 ENEER 14022 7sskktk%%2019 NG ZM X S FEEEMN 1805792 1200
1853 SR 14022 7%kskkx45%5040 NG M X HFES FELEEN 136%kk3652 1200
1854 YD 1421 32s8kk4k%%2015 KA zMIX HiEZ FEZHEN 13957918 1200
1855 FRgte 14022 74kskkx45%2045 NG M X HES FELEEN 139skskskk5094 1200
1856 SR A 14022 Tws5kk4kk %2018 KA =X TS FEEHER 1877677 1200
1857 FE o0 14022 7skskskk4k% 201 X NG M X TS FEEER 1513k 2478 1200
1858 #FLE L 14022 7skskstk%5030 NG ZM X S FEEEMN 1989396 1200
1859 Ep A 14022 74kskkx45%2040 NG M X HFES FELEN 18738143 1200
1860 El o 1421 32%kkxx4%%2030 NG ZIHIX TS FEE M 151%%%%7105 1200
1861 R 14022 74kskkx45%2015 KA T M X HES FELEEN 13052074 1200
1862 e H 14022 T4kt 201 1 KA X TS FEEHER 135%+4%5640 1200
1863 LS 14022 7kskkx45%5033 NG M X TS FEEER 1397196 1200
1864 W54 14022 7k 2026 NG ZM X S FEEEMN 150%:%9530 1200
1865 pAEERS 14213 24%kkkx45%2022 NG M X HFES FELEN 1596853 1200
1866 KK ZE 140221 wskskdokk k2117 NG z=MIX 2 R 15940297 1200
1867 EEES 1421 32%4kx4k%%2015 KA T =M X 2 L ER 159%%%3325 1200
1868 LR 1421 32ss8kk4kk %2017 KA zMIX T2 R 1324%k%%6790 1200
1869 B 14022 7Hkskskk4k%201 4 NG M X TS A 135%skskk3059 1200
1870 R 14022 Tsskkdokk k5059 NG =M X HFiES A 1593k%%7632 1200
1871 B 14022 Tx%skx4kx%201 4 NG =X e 2 L ER 136%%%%5092 1200
1872 ZHEW 14022 745kkxx45%%2026 NG ZIHIX S R 159%#4%5850 1200
1873 EA 14022 Tx5x4k%%5030 NG =X 2 L ER 15955585 1200
1874 NS 140221 #skskdokok k1849 KA zMIX TS R 137%%%4956 1200
1875 EX YA 140227 %*kxxx%%%2018 NG M X TS A 13734928 1200
1876 Fi 14022 Tskkdokok k2012 NG =M X HFiES A 130%+3%1359 1200
1877 K N 14022 Txkkk4kk %5047 NG =M X e 2 L ER 150%%%0046 1200
1878 kil z 152626%kkx4k%%4225 NG = MIX 2 R 1594k%%6932 1200
1879 Bk 15092 23kskskk43%%4529 NG M X HES A 1873k 7806 1200
1880 FITHF 14022 Twskskskdokk42024 KA =M X R Z R 15743049 1200




1881 F 140221 #ssksktokk 0024 KA zMIX R Z R 13945420 1200
1882 LS 14022 74kskskk45%201 7 NG M X TS A 139%skskk3580 1200
1883 REE 142132:kkkstk%%2013 NG =MIX S A 1512168 1200
1884 Ly 1421 32%4kx4k%%2030 NG =X e 2 b ER 151%%%%9122 1200
1885 e 14022 T4kt 201 1 KA zMIX e 2 LR 177%%%%5519 1200
1886 T &k 14022 74kskkx45%2023 NG M X TS A 135%skk5930 1200
1887 R4 14022 T4k %2027 KA zMIX TS R 187#%kx%8575 1200
1888 IR 14022 74kkkx45%2026 NG M X TS A 1393623 1200
1889 R4 142132:kkk4%%2016 NG =MIX S A 15944502 1200
1890 FRIE R 14022 74kskkx45%2028 NG M X HFES A 150%skskk 1463 1200
1891 241 14022 Tx%kx4k%%2016 KAl z=MIX 2 R 1864k%%6998 1200
1892 LR 612429k x4k x4k %6886 NG =M X TS L ER 186%k4%x1617 1200
1893 2T 14022 7#sksksk4okk 201X KA =M X GEEE R 137%%%%x1215 1200
1894 AR 14022 74kskkx45%2018 NG M X TS A 17 3%k 204 1 1200
1895 ElS 14022 7kkkk4%2015 NG X HFiES A 1393kkx1064 1200
1896 /AR 14022 Tx%kx4k%%2016 NG =X e 2 L ER 158%%4%2510 1200
1897 ENLWA 14022 Txkskx4k% %2038 NG z=MIX 2 R 1504k%%6242 1200
1898 e 14022 74kskskx45k5045 KA T M X 2 TRER 159k 7117 1200
1899 R 14022 7skskkstkk%5049 KA X TS TXEMN 1864kx+8068 1200
1900 A 14022 7#kskskx45%5040 NG M X 2 TRKER 15258093 1200
1901 i 5 14022 Tsskkdokok k5048 NG X HFiES TXEMN 13 13kk45891 1200
1902 e 140221 skskskkkkk 2187 NG M X HFES TRER 187336490 1200
1903 SRS 14022 7%%k%k*xx%%%5069 NG ZIHIX e 2 TXEN 18340626 1200
1904 TKHE 14022 7%%kxx45%2016 KA T M X 2 TRER 155%skskk553 1 1200
1905 KERIE 14022 7sskkstkk%5048 KA X T2 TXEN 1864k%%9326 1200
1906 Ly 14022 74kskkx44%5039 NG M X e 2 TRKER 1587069 1200
1907 LV 14022 73kkkk46%5066 NG =MIX S TXEMN 157%+4%1375 1200
1908 Eil 14022 7%%kkxx45%2016 NG M X HFES TRKER 199sksksksk5171 1200
1909 B 14022 74kkkx45%%2022 NG ZIHIX HiEZ TXEMN 176%+4%7943 1200
1910 8 14022 7sksksktokk:5057 NG M X 2 THEMN 1886038 1200
1911 F%5 14022 Tws5kk4k% %2016 KA zMIX TS TXEMN 150%k*k%1756 1200
1912 B 14022 73kskkk45k%505 1 NG M X e s TXKER 13436514 1200
1913 Tk 14022 Tsektetokekk 20 1X NG X HFiES TXEMN 1513kk%7738 1200
1914 K g 14022 7%kkkx45%2040 NG M X HFES TRER 187350407 1200
1915 A 14022 7#kkxx4%%2019 NG ZIHIX e 2 TXEN 18741647 1200
1916 T A 14022 7skskxk4k% 201 X NG M X e 2 TRER 159k 1213 1200
1917 X 7K B 14022 T4kt 201 1 KA zMIX TS TXEN 1784%k%%6672 1200




1918 % 14022 7%k x4%%2018 KA zMIX T2 TXEN 1874%kx%8380 1200
1919 tTr= 14213 24%kkkx45%2023 NG M X T2 TRKER 1873k 2534 1200
1920 55 14022 Tskkdokk k2019 NG X HFiES TXEMN 130%kk%5112 1200
1921 1A 5 14022 7%kskkx45%2032 NG M X HFES TRER 1313k 1321 1200
1922 Bl 14022 7%k x4%%2053 NG ZIHIX e 2 TXEMN 13842125 1200
1923 ZEEM 14022 5%kskskkk43% 1 320 NG M X e 2 TRER 13730914 1200
1924 R 14022 Twsksk4kk %2017 KIFITH =X TS TXEN 1534kx%0345 1200
1925 R 14022 73kskskk4k%201 1 NG M X e s TRKER 135%kkk8791 1200
1926 Cpdl 14022 Tsskktokok k2017 NG X HFiES TXEMN 135%kk%7694 1200
1927 LR 14022 7kkkkok%5034 KET Z M X TS FRKEM 1878372 1200
1928 53F 14213 2%kkkx45%2017 KAl ZIHIX HiEZ TXEMN 136%+4%3253 1200
1929 H—K 14022 7kt 4%2019 NG M X 2 EEXEEN 18259549 1200
1930 4 2L 14022 7kxx444%201 1 pNEili] =X TS SE& DN 1595428 1200
1931 ECEa 14213 2%kkkx45%2028 NG M X 2 EE&: SN 15053976 1200
1932 R 142132%kkkk46%2019 NG =MIX S EE&DNN 1864093 1 1200
1933 B 14022 73kskxk34k%51 0X NG M X HFES EE&:SNN 1335200 1200
1934 B Rt 14022 7%k x4%%2019 NG ZIHIX e 2 EE&DNN 136%+4%7876 1200
1935 EES 14022 7ssksksktodkk5032 KA T M X 2 EE&: SN 1865806 1 1200
1936 PReEs 14022 745049 pNEili] =MIX 2 EESPNN 187x4%3162 1200
1937 HAEH 14022 73kskkk4k%503 1 NG M X 2 EE&: SN 13735k 7869 1200
1938 4 14022 73kskkk4kk5052 NG =MIX S EE&DNN 15845052 1200
1939 =L 14022 73kskkk4k%504 1 NG M X HFES EE&:SNN 1513k 3842 1200
1940 & 14022 7%kkxx4%%2015 NG ZIHIX e 2 EESDNN 136%+4%0769 1200
1941 B sie 14022 74kkkx45%2036 KA T M X 2 EESEEN 139%%k4315 1200
1942 4 Fifi 5 14022 73445036 KA T =MIX 2 EESPNN 139444117 1200
1943 1 Fit ¥y 14022 7Hkskskk4k% 2034 NG M X e 2 EE&: SN 135%skskk233 1 1200
1944 SRS 14022 Tkskkekotork 2024 NG =MIX S EE&DNN 13945846 1200
1945 HER 14022 7%kkkx45%%5036 NG M X HFES EE&:SNN 184ssksksk 1180 1200
1946 BEY 14022 7#kskxk45k%504X NG ZIHIX HiEZ EESDNN 159%+4%9070 1200
1947 i 14022 74kskkx45%201 7 NG M X 2 EESEEN 1870380 1200
1948 P fil i 140227 %kxxx%%%2015 KA T X 2 EESPNN 17 Tskskskk4551 1200
1949 B 14213 24%kkkx45%2045 NG M X e s EE&: SN 139skskskk6534 1200
1950 1 3 14213 2%kkkk46%2037 NG =MIX S EE&DNN 13747206 1200
1951 H Bt % 14213 24%kkkx45%2016 NG M X HFES EE&:SNN 137359813 1200
1952 NI 14022 7#kkxx45% 206X NG ZIHIX e 2 EEDNN 136%+4%0167 1200
1953 HER 14022745k x45%5053 NG M X e 2 EE&:SN 159k 7896 1200
1954 Y ENE 14022 745040 KA T =MIX 2 EESPNN 137x4%7869 1200




1955 SRl 1402224k 1015 KIFITH =M X e EEEEE NN 1374258 1200
1956 [Ehaess! 14022 7skskskkk4%5036 NG M X T2 EE&: SN 1939372 1200
1957 4 HERE 14022 T3kskskakotorek 504X NG =X S EE&DNN 155%+4%6592 1200
1958 EB%in 14022 74kskkx45%5052 NG M X HFES EE&:SNN 1373954 1 1200
1959 4 Fifi 55 14022 7#kkxx45k%5044 NG ZIHIX e 2 EESDNN 135%k4%4764 1200
1960 5 5 14022 7kt 4%2035 NG M X e 2 EE&:SN 1338684 1200
1961 B R 14022 7skskskeksiokok504 1 pNEili =MIX 2 EESPNN 157443371 1200
1962 B ERE 140227 %**kxxx%%201X NG =X e s EE&: SN 139%skskk0362 1200
1963 =B &) 14022 73kkkk465088 NG =X S EE&DNN 13940362 1200
1964 % 14022 7kskskk44%2016 NG M X HFES EE&:SNN 166%k5636 1200
1965 EV 14022 7%kkxx4%%5035 KAl ZIHIX HiEZ EESDNN 177+4%3626 1200
1966 Sk 14022 73kskkk4k%503 1 NG M X 2 EE&: SN 1836722 1200
1967 Wz 140292 Tsskskskskskeokx201 1 KIFITH =M X GEEE EESEE NN 156%kk%1125 1200
1968 B TR 140227 **kxxx%%%5043 NG =X 2 EE&: SN 13653513 1200
1969 i 14022 73465070 NG =X S EE&DNN 136%+:4%2898 1200
1970 B Fif A 14022 73kskxk45k%506 1 NG M X HFES EE&:SNN 1523780 1200
1971 KeAe 14213 1sskskkxkkk 1522 NG ZIHIX e 2 EE&DNN 186%++%1829 1200
1972 B SR 14213 2%%k4444%201 | KET Z M X HES EESEDNAI 1861829 1200
1973 P i 140227 %kkxx%%%2018 pNEili] =X TS SE& DN 15941420 1200
1974 TKAE 140227 %*kxxx%%%5058 NG =X TS KEZEFR 176%«8669 1200
1975 K= 14022 Tsskkdokk k2929 NG =M X HFiES KREEH 18342067 1200
1976 ot 140225%kkkx4%%3129 NG M X HFES A 1800835 1200
1977 ZRFIEL 14022 74kkxx45%201 4 NG ZIHIX e 2 A 136%+4%1945 1200
1978 LA 1421 32%4kk4k% %2018 KA T =M X HRZ el 157%%%%2137 1200
1979 KFEL 14213 23%kkkk45k4429 pNEili =MIX GEEE RIS 15T4%k%x2137 1200
1980 R 14022 T#4kk4k% %2013 NGk =M IX e 2 el 15254420 1200
1981 R 14022 73kkkk46% 2026 NG ZM X S AT 155%+4%1475 1200
1982 IR 14022 74kskkx45%2012 NG M X HFES A 18735529 1200
1983 TE%E 14022 74kkxx45%%201 1 NG ZIHIX HiEZ A 18740209 1200
1984 BNy 14022 7%kskkx45%2019 NG =X 2 A 135%skk8559 1200
1985 7K 5iE 14022 Tsskkskkkskok 2017 KA T =X 2 B 15740633 1200
1986 KA g 14022 Tx4kk4k% %2015 NGk =M IX e s el 150%k%7543 1200
1987 EE%E 14022 7T3skkkktkk 2012 NG =X S AT 136%+4%7427 1200
1988 H i 14022 7sskskskkkkx201 2 NG M X HFES A 176%5k4662 1200
1989 7] 14022 Tsektetokk k2014 NG X S A 1534kk%1166 1200
1990 K== H 14022 Tx4kx4k% %2026 NG =M X e 2 el 13 1%%%%6636 1200
1991 ik [ A% 14022 Tws5kk4k%%2010 KA =M X TS A 135%%%%5143 1200




1992 B 14022 7%k x4%%2033 KA =M X T2 A 13945358 1200
1993 1 140225%$kx4k% %0825 NGk =M IX T2 el 15242184 1200
1994 KRS 14022 Tskkdokk k2019 NG zMIX HFiES AT 139%k%%7320 1200
1995 ki 14022 74kskkx45%2025 NG M X HFES A 136%k6855 1200
1996 X A 14022 74kkxk45%%201 1 NG ZIHIX e 2 A 166%++%5184 1200
1997 B Ri 14022 T %kx4k% %2018 NG =M X e 2 el 176544000 1200
1998 FHE 14022 Tskskskkodkk%2018 KA T =X 2 B 13944869 1200
1999 FRE 14022 Tw4kk4k% %2017 KA =M IX e s el 13343464 1200
2000 Fig 14022 Tskktokk k2020 NG =MIX HFiES AT 1574%kk%6261 1200
2001 ERLr 14022 7%kkkx45%2029 NG M X HFES A 150%skskk3234 1200
2002 F T 14022 Tsskskskkstoskk 201 4 KAl ZIHIX HiEZ A 18843514 1200
2003 1R 140227 **kxxx%%%2018 NG =X 2 A 152k 1 740 1200
2004 H /N SE 1406023kkkk4k4528 pNEili] =X 2 B 157445623 1200
2005 EIRTF 14022 T#4kx4k%%2010 NGk =M IX 2 el 156%%%%8502 1200
2006 TR 14022 Tskkdokk k2018 NG =MIX HFiES AT 1834kx%2638 1200
2007 iEE 14022 74kkkx%%%3526 NG M X HFES A 13958016 1200
2008 L5 F 14022 7%k x4%%2019 NG ZIHIX e 2 A 137+4%1923 1200
2009 PEE 14022 Tx%x4k%%2019 KA T =M X 2 el 157%%5k4257 1200
2010 REHF 14022 Twskskk4kx420 14 KA zMIX TS A 150%x4%0700 1200
2011 HUT % 14022 T#4kk4k% %2335 NGk =M IX 2 el 13 1%%%5652 1200
2012 Ho b 14022 Ttkkkokx503 1 NG =MIX HFiES AT 1874%kk%2163 1200
2013 [EpE=S 1421 32%kxxx%%%2926 NG M X HFES A 1373s5k4306 1200
2014 A 14022 73kt 2059 NG ZIHIX e 2 A 137+4%3379 1200
2015 (LM 14022 73kt 4%2029 KA T M X 2 el 13559324 1200
2016 EET 140227 %kkxx%%%2028 KA T =X TS B 159kkkk6701 1200
2017 e 14022 T#4kk4k% %2013 NGk =M IX e 2 el 152540401 1200
2018 R R 14022 Tsskktokek k2045 NG =MIX HFiES AT 155%%k%%9582 1200
2019 AL 14022 7kskkk4k%201 4 NG M X HFES A 137358566 1200
2020 (TS 14022 7#kkxx45%201 4 NG ZIHIX HiEZ A 130%+4%0282 1200
2021 nE 14022 1 sokskskksokk 7621 NG =X 2 A 137%%%%9025 1200
2022 TR 14022 Tws5ksk4kk %2012 KA X TS A 1324%%%8603 1200
2023 KR 14022 T#4kk4k% %2018 NGk =M IX e s el 15 1k%kx1274 1200
2024 K% 14022 Tskktokk k2010 NG zMIX HFiES AT 1884kk%2278 1200
2025 =R /)N 14022 Tx%kx4k%%2013 NG =X RS A 136%+%%3096 1200
2026 SRE 14022 7#kkxx45%%2033 NG ZIHIX e 2 A 18746234 1200
2027 SR 14022 74kskkx45%2029 NG =X e 2 A 1373648 1 1200
2028 FRBUR 140227 %kxxx%%%2010 KA T =X TS B 139k 7114 1200




2029 EvilbE 14022 7sskskskkkskk 2028 KA T =MIX e 2 A 135%+:4%9683 1200
2030 KT 14022 T#s%skk4k k42044 NGk =M IX T2 el 152%%4%2685 1200
2031 R 14022 73462018 NG =MIX S AT 15346319 1200
2032 FRIEE 140227k xx%%%%2091 NG M X HFES A 180k 2257 1200
2033 RS 14022 74kkkx45%%2017 NG ZIHIX e 2 A 150%+4%5062 1200
2034 £ 1421 32%4kk4k% %2017 NG =M X e 2 el 1825%%%2685 1200
2035 55 EHE 140227 %kkxx%%%2028 KA T =X TS B 182%%4k 7504 1200
2036 Ji %4 14022 Tx4kk4k% %2018 KA =M IX e s el 134%%%2075 1200
2037 JE R 1E 14022 Tkkdokk k2016 NG =M X HFiES AT 1364k%%2569 1200
2038 AREN 14022 7%kskkx45%2010 NG M X HFES A 184sksksksk4044 1200
2039 BN 14022 7#5k%kxx4%%2010 KAl ZIHIX HiEZ A 182344232 1200
2040 A 1421 32%4kx4k%%2030 NG =M X 2 el 135%%%%5094 1200
2041 Ak 140227 %kxx%%%%2016 pNEili] =X TS B 13 13kkk9952 1200
2042 EIRZE 14022 T#4kk4k% %2912 NGk =M IX 2 D 15050883 1200
2043 /N 150923 kskskkstkkk5726 NG X HFiES E0) 130%kx%9870 1200
2044 2 EAE 1421 25%4kkk5%%51 2X NG =X e 2 D 1397455 1200
2045 X - HE 14022 7%kkkx4%%2917 NG ZIHIX TS N 176%%%%5753 1200
2046 N 1421 32s%4kk4%% 292X KA T =M X 2 D 183%+%%8325 1200
2047 IR 14022 Twskk4kk %2915 KA =M X R Z A A 18946985 1200
2048 IRBLE 14022 T#4kk4k% %2917 NGk =M IX 2 E S R 186%+%9543 1200
2049 R 14022 Ttk 292 1 NG =M X HFiES VU A A 13348066 1200
2050 NI 14022 7skskskkk4%29 1) NG M X HFES FE A 1873k 7334 1200
2051 wh 14022 Tskk4kk %2919 KA zMIX S P A A 187+%*%%3203 1200
2052 e 14022 T 4kx4k% %2926 KA T =M X 2 U R 18254392 1200
2053 EHEES 14022 7%k x4%%2918 KA zMIX T2 A A 157+**%%8615 1200
2054 WER 14022 T#4kx4k% %2038 NGk =M IX e 2 VE S R 176%%%%994 1 1200
2055 BEE 14022 7T3skskkktokk 2912 NG =X S VG A 19335k 2882 1200
2056 ERUS 14022 T4kk45%%203X NG =X e 2 VU R 15843174 1200
2057 EREE 14022 Tskk4k%%2020 KA zMIX S P A A 152:%%%%0963 1200
2058 (ESiEs] 14022 Tx%kx4k%%2019 NG =X 2 U R 15 1k%%%5614 1200
2059 KT 14022 7#kkxx4%%2019 KA zMIX TS A A 17 7+%%%9498 1200
2060 IR 14022 74kskskk44k2937 NG =X e s P A RS 1380890 1200
2061 RIuhR 14022 Tsskkdokk k2915 NG =M X HFiES VU A A 185%+:4%9042 1200
2062 FKE 14022 Tx%kx4k%%2026 NG =M X e 2 VU R 19346644 1200
2063 RE & 14022 Tsskkdokk k5055 NG = MIX 2 A A 1354%%k%%3680 1200
2064 B S 14022 T %kx4k%%2916 NG =M X e 2 U R 193542882 1200
2065 BEE 14213 2%kkkx4%%2939 KA zMIX TS A A 139%kkx2545 1200




2066 X EE 14022 7#5k%kxx4%%2920 KA zMIX T2 A A 182%kkx7517 1200
2067 S 140221 #skkdokk 2425 NGk =M IX T2 E S R 13847901 1200
2068 Sl 14022 Tkt 2916 NG =M X HFiES VU A A 13449449 1200
2069 HEE 14022 Tx%kx4k%%2919 NG =X e 2 VU R 173%%%%2974 1200
2070 PEAE S 1421 32%kskx4kx%292X NG z=MIX iR Z A A 1874%%%2896 1200
2071 RIE 14022 T#4kkk43%507 1 NG =M X e 2 U R 139%%:%28073 1200
2072 FRLER 14022 Tsskskskkkskk 2923 KA =M X R Z A A 13257092 1200
2073 A 14022 Tkt 2924 NG M X e s FE A RS 198336490 1200
2074 B 14022 Tskktokk k2920 NG =M X HFiES VU A A 18747907 1200
2075 5 14022 Tx%kx4k% %2917 NG =X e 2 VU R 150%%%%3993 1200
2076 FkfE 140227 kxxx%%%2018 KAl ZIHIX 2 (g 183%%4%6265 1200
2077 FL RN 14022 73kskskk4k%294 1 NG =M X 2 U R 1830758 1200
2078 Fh iR )E 14022 7skskskksskk 291X KA =X TS A A 1834kxx0739 1200
2079 R 14022 T4kk45%%201X NGk =M IX 2 E S R 15 1k%%%3164 1200
2080 R 14022 Tsskktokek k2049 NG =M X HFiES VU A A 15843767 1200
2081 Ju 14022 74kskkx45%2915 NG M X HFES FE A 1823k 1929 1200
2082 RS 14022 Twskk40kk %2052 KA zMIX S P A A 1586590 1200
2083 IR IbeA 14022 T#%kk4k%%291 4 KA T =M X 2 U R 157%%%%2095 1200
2084 BRI 14022 7Tsskskskkk:k2919 KA zMIX TS A A 1809829 1200
2085 [ER 14022 T#4kk4k% %2917 NGk =M IX 2 E S R 133%%%%6514 1200
2086 & s 142132442910 NG =M X HFiES VU A A 13947406 1200
2087 % 1421 32%4kx4k% %2946 NG =X e 2 VU R 178%+%%9046 1200
2088 1w 14022 7%%kk5%4%2910 KA X S PE I A 155%k%kk1123 1200
2089 RIAHT 14022 Tx4kk4k% %2037 KA T =M X 2 U R 1800439 1200
2090 KR 14022 7#s5skk4okk 291X KA zMIX T2 A A 178%x%x1096 1200
2091 WA 14022 7Hkskskk4k%201 4 NG =X e 2 E A RS 180%skskk5547 1200
2092 TKEE 14022 Ttkskkookk 292 1 NG =M X HFiES VU A A 150%+4%7459 1200
2093 IR 14022 7%kskkx45%2910 NG M X HFES FE A A 13959406 1200
2094 =] % 140221 %skskkx45%0527 NG ZIHIX 2 (g 187441272 1200
2095 AN 14022 Ts4kkk45%%202 1 NG =X 2 U R 15054092 1200
2096 AN 14022745k x%%%2919 KA zMIX TS A A 136%%%9740 1200
2097 otlE 1421 32%4kk4k% %2912 NGk =M IX e s E S R 153%%%%2130 1200
2098 BRAAR 14022 Tsstkkdokok k2912 NG =M X HFiES VU A A 15946157 1200
2099 % 142132k 4kk4k% %2923 NG =M X e 2 VU R 18741441 1200
2100 EREL5 14022 74kkkx4%%2923 NG ZIHIX 2 VA S A 134%%%%4501 1200
2101 R LI 14022 T4skx4k% %2940 NG =M X e 2 U R 156%%%%8159 1200
2102 ARE 14022 1 sskskkksskk 2424 KA =M X R Z A A 18744161 1200




2103 BREEA 14022 Tkt 201 1 KA zMIX T2 A A 17 7%%%%1593 1200
2104 Rt 1421 32%4kk4k% %2917 NGk =M IX T2 E S R 138%%%6970 1200
2105 Jfi=% 14022 Tsktstokek k292X NG =M X HFiES VU A A 182341793 1200
2106 AT 14022 74kskkx45%%5053 NG M X HFES FE A A 139sksksksk4 740 1200
2107 HigE 14022 Txkskx4k%%2915 NG z=MIX iR Z A A 1394k%%5027 1200
2108 RN 1402223%kskxk34k% 102X NG =M X e 2 U R 1345%%4%2009 1200
2109 e & 14022 Twskk4kk %2018 KA =M X R Z A A 1593kk%6454 1200
2110 TR 14022 T4kk455%% 202X KA =M IX e s E S R 18250385 1200
2111 BEAE 142125%kkkk4k% 1113 NG =X S VG A 15939029 1200
2112 HH XU 1421 25%kskkk4k%1121 NG =X e 2 VU R 159%%%9029 1200
2113 BN 14022 Twskk4okk %2915 KA zMIX S P A A 15255032 1200
2114 IR 14022 73kskkk4k%291 1 NG M X 2 FE A 18559237 1200
2115 KN 14022 Twskk4kk %2913 KA zMIX TS A A 1880780 1200
2116 R 2 14022 T#4kk4k% %2013 NGk =M IX 2 E S R 187%%%%6977 1200
2117 EEHE 14022 Tsktetokk k2954 NG =M X HFiES VU A A 150%*+%9544 1200
2118 I 14022 7kskx44k% 008X NG =X e 2 VU R 150%%%%4550 1200
2119 XU~ 14022 Txkskx45k%%2010 NG z=MIX 2 A A 1594k%%2229 1200
2120 TER 14022 Tskkk%% 294X KA T =M X 2 U R 135%kkx1774 1200
2121 Bl 14022 Tskk4k%%2929 KA zMIX TS A A 153%%%%5553 1200
2122 K=% 14022 T4kk4k% %2928 NGk =M IX 2 E S R 136%%%%5425 1200
2123 L5 14022 Tsskkdokk k2923 NG =M X HFiES VU A A 198:#kxx0564 1200
2124 BEEAR 140227 %*kxxx%%%5066 NG M X HFES FE A 187335230 1200
2125 s 140227 *5kk55%4%2925 KA X S PE I A 177548872 1200
2126 ZEE 14022 7skskksksk4291 X KA =X Y2 FE M A 1335737 1200
2127 ZER 14022 7#5kkxx4%%2039 KA zMIX T2 A A 187+%%%5122 1200
2128 e 14022 Tkkk5%%504X NGk =M IX e 2 VE S R 18255735 1200
2129 BEH 140227kt 291 1 NG =M X HFiES VU A A 176%+4%9810 1200
2130 W E 140227k xx%%%%503 1 NG M X HFES VRS 1522919 1200
2131 HiEn 1421 32s8kk4k%%2020 KA zMIX S YRR 1515%%%%2887 1200
2132 LN 14213 2%kkkx45%2019 NG =X TS VRS 1873ksk6037 1200
2133 Zad bk 140221 sskskdokk k2127 KA zMIX TS VFEER 17258107 1200
2134 XA 1421 32%kxx%%%%203 1 NG =X TS VR 151skkk8153 1200
2135 X H & 14022 Tskktokk k2029 NG zMIX HFiES VFEEAT 185%+4%6093 1200
2136 MAEE 14022 7kskksk5k4% 2013 NG =X RS VFEEA 15056921 1200
2137 LI 14022 7%kkxx%%%0527 NG ZIHIX 2 YRR 183%#%%9586 1200
2138 4 14213 24%kkkx45%2017 NG =X TS VRS 155%kk2236 1200
2139 PRRE 14921 32%kkxx%%%2026 KA T =X 2 VFEER 155%%k6973 1200




2140 FiEx 14213 23%kkkx45%2026 KA T =X e 2 YRR 187+4%4189 1200
2141 IRIbetE 14022 74kskkx45k5068 NG =X TS VRS 13633589 1200
2142 et 1421 32kk4k%%2016 NG =M X HFiES VFEEAT 13945764 1200
2143 [N 14213 24%kkkx45%2010 NG M X HFES VRS 134354030 1200
2144 FRRAE 1421 32s8kk40k% %2028 KA zMIX S YRR 1838341 1200
2145 EES 14022 73kskskk4k%2024 NG M X TS VRS 135%skskk0578 1200
2146 X 75 14022 7445046 KA T =X 2 YRR 159%+4%1918 1200
2147 ik &k [ 1421 324%kskkk4k%203 1 NG =X TS VR 1395900 1200
2148 SRENT 142132:skkkskk%%20 14 NG =M X HFiES VFEEAT 183#*%%8002 1200
2149 SEAS 14213 24%kkkx45%2025 NG M X HFES VRS 155%sksk5989 1200
2150 ¥y 14022 Txkskx4kx%505X KA =M X HiEZ VFEER 1774%%%1218 1200
2151 ZE 14213 2s%sksksk4kk %2013 KA =M X VS VFEEA 1874666 1200
2152 B S 14022 Twskskdkk k2047 y.NGil] =X GEEE VFEER 1395k 1444 1200
2153 IR 14022 7skskskk4k% 201 X NG =X TS VR 1594403 1200
2154 LY 14022 73kkkk465062 NG =X S VFEEAT 1398503 1200
2155 L5 14022 1 ssksksktksosk 1 360 NG M X HFES VRS 182k 1551 1200
2156 IR I 1402023k kkx%%%2546 NG ZIHIX 2 YRR 139%%%%954 1 1200
2157 SEEP 142132%kxxx%%%2015 KA T =X TS VEEE RS 159ssksksk6189 1200
2158 IR 14212 ks ] 22 pNEili] =X 2 VFEER 159k 3573 1200
2159 K & 140227 %*kxxx%%201X NG =X TS VR 159k 2721 1200
2160 e 1421 32kk4k%%2016 NG =M X HFiES VFEEAT 15845476 1200
2161 XI5 5% 14022 7%kskkx45%2042 NG M X HFES VRS 1397193 1200
2162 FheE 14022 745k%kxx%%%5039 NG ZIHIX 2 YRR 18741382 1200
2163 Bk 14022 74kskkx45%201 7 KA T M X TS VEEE RS 13737593 1200
2164 K& 14022 7%k x4%%2015 KA zMIX T2 VFEER 187*+4%9686 1200
2165 FEAE 14022 73kskskk4k% 202 1 NG =X TS VR 18734878 1200
2166 2R 14022 Tsktetokekk 20 1X NG =MIX HFiES VFEEAT 13946634 1200
2167 FE4 14022 T %kx4k% %2029 KA =X RS VFEEA 137%%%%2296 1200
2168 K —% 14022 7#kkxx4%%505X NG ZIHIX 2 YRR 139%%%1379 1200
2169 SEE 14213 24%kskkx45%2017 NG M X TS VRS 13059943 1200
2170 TKEM 14022 7#kskxx45% 202X KA zMIX TS VFEER 1534kx%5828 1200
2171 AR EA K 14213 2%kkkx45%2027 NG =X TS VR 153%skskk5828 1200
2172 SET R 142132skk4k%%2016 NG =M X HFiES VFEEAT 150%+4%4605 1200
2173 il 140227 %*kxxx%%%2026 NG M X HFES VRS 139%kkk2715 1200
2174 XX 14213 2%kkkx45%2017 NG ZIHIX 2 YRR 187**%%9824 1200
2175 K220 14022 74kskkx435k5045 NG =X TS VRS 139%sksksk6457 1200
2176 By 14022 7skskkstokkk5045 KA zMIX TS VFEER 13849038 1200




2177 i 4 1l 142132s8kk4k%%2019 KIFITH =M X T2 PFEER 139%kk%1266 1200
2178 K 2E 5 140227455k x45%2015 NG M X TS VRS 139ssksksk6479 1200
2179 - 1421 32skk4kk%2022 NG X HFiES VFEEAT 13845699 1200
2180 iK% 14022 7%kskkx45%5033 NG M X HFES VRS 187336709 1200
2181 JARK% 140221 skskkksoskk 2144 NG ZIHIX iR Z YRR 15844711 1200
2182 s 14022 73kskkk4k%201 1 NG M X TS VRS 185%skskk5120 1200
2183 XK & 14022 7sskskkx43k5066 KA T =X TS VEERAY 1533612 1200
2184 RFEIH 14022 74kkkx45%2026 NG M X TS VR 153%skskk4 759 1200
2185 R 14022 7kkkk4%5045 NG =M X HFiES VFEEAT 1848670 1200
2186 Xt 7 14213 24%kkkx456%2013 NG M X HFES VRS 159%sksksk8449 1200
2187 RELE 14022 74kkkx45%2040 KAl ZIHIX 2 YRR 139%#4%6205 1200
2188 X 14022 74kskkx45%2010 NG M X TS VRS 18635514 1200
2189 K & 14022 Twskk4k%%2015 KA =X TS PFEERT 187+%*x*7716 1200
2190 FEF 14022 74kskkx45%2018 NG M X TS VR 1380516 1200
2191 LV 142132442059 NG =M X HFiES VFEEAT 150%+4%6878 1200
2192 RFi 2L 132526%kxxx%%%0023 NG M X HFES VRS 139k 1801 1200
2193 RIREE 14022 7#skskskdokk k201X KA zMIX S YRR 151%%%%9127 1200
2194 A 14213 24%kkkx45%2013 KA T M X TS VEEE RS 15056193 1200
2195 2 14213 2sksksk44%2055 pNEili] =MIX 2 YRR 1383264 1200
2196 2 14212 1 skskskkdkk%6525 NG M X TS VR 1873kk9478 1200
2197 XIS 14022 Tkkdokk 2016 NG X HFiES VFEEAT 13949151 1200
2198 X ZE 14022 7Hkskkk4k%2024 NG M X HFES VRS 18936900 1200
2199 2t e 14213 23%kkxx45%%201X NG ZIHIX 2 YRR 139%%4%3669 1200
2200 R 14213 2%kskkk4k%201 X KA T M X TS VEEE RS 18633254 1200
2201 75 14212 Isokskskksteskok 242X KA T =MIX 2 YRR 139763 1 1200
2202 EYNIH 14213 2%kskkx45%2012 NG M X TS VR 134sskskk4516 1200
2203 55 14022 Tsskkdokek k5049 NG X HFiES VFEEAT 13949897 1200
2204 Wz 14022 TsskskkkAsk 2034 NG M X HFES VRS 18738635 1200
2205 SRR 14022 Twskk4kk %2025 KA zMIX S YRR 1861417 1200
2206 T 14022 7skskkkk 42016 NG M X TS VRS 18559121 1200
2207 W& 1421 32s4kskk45%203 1 KA zMIX TS VFEER 1394kk%7477 1200
2208 e 14022 Tsskskskkskokx 201 1 KA M X Y2 PFEEA 1809964 1200
2209 S 14022 7s5skkt%%2079 NG =M X HFiES VFEEAT 1833963 1200
2210 B IR IR 1402224%kkkx45%4026 NG M X HFES VRS 182k 1512 1200
2211 [CiPNa. 14022 74kkkx45%%2017 NG ZIHIX 2 YRR 139%%4%2676 1200
2212 S5 14022 74kskkx45%2015 NG M X TS VRS 130%skskk4556 1200
2213 =t 14022 Tsskskskkkskk 2017 KA T =X 2 VA 155%+4%0099 1200




2214 ENE 14022 7skskkstokokk5064 KA =M X T2 VFEER 136%%%%9316 1200
2215 6 LA 53223 I skskskkkxx 1323 NG =X TS VRS 13733095 1200
2216 HEH 14022 T3kskkektokk 206X NG ZM X S VFEEAT 159%::%9598 1200
2217 SR 142132%kxxx%%%2013 NG M X HFES VRS 1399221 1200
2218 *H 140221 %skskkx45% 1820 NG ZIHIX iR Z YRR 135%%%%0216 1200
2219 SR 14022 T#%skk4k%%201 4 NG =M X e 2 VRS 153%%%%1670 1200
2220 1959} 14022 Tws5ksk4kk%2012 KA zMIX TS VFEER 1764%%%2828 1200
2221 W 14022 74kskskk435k5042 NG =X TS VR 15134395 1200
2222 PN 14022 1sskkdokk 2126 NG =M X HFiES VFEEAT 139%+4%1196 1200
2223 Sk 14022 74kskkx45%2017 NG M X HFES VRS 134353976 1200
2224 Sk 14022 Twskk4kk %2015 KA zMIX S YRR 1586412 1200
2225 i~ 14213 2%skkskstkkk 203X KA =X YRS VFEEA 1375%%%%0975 1200
2226 XA 14022 Tsskskskktoskok 5044 pNEili] =X TS VA 158%skkk5314 1200
2227 X B & 14921 32%kxxx%%%2039 NG =X TS VR 13735619 1200
2228 FEM 132526 k40022 NG =MIX HFiES VFEEAT 18640268 1200
2229 KiGE 14213 24%kkkk4k%201 4 NG M X HFES VRS 13638464 1200
2230 RN 14213 2%kkxx4%%2056 NG ZIHIX 2 YRR 18940288 1200
2231 =D 1421 32%4kk4k% %2040 KA T =M X 2 VEEE RS 18050560 1200
2232 FFEX 14022 Tskskkkotskk 201 4 pNEili] =X 2 VFEER 180%skk8575 1200
2233 EHA 14022 74kskkx45%2022 NG =X TS VR 1873kskskk0322 1200
2234 XU 14022 Tsktetokek k2014 NG =MIX HFiES VFEEAT 13342871 1200
2235 RIRLE 140227 **kxxx%%%2049 NG M X HFES VRS 156%ksk6499 1200
2236 iK% 14213 2%kkxx45%2026 NG ZIHIX 2 YRR 136%%%%9117 1200
2237 oL 14213 2%kskkk4k%201 X KA T M X HES VEEE RS 136%9826 1200
2238 Wb 22 14022 7sskskskskeksksk 20277 KA T =X 2 YRR 137*+4%0818 1200
2239 KR % 14213 2%kskkk45%201 7 NG =X TS VR 158%kk3566 1200
2240 R 14022 Ttk k5083 NG X HFiES PR 152%%%%2247 1200
2241 '3 140227k xx%%%%503 1 NG M X HFES VRS 139%sksk0918 1200
2242 Iy H 140221 #sksk4okk %1820 KA zMIX S YRR 153%%%%2105 1200
2243 XUl 1421 32%4kk4k% %2013 NG =X 2 VRS 1345%%%%9347 1200
2244 MiER 14022 7%*kxx444%2014 KA T =X TS VA 1563k 7807 1200
2245 SRR 1526263 kskkkskkx51 1X KA =X YR 2 PFEEA 13958059 1200
2246 Xk 152626 kk4kk%5125 NG zMIX HFiES VFEEAT 13347255 1200
2247 R 14022 73kskkk4k%201 1 NG M X HFES VRS 130533640 1200
2248 BeEH 14213 2%kkxx4%%2019 NG ZIHIX 2 YRR 136%%%%9194 1200
2249 AR HERR 14213 2%kkkx45%2018 NG M X HES VRS 187skskskk8544 1200
2250 KV 140227k x%%%%2019 KA T =X TS VA 176%kkx8351 1200




2251 H 7 14022 7s5skkstkk%5040 KA =M X T2 VFEER 1570714 1200
2252 FHRE 14022 74kskskx45%2027 NG M X TS VRS 187skskskk874 1 1200
2253 MG 14022 1stkskekok k684 1 NG ZM X S VFEEAT 15342282 1200
2254 r-F 14022 74kskkx45%2012 NG M X HFES VRS 133%skskk4 167 1200
2255 T B 14022 Tskskdokk k5127 KA zMIX S YRR 155552440 1200
2256 X E2 14213 2%kkkx45%2027 NG M X TS VRS 15059860 1200
2257 X 14921325kt 2034 KA T =X 2 VEERAY 153%k4k6885 1200
2258 XIJ5e SR 14022 73kskskk4k%201 1 NG M X TS VR 13337001 1200
2259 R 14022 7kkksk4%504.2 NG =M X HFiES VFEEAT 1382412 1200
2260 N 7 14022 73kskx44k% 202X NG M X HFES VRS 187337100 1200
2261 BF5IE 14022 7%kkxx4%%5046 KAl ZIHIX 2 YRR 139%#4%8253 1200
2262 TEF 14022 74kskkx45%2017 NG M X TS VRS 139%skk9325 1200
2263 KRR 1421 32s8kk4k% %2018 KA =M X GEEE VFEER 13952136 1200
2264 X1 % 14213 24%kskkk4k%201 4 NG M X TS VR 15236440 1200
2265 R 14022 Tskkdokk k2019 NG =M X HFiES VFEEAT 15843191 1200
2266 KEF 14213 2%kkkx45%2020 NG M X HFES VRS 15134929 1200
2267 e 1421 32s8kk40k%%2012 KA zMIX S YRR 138%kkx4424 1200
2268 A 14022 74kskkx45%2023 KA T M X TS VEEE RS 155%kkk2226 1200
2269 K& T 14022 73kkkk43k507 1 KA =X TS VA 18734306 1200
2270 o5 14022 7sksksktoddok 5042 NG M X TS VR 1523018 1200
2271 EESS 14022 7sskktk%%2015 NG ZM X S VFEEAT 191%%%5435 1200
2272 IR 14022 7%kskkx45%5040 NG M X HFES VRS 151359610 1200
2273 ARk 14213 2%kkkx4%%2029 NG ZIHIX 2 YRR 130%%5%3771 1200
2274 L 14921 32s%kskskk44%2035 KA T M X TS VEEE RS 130%sksksk 1149 1200
2275 e 14022 7#skskkstkkk505X KA =M X T2 VFEER 198:+k%%5623 1200
2276 R 1421 32s%sksksktkdk 201X NG M X TS VR 178%kk0373 1200
2277 ERHENE 14022 Tskkdokk k2016 NG =M X HFiES VFEEAT 136%k+%1491 1200
2278 B4R B 14022 7%kskkx45%2032 NG M X HFES VRS 150%skskk 7488 1200
2279 BRI 14022 745kkxx45%%2026 NG ZIHIX 2 YRR 139544760 1200
2280 K 14213 2%kkkx45%2020 NG M X TS VRS 159%sksksk0448 1200
2281 HEE 149213 2skskkk44%2018 KA T =MIX 2 YRR 1597341 1200
2282 X F 140227k xxx%%%5038 NG M X TS VR 17 Tskskskok4894 1200
2283 sy 140227kt 201 1 NG X HFiES VFEEAT 18240214 1200
2284 Ey)4 14022 74kskkx45%201 7 NG M X HFES VRS 15853762 1200
2285 S 14022 Tskk4okk %5038 KA zMIX S YRR 13050127 1200
2286 FRAEHE 14022 7%kskkx45%2018 NG M X TS VRS 13956265 1200
2287 LN 14022 Tsskskskkkskk 2017 KA =X TS VFEER 159*%8508 1200




2288 Hf 14022 7s5skkstkk%5040 KA =M X T2 VFEER 187+***8545 1200
2289 NSk 14022 7skskskkdk4%2018 NG M X TS VRS 1393690 1200
2290 R 14022 Ttk k5035 NG =M X HFiES VFEEAT 13948793 1200
2291 {1 T 142121 5kskkkdkk2114 NG M X HFES VRS 133%skskk 153 1 1200
2292 X e 14022 7#kskxx45%504X NG ZIHIX iR Z YRR 151%%%%4379 1200
2293 ) % 14022 1 skskskkkskk 2117 NG M X TS VRS 156%kk3983 1200
2294 X It 6 14022 7skskkstokokk5042 KIFITH =X TS VFEER 1594kx%6702 1200
2295 X EFE 140227 *xxx%%%%5034 NG M X TS VR 139%skskk7198 1200
2296 ZENE I 14022 Tsskkdokk k5059 NG X HFiES VFEEAT 133443652 1200
2297 A 14022 7%kskkx45%5032 NG M X HFES VRS 1339429 1200
2298 pakilkea 14022 Twskk4kk%2929 KA zMIX S YRR 187#%*%8647 1200
2299 [N 14022 74kskkx45%201 3 NG M X TS VRS 18734970 1200
2300 kA 14022 7skskkstkk%5052 KA =X TS VFEER 1864kx+8789 1200
2301 KE&h 140227 %*kxxx%%%5039 NG M X TS VR 18733936 1200
2302 K3 14022 Tsskktokok k5043 NG =M X HFiES VFEEAT 152%+4%1593 1200
2303 FE RN ik 140227 %*kxxx%%%5069 NG M X HFES VRS 155%skk3925 1200
2304 U 14022 Txkskx45k%%0046 NG X S VFEER 1584k%%0629 1200
2305 2= R 14213 2%kskkx45%2012 KA T M X TS VEEE RS 13358098 1200
2306 X 1501 24s5kskskk43kk652X KA X TS VFEER 133%%%%6098 1200
2307 TRAEAR 14022 73kskkx45%2019 NG M X TS VR 159%skskk 1835 1200
2308 xS 14022 Tskkdokk k2012 NG X HFiES VFEEAT 18041313 1200
2309 R 14022 73kskkk4k%201 1 NG M X HFES VRS 1873k 1316 1200
2310 X KA 14022 74kkkx4%%2019 NG ZIHIX 2 YRR 166%%%%7826 1200
2311 XL 14022 74kskkx45%2019 KA T M X TS VEEE RS 178%%%9303 1200
2312 5= 140227k xx%%%2015 KA T =X TS VA 13140111 1200
2313 KR & 14022 73kskskk4k%201 1 NG M X TS VR 15136809 1200
2314 FJIE 14022 7skskketokkk5033 NG ZM X S VFEEAT 1512339 1200
2315 EalbE] 14022 7%kkkx45%%5036 NG M X HFES VRS 1399194 1200
2316 IR 14022 Tsksk4okk %2013 KA zMIX S YRR 155%%*%8886 1200
2317 Tk X 140227 **kxxx%%%5033 NG M X TS VRS 1825k 7672 1200
2318 NN 14213 23%kkkk45k 2032 KA =X TS VA 18257910 1200
2319 AR 14213 24%kkkx45%2046 NG M X TS VR 18652553 1200
2320 KK 14022 Tkkdokk k2018 NG X HFiES VFEEAT 155%+4%1025 1200
2321 A E A 140227 **kxxx%%%2022 NG M X HFES VRS 1773552922 1200
2322 E=3 14213234k 201 1 KA zMIX S YRR 1365%%%%0761 1200
2323 X H&E 14213 24%kkkx45%2020 NG M X TS VRS 139skskskek34 14 1200
2324 X E 4 14022 7#skskksiokokk5034 KA =M X TS VFEER 153%%%%9834 1200




2325 X 7K A 1421323%kkkx45%2016 KA T =X e 2 YRR 18744548 1200
2326 P 140227455k x45%2015 NG =X TS VRS 1385866 1200
2327 Lt 14213240k 2053 NG zMIX HFiES VFEEAT 137442603 1200
2328 AR 14022 7%k xx%%%5049 NG M X HFES VRS 139%sksksk 7402 1200
2329 (1329 14022 7%kkkx4%%2015 NG ZIHIX iR Z YRR 1893001 1200
2330 XISV 14022 73kskkk4k%505 1 NG M X TS VRS 13730910 1200
2331 RIEIS 14022 7kkkx46%5073 KA zMIX TS VFEER 13 1kk%7524 1200
2332 2R 1421 32s%ksksktkdk 201X NG M X TS VR 18739360 1200
2333 WL 14022 7T3kkkk46% 2028 NG =M X HFiES VFEEAT 135%+4%6748 1200
2334 A 14022 Tsskskkkdsk 2024 NG M X HFES VRS 187skskskk334 1 1200
2335 L 14213 2%kkkx4%%2013 KAl ZIHIX 2 YRR 182%%4%9606 1200
2336 AR % 140227 %*kxxx%%%2029 NG =X TS VRS 15256986 1200
2337 T 142421 skskdokk k3525 y.NGil] =X GEEE VFEER 187%%%x1012 1200
2338 EH 140227 **kxxx%%%2017 NG =X TS VR 15052891 1200
2339 FRERA 142132442020 NG =M X HFiES VFEEAT 135%k%kk4741 1200
2340 SLEM 14213 24%kkkx45%2040 NG M X HFES VRS 188k 7436 1200
2341 S H ¥ 14213234k 205 1 KA zMIX S YRR 137#%*%%3805 1200
2342 R 14022 Tx%skk4kx%201 4 KA T =M X HRZ KEH 152%%%9470 1200
2343 B4 14022 7%k x4%%2013 KA zMIX TS KER 18743614 1200
2344 AR 14022 7#kskskx45%5040 NG =X TS KEH 139982 1 1200
2345 e 14022 Tsskktokk k5037 NG =M X HFiES KER 19840233 1200
2346 s 14022 Tsskskskstokokk20 17 KA =M X HE S KEF 1842568 1200
2347 T4 14022 Txkskx4k% %0837 NG X Jil - A VU BT 1504kx%3274 1200
2348 Tt 14213 2s%kskskk44%08 18 KA T =X iR VY- AR 1863%ksk3288 1200
2349 Fi 14022 7s5skksk%%08 16 KA =M X JE L FEE PO - BT 1876403 1200
2350 oK 14022 7skskskkok4:0829 NG =X Ji L PO+ ELATAY 15053274 1200
2351 KEH 14022 1sskkdokk k5928 NG =MIX Ji - EE PO - LA 150%+4%9987 1200
2352 (4 1421 32s%kskskk44%08 14 NG M X Ji R PO+ EL A 139%sksk3923 1200
2353 TEW 1421 32%kkx4kx%0814 NG X Jil - A VU BT 1364k%%3992 1200
2354 B s 142226%kxxx%%%6723 NG =X iR VY- AR 137sskskk514 1 1200
2355 A3 14022 7skskkstkk%08 12 KA =M X JE L FEE PO - BT 13459184 1200
2356 EF 1421 32%kxxx%%%0810 NG =X Ji L PO+ ELATA 1393921 1200
2357 i) 14213240k 0842 NG =MIX Ji - FEE PO - LA 152442136 1200
2358 EEK 14022 7%kkkx45%0815 NG M X JH A PO+ B A 175%%%9758 1200
2359 EER 140224%%%x4%%%8620 NG X Jil - A PO BT 1394k%%2993 1200
2360 EEES 1509263%kskskk45k 1023 NG M X Ji - A P+ B 15059850 1200
2361 F& 14022 7s5skkst%%0815 KA =M X JE L FEE PO - BT 139%%%2993 1200




2362 53 14022 7skskkstokkk504 7 KA =M X JE L FEE PO - BT 139%%%2993 1200
2363 (AN 1421 32%kxx%44%081 1 NG =X Ji L PO+ ELATAY 18735901 1200
2364 EEPN 14022 Ik 7967 NG X Ji - FEE PO - LA 1381407 1200
2365 T 14022 7skskskkk4:0825 NG M X Ji R PO+ EL A 18739159 1200
2366 M 15262 7#kkkx4%%1327 NG zMIX JE A P+ B A 15141439 1200
2367 HEA 14213 2%kkkx45k08 18 NG M X Ji - A P+ B 187sskskk4318 1200
2368 TEB 14273 1 sskskdokok k1827 KA =MIX Ji - FEE PO - BT 186%xx1822 1200
2369 fE3% 140227k xxx%%%0819 NG =X Ji L PO+ ELATA 139skskskk525 1 1200
2370 I Payiss 14212 1skk40kk%5625 NG X Ji - FEE PO - LA 150%k*%%4268 1200
2371 f£H 1421 32%kx k54450822 NG M X Ji R PO+ EL A 1598746 1200
2372 (ERAN 1421 32%kkx4%%%0816 KAl X Jil - A PO - BT 135%%%%9936 1200
2373 (AR 1421 32s%kskskk44%08 19 NG M X iR P+ B 15933050 1200
2374 FAME 14022 7skskkstokckk084 7 KA =MIX Ji - FEE PO - BT 1725%k%%7340 1200
2375 X % &, 14022 7skskskkk4:0819 NG =X Ji L PO+ ELATA 132sskskk441 1 1200
2376 PG 14022 Tskttokekk 08 1X NG z=MIX Ji - EE PO - AT 155%+4%5609 1200
2377 A= 14022 7sskskskkk4:0838 NG M X Ji R PO+ ELTA 136%5kk9647 1200
2378 T 14022 1skskkrdork 1025 NG zMIX JE A P+ B A 155%%%%3983 1200
2379 ES 140227 %*kxxx%%%0819 KA T M X iR P+ B 135%k9052 1200
2380 F % 14022 7wsskkstokkk08 13 KA =M X JE L FEE PO - BT 187%%1138 1200
2381 & 14921 32%kxxx%%%0833 NG =X Ji L PO+ ELATA 15054356 1200
2382 F&t 14022 Tstkkdokok k5032 NG z=MIX Ji - FEE PO - LA 18247235 1200
2383 F HE 140227 %*kxxx%%%5060 NG M X Ji R PO+ ELTA 135%skskk 1873 1200
2384 F5& 1421 32%kkx4%k%%0815 NG X Jil - A VU BT 1384kk%3452 1200
2385 LEQ 14022 1 skskskkkkk 4023 KA T M X iR P+ B 18736820 1200
2386 R4 14022 73skkskek408 19 KA T =N IX Ji - FEE P9+ B A 1585339 1200
2387 Fi 140227 %*kxxx%%%5056 NG =X Ji L PO+ ELATAY 187skskskk3251 1200
2388 KHE 14022 1sstkktokokk 1 322 NG X Ji - EE PO - LA 150%k%%0554 1200
2389 T 142121 %kskkk4k%5924 NG M X Ji R PO+ EL A 1332301 1200
2390 AR 14022 Txkskx4k%%1116 NG X Jil - A VU BT 130%k%%2452 1200
2391 Ik 14022 7sksksxk4k%08 1 X NG M X Ji - A P+ B 139%sksksk0747 1200
2392 TER 14022 7s5skktk%0835 KA =MIX Ji - FEE PO - BT 136%k%%90 14 1200
2393 At & 130726%*kxxx%%%1913 NG =X Ji L PO+ ELATA 159sskskk81 14 1200
2394 AL 52213 2kktkk4kk0026 NG =MIX Ji - FEE PO - LA 18740733 1200
2395 T¥H 14022 7sskskkkds082 1 NG M X Ji R PO+ B A 139%kskskk394 1 1200
2396 EREA 14022 Txkskx4k% %5069 NG X Jil - A PO BT 1524k%%0462 1200
2397 + Hot 1421 32s%kskskkkAk % 083X NG M X Ji LR P+ B 1836812 1200
2398 FiEZ 14213 23%kkxx45k% 082X KA =MIX Ji - FEE PO - BT 1593k%x0804 1200




2399 AL A 14022 7kt 083X KIFITH X Ji PO - BT 15254911 1200
2400 ABLL 14022 74kskkx45k08 13 NG =X Ji - A PO+ ELATAY 135%skskk4685 1200
2401 EHE 142132tk 0824 NG X Ji - FEE PO - LA 18745512 1200
2402 KIEE 14022 7sskskskkk4:0839 NG M X JiH A PO+ EL A 1373k 1143 1200
2403 AR 14022 7skkk55%4%0813 KA =X ! PO+ B4l AT 136%kkx1 757 1200
2404 KiLE 14213 24%kskkk4k%08 1 1 NG M X Ji - A P+ B 137359223 1200
2405 Bk 14021 2sksk4kk%0529 KA =MIX Ji - FEE PO - BT 137%%%%9223 1200
2406 S 14022 7skskskk44%0866 NG =X Ji - A PO+ ELATA 135%skskk2513 1200
2407 ERE 14022 Ttk 0816 NG X Ji - FEE PO - LA 18745839 1200
2408 % 14213 24%kskkk4k%081 4 NG M X JiH A PO+ EL A 138k 1814 1200
2409 1T 14022 Txkskx4k% %0823 KAl X Jil - A PO - BT 1374%k%%6927 1200
2410 {E5% 14022 7skskskksokk 111X NG M X Ji - A P+ B 1521930 1200
2411 KA 14022 7H#skkskekk4k5046 pNEili] =M X Ji - P9+ B A 1390620 1200
2412 ANEE 14022 7%kskkx45k5048 NG =X Ji - A PO+ ELATA 13952896 1200
2413 B 1421 32skk40kk% 0847 NG X Ji - EE PO - AT 13940082 1200
2414 EIRGas 2] 1307 26%kskkk34k% 193X NG M X JH A PO+ ELTA 18732475 1200
2415 EHLE 14022 Txkskx4kk %5062 NG X Jil - A VU BT 1804k%%9423 1200
2416 EL 14022 Tkt 0824 KA T M X Ji - A P+ B 15934600 1200
2417 AESF 52252 Tskskskskdokk ] 72X KIFITH X JE - A4 PO+ B4 A 1875%x4%8504 1200
2418 ERE 1421 32skskkk434:08 1 1 NG =X Ji - A PO+ ELATA 18733198 1200
2419 % 14022 Tsskkdokok k5043 NG =X JE AR PO - LA 187*++%3198 1200
2420 {Egte 14021 1kskskkkk:6456 NG M X JH A PO+ ELTA 175%kskk9444 1200
2421 T 14022 7#kkkx45%%0823 NG zMIX JE A P+ B A 173%%%%2115 1200
2422 T&HR 14022 7skskskkk4%08 16 KA T M X Ji - A P+ B 15050195 1200
2423 R 14022 7skskkstk%%0815 KA X Ji - FEE gAY 1584k%%6702 1200
2424 &R 14022 74kskkx45k08 13 NG =X Ji - A 8IS R] 1529435 1200
2425 ) B 14022 7wskskketokk%08 12 NG =MIX Ji - EE 28 A 156%:k4%1318 1200
2426 EEE 1421 32s%kskskk44%0826 NG M X JH A 2 EE R 139066 1 1200
2427 KA 1421 32kk4kk%0856 NG =M X Jil - A 218 i A 1584kk%4277 1200
2428 A 1421 32%4kx4k% %0825 NG =X Ji R4 ) 15051410 1200
2429 TR 14213 2skskskk44%08 16 KA T =N IX Ji - FEE 28 E R 131%%%%9625 1200
2430 PG A 14022 74%skkx45%0819 NG =X Ji - A 8IS R 13953963 1200
2431 MR 1421328kt 084X NG =M X J& -t 28 A 155%::4%2797 1200
2432 2R 14213 24%kkkx45k0858 NG M X JH A 2 EE R 15053748 1200
2433 TR 14213 2%kkxx45%0824 NG zMIX JE A 218 i A 15141270 1200
2434 EEH 14022 1 skskskkkkk6246 NG M X Ji - A SR 1528154 1200
2435 KTt 1402275kt 081 1 KIFITH =M X JE L FEE gAY 188%k%%x2605 1200




2436 TEE 14022 7k 08 13 KA T =M X Ji - R 28GR 18250065 1200
2437 T/ 14022 Ts4kkk43%%504 1 NGk ZMIX Ji A 8 A 176%%%0983 1200
2438 e 14022 73skkkk46%5030 NG =M X J& -t 28 A 18947122 1200
2439 A 1421 32s%kskskk44%08 18 NG M X Ji R 2 IEE R 13953298 1200
2440 N 14213 2%kkkx45%0846 NG zMIX JE A 218 1 A 18745450 1200
2441 TEW I 14022 7kt 0827 NG M X Ji - A 8 A 187sskskk4 700 1200
2442 LW 14022 7tk 007X KA =M X Jil LR TN ER 1575214 1200
2443 5 140227 %*kxxx%%%0822 NG =X Ji L EoS WAy 18630960 1200
2444 WTNGE 14022 7T3kkkktokk08 12 NG =MIX Ji - FEE d FIER] 1312018 1200
2445 T 14022 Tx%x4k% %0829 KA =X St R4 T KIER 15951675 1200
2446 L ER 14022 T3kskkektork 082X KAl zMIX JE A o Z AT 135%%4%2705 1200
2447 X E A 14921 32s%kskskk44%0826 NG =X iR B A 1513469 1200
2448 L5 14213 23kkkk45k08 1 4 pNEili zMIX Ji A B 187*x4%4852 1200
2449 BN 14022 73kskskk4k%504 1 NG =X Ji L B A 185%%%8733 1200
2450 el 1421 32skk40kk%08 12 NG X Ji - EE A 139%%%8323 1200
2451 K S 62232 3kkkkkkx %0825 NG M X Ji R B A 199s%%%3950 1200
2452 LEFAR S 51082 1xks5kkx%%9329 NG zMIX JE A B 159447623 1200
2453 T 14213 2%kkkx4k0832 KA T M X Ji - A B A 15849174 1200
2454 H 3R AE 149213 2skskkk438 082X pNEili] =N IX Ji LR LAY 158%kkk3646 1200
2455 REE 140227k xx%%%0825 NG =X Ji L B A 1870633 1200
2456 LEFAR 14022 Ttkkkookk 082 1 NG z=MIX Ji - FEE A 1834k++6828 1200
2457 o7 1421 32s%kskskkokk:08 1 2 NG M X Ji R B A 155%%%%2519 1200
2458 Bk 140221 %skkkx45%6226 NG zMIX JE A B A 13948323 1200
2459 RS oe 14921 32skkskskckok4:0822 KA T =X iR F A+ B 134s%k8463 1200
2460 PR 14022 7sskkstkk%08 19 KA =MIX Ji - FEE it BAR 137%%%%8310 1200
2461 P ¢ 55 14022 7skskskkok k%0838 NG =X Ji L F A+ B 1473552629 1200
2462 e 14022 73skkske440820 NG =M X Ji -t i+ BN 1874061 1200
2463 Vebinia 1421 32s%kskskk44%0829 NG M X Ji R F A+ B 13958860 1200
2464 i 14022 Tsktetokekk 082X NG =M X Jil - A Tt BAR 1364k%%0659 1200
2465 N 52921 24%%5kkkk% 1 244 NG M X Ji - A Fi AN 18733k 7539 1200
2466 TARFK 15263 4skskk4okk 4218 KIFITH =X JE - A4 T+ B 150%k%%4350 1200
2467 o g 2k 14022 Tkttt 08 14 NG =X Ji L F A+ B 133k 2594 1200
2468 [ 1421325460812 NG =M X J& -t i+ BN 157%%4%4537 1200
2469 F XL 140227 %*kxxx%%%0845 NG M X Ji R F A+ B 188sksksksk4490 1200
2470 R 14022 Tsskktokok k0822 NG X Jil - A Tt BAR 17 T4%kx%8044 1200
2471 Btk 14921 32skskskckok4:087 2 NG =X Ji LR i+ B 1523328 1200
2472 =2 14022 1skkstokk k5944 KA zMIX JE L FEE Fu 1 B 151%k%%0559 1200




2473 HRES 15262 Tkt 1621 KA zMIX JE L FEE Fu 1 B 1374%k%%0965 1200
2474 RN 14022 7skskskkodkk:08 13 NG =X Ji L Fi - B 139%skskk0648 1200
2475 B 14022 Tsktetokek k0844 NG =MIX Ji - FEE Tt B 150%+4%2215 1200
2476 FAE 152628%*kkxx4%%3022 NG M X Ji R Fu - AR 152k 7412 1200
24717 B 14022 Tskk40kk %0867 KA =X ! L+ AT 187k 1341 1200
2478 [RESEE 14213 2%kskk44k% 083X NG M X Ji - A Fi AN 135%skskk421 1 1200
2479 BF 14213 23%kkkk4k08 38 pNEili zMIX Jil LR it B4R 1323896 1200
2480 Kk 15263 4s5kskskkskk4 29X NG =X Ji L Fi - B 1598951 1200
2481 IR 14022 Tkskkekotork08 14 NG =N IX Ji - FEE i+ BN 182k 1221 1200
2482 I 152528440020 NG M X Ji R Fi - AR 15351902 1200
2483 WRiE T 14022 7%%kk55%4%0833 KA =X ! L+ AT 150%%%x3816 1200
2484 155 14022 7skskskkk 40826 NG M X iR Fi AN 1830753 1200
2485 FRHE 14022 7skskkstkk%08 18 KA =MIX Ji - FEE it BAR 138%kk%5722 1200
2486 el 14022 7skskskk4k%503X NG =X Ji L Fi - B 188skskskok 1424 1200
2487 B SCARL 14022 7kkkk4%0813 NG X Ji - EE Tt B 155%%%%7508 1200
2488 B % 14022 7%kkkx45%0810 NG M X JH A Fi - AR 15133055 1200
2489 SRR 510722s%ks5kk4k% 268X KA =X Ji - A Tt B4k 15 13%%0282 1200
2490 B 1421 32s%kskskkkk %081 X KA T M X iR Fi AN 139sksksksk 1837 1200
2491 G 14022 75kt 0068 KA =MIX Ji - FEE Fu 1 BAR 150%%k%%3635 1200
2492 EE# 140227 %*kxxx%%%0829 NG =X Ji L Fi - B 176%skskk1139 1200
2493 it 14022 Tskktokk k0810 NG z=MIX Ji - FEE Tt B 15849094 1200
2494 [ 14022 7%kkkx45%0810 NG M X JH A Fi - AR 155%kk8265 1200
2495 B 14022 Tx%skx4%%%0830 NG X Jil - A Tt BAR 1674%k%%4489 1200
2496 K75 75 14212 1 skskskotkk k622X KA T M X iR 2 LR 15051936 1200
2497 E9dls 14213 23%kkkk40825 KA =MIX Ji - FEE 182 k] 1394%%kx%8350 1200
2498 IR 14921 32skskskkokk:08 1 2 NG =X Ji L 2 LR 1398350 1200
2499 FRAEM 14022 73kt 08 10 NG =N IX Ji L 182 LR 15144360 1200
2500 =T 14022 7%kskkx45%0827 NG =X St R4 PR LA 187*%4%2478 1200
2501 2 [H B 14022 74kkxx4%%0818 NG zMIX JE A MR A 176%+4%4478 1200
2502 BE 14022 7kskkk4k%08 1 4 NG =X Ji R4 e 13950913 1200
2503 T 1421323%kkkx4k08 16 KA T =N IX Ji LR MR K LAY 150%+4%3228 1200
2504 ZE 14022 7sskskskotkodk k082X NG =X Ji L ) 1839168 1200
2505 2= 142132 kkkk408 1 X NG =N IX Ji LR MR LAY 156%+4%0985 1200
2506 L 14022 7skskskstkdk k503X NG M X Ji R BRI LA 176%%%9355 1200
2507 HEE 152630%kkkx4%% 1666 NG zMIX JE A MR A 15846534 1200
2508 A5 14021 23kskskkkkk 2429 NG M X Ji LR e 189908 1 1200
2509 R 1421323%kkkx4k08 16 KA =MIX Ji - FEE PR A 1804kk+1695 1200




2510 M 14921 32%kkxx4%%0819 KA T =N IX Jil LR MR LAY 135%kkk4548 1200
2511 B 14022 7skskskkok4:0829 NG =X Ji L ) 159k 1079 1200
2512 ET 142132 kkkk4k08 14 NG =N IX Ji LR MR LAY 15946563 1200
2513 BRI 140227 *kxxx%%%5047 NG M X Ji R BRI LAY 187350229 1200
2514 [iD% 14021 2%skskkx4%%3957 NG zMIX JE A MR A 153%+4%3819 1200
2515 LR 1421 32skskskk4408 14 NG =X Ji LR PR £ 1983661 1200
2516 ZEE 14213 23%kkkk4k08 38 KA T =N IX Ji LR R K A 15940551 1200
2517 Z 8 14022 7skskskkk4%08 16 NG =X Ji L ) 135%skskk7313 1200
2518 2R 142132 kkkk4k08 1 X NG =N IX Ji LR MR LAY 13943131 1200
2519 B3 1421 32%kkxx%%%0812 NG M X Ji R BRI LAY 18552329 1200
2520 B 14022 7%5k%kxx%%%5030 KAl zMIX JE A MR A 13347599 1200
2521 B Vg 14213 24%kkkx45%0810 NG M X Ji - A PR £ 1373k 1329 1200
2522 A 14022355k 3529 pNEili] =M X Ji A MR LAY 13741329 1200
2523 SR 14921 32skskskk44%0826 NG =X Ji - A e 1598593 1200
2524 i 14022 7T3kkkkk6k08 15 NG =N IX Jil MR LAY 139%+4%3196 1200
2525 By 140227 **kxxx%%%0823 NG M X Ji R PR LAY 159%sksksk4348 1200
2526 el 14022 74kkxk45k%0111 NG zMIX JE A MR K A 130%+4%2151 1200
2527 Bk 14022 7skskxk4k%08 1 X KA T M X Ji - A PR £ 1324540 1200
2528 2 F 3% 1421 323%kkkk43k0840 pNEili] =N IX Ji LR MR LAY 133443620 1200
2529 = 14022 73kskkk45k%5064 NG =X Ji L ) 137353196 1200
2530 W 14021 Lskskkakotork 21 2X NG =M X Ji MR K LAY 1523k 3446 1200
2531 1 14022 7kskskk44%08 16 NG M X Ji R BRI LA 1989486 1200
2532 EdEES 14021 23kskkkdkk 2491 NG zMIX JE A MR A 137+4%3573 1200
2533 A 14213 24%kskkk4k%08 1 4 KA T M X Ji - A PR £ 13732335 1200
2534 250 14213 23%kkkx4308 10 KA =MIX Ji - FEE MR LT 187444263 1200
2535 5 140227 **kxxx%%%0837 NG =X Ji L ) 155%skskk3360 1200
2536 I 14022 73kt 08 32 NG =M X Ji MR LAY 137skkk4217 1200
2537 £ 14022 Tsskskkkks:08 1 1 NG M X Ji R PR LA 199sksksksk4 724 1200
2538 it 14022 7%k x4%%0817 NG zMIX JE A MR A 152%+4%9989 1200
2539 2 14022 7skskskkk4:08 15 NG =X iR e 157sskskk3171 1200
2540 XX 14022 7skskkstkk%08 12 KA =MIX Ji - FEE e A 150%%k%x0120 1200
2541 X 140227 %*kxxx%%%0545 NG =X Ji L %K EAT 187skskskok 1342 1200
2542 A E 14022 Ttk k0819 NG =MIX Ji - FEE B E RS 150%+4%7738 1200
2543 foges 14022 7%kkkx45%0815 NG M X JH A % KA 155%skskk6522 1200
2544 TR 14022 7#kkkx45%%0817 NG zMIX JE A BE RS 130%+4%8850 1200
2545 FHi 14213 2%kkkx45k08 13 NG M X Ji - A %K AT 155%skk2930 1200
25416 X 5% 14213 2skskkk44%08 10 KA T =N IX Ji - FEE B E RS 155%kk2408 1200




2547 X 14213245k x4%%0835 KA =M X JE L FEE e A 155%%%2638 1200
2548 AR 14022 Tkttt 08 14 NG =X Ji L %K EAT 13 13sksk3069 1200
2549 AR R 14022 Tkskkektork 0824 NG =N IX Ji - FEE B E RS 15840334 1200
2550 AR 140227 **kxxx%%%0816 NG M X Ji R %K AT 155%skskk267 1 1200
2551 FH 1421 3235kskkk85kk08 24 NG zMIX JE A B E RS 155%*+%2934 1200
2552 A et 14022 7skskskkk4:08 15 NG M X Ji LR %K AT 13059940 1200
2553 P B 14213 23%kkkk435k0847 KA T =N IX Ji - FEE B E RS 133443463 1200
2554 M 14022 7sksksttodososk 1 420 NG =X Ji L %K EAT 139%skskk5040 1200
2555 A% 14213240838 NG =M X JE £ AR B E RS 155%+:4%2878 1200
2556 A E 14022 7sskskskokokkk084 7 NG M X Ji R KA 155%%k9967 1200
2557 X 7 Fif 14022 73kkkkkkk08 18 KAl =M X JE A B E RS 18247374 1200
2558 bibie o 149213 2s%kskskk44%0846 NG M X iR KA 155%kskk2877 1200
2559 it E 14213 2%kkkx4%%0833 KA =M X JE L FEE e A 139k%%5435 1200
2560 {753 14022 7skskskkk4%08 16 NG =X Ji L %K EAT 1803903 1 1200
2561 H % 142132%kkkk44%08 16 NG =N IX Ji - EE B E RS 155%+4%2505 1200
2562 N 14022 7kskkk4k% 3584 NG M X Ji R KA 15859676 1200
2563 X 14022 Tskskkekstork5 11X NG =M X JE A BE AR 130%%4%6463 1200
2564 XIEERE 14022 Tx4kx4k% %5046 KA T =M X Ji R4 BE AT 153540477 1200
2565 WA 14022 7k 0823 pNEili] =N IX Ji - FEE e A 18743090 1200
2566 pAES 1421 32sksksktkodk k081X NG =X Ji L %K EAT 152s%skskk0478 1200
2567 IR 14022 Tsktetokek k5034 NG z=MIX Ji - FEE PUZK I A 1593kk+2894 1200
2568 kAR 140227 ***kxx%%%082X NG M X Ji R P KBRS 155%sksksk 1742 1200
2569 St 14022 7%%%kk5%4%5059 KA =X ! PUZK I A 182%%%x9988 1200
2570 B 14022 1 sokskskksokok 1 84X KA T =M X Ji R4 PHZK gAY 150%%+%8181 1200
2571 RE T 14022 7skskkstk%0825 KA =MIX Ji - FEE FUzK I A 151%+4%2519 1200
2572 R4 14022 7skskskkk43:08 10 NG =X Ji L PHZKIA RS 136%kk4073 1200
2573 PGS 140202:kk4%%0026 NG =MIX Ji PUZK I A 1824900 1200
2574 BT S 14022 7sskskskkk4:083 7 NG M X Ji R P KBRS 176%%%9659 1200
2575 Ao 513026%%5k%kxx%4083 NG zMIX JE A PUZK I A 190%%%%2455 1200
2576 Rl 14022 7skskskkk4:08 10 NG M X iR P ZKIA S 135%skskk 1345 1200
2577 EYiPN 1402274kt 084 1 KIFITH =M X JE L FEE P ZKIA S 1800920 1200
2578 £ 1421 32skskskk43408 14 NG =X Ji L PHZKIA RS 137352269 1200
2579 g 14213234kt 082 1 NG =M X JE £ AR PEZKIB S 13040131 1200
2580 2= 14022 Tx%x4k%%0815 NG =M X St R4 PHZK I A 178%%%%6795 1200
2581 24 14022 74kkxx45%%081 1 NG zMIX JE A PUZK I A 15246802 1200
2582 2 14022 7#kskkx45%08 15 NG =M X Ji R4 PHZK gAY 139543263 1200
2583 2R 14022 7skskksikekk08 14 KIFITH =M X JE L FEE P ZKIA S 1365538 1200




2584 P 14213 2%kkkk4308 19 KA T =N IX Jil LR FUZK I A 135%+4%5825 1200
2585 e 14022 7#kkkx45%08 15 NG =X Ji - A PHZKIA RS 159k 2667 1200
2586 RF 14022 Tskkdokk k0819 NG X Ji - FEE PUZK I A 159%kk%3340 1200
2587 R 14022 7skskskkk4%08 18 NG M X JiH A PHZKIA ] 1873k 7278 1200
2588 g 14213234k 0839 NG =M X Jil - A P ZKIA S 1394kk%1985 1200
2589 ZH 14022 Tsskskkokdsk 0844 NG M X Ji - A P ZKIA S 1833948 1200
2590 H K 5 14022 7sskkstokkk503 7 KA =M X JE L FEE FUzK I A 15153381 1200
2591 55 [ 1421 32skskskk44%0839 NG =X Ji - A PHZKIA RS 13138536 1200
2592 EEER 14022 T4kt 085 1 NG =M X JE £ AR PEZKIA S 151%%%%1916 1200
2593 5% [E 14022 74kskxk4k%08 1 1 NG M X JiH A PHZKIA ] 135%%k9805 1200
2594 KM 140227 kkxx4%%0819 KAl zMIX JE A P ZKIB S 13 1%%%%6495 1200
2595 gk 140225%kskskk44%4947 NG M X Ji - A P ZKIA S 182k 1112 1200
2596 RIEE 14022 7tk 08 1 X KIFITH =M X JE L FEE FUzK I A 13939450 1200
2597 2Rk 14022 74kkkx45%0829 NG =X Ji - A PHZKIA RS 151 skskskk4373 1200
2598 Pk ES 14021 2%k 1 065 NG X Jil LR PUZK I A 137+%%%4919 1200
2599 RE 14022 7skskskkk4%08 18 NG M X JH A PEZKIA RS 13430415 1200
2600 FLaH 140227 kxx4%%%504 1 NG zMIX JE A P ZKIB S 151%%%%9957 1200
2601 i #E 14022 74kskkx45%0835 KA T M X Ji - A PHZK gAY 15131019 1200
2602 a5 14022 7skskkstk%08 18 KIFITH =M X JE L FEE FUzK I A 137+%%%6890 1200
2603 anet] 14022 74kskkx45k0837 NG =X Ji - A PHZKIA RS 1327213 1200
2604 HRZE 14213 2kk4kk%0815 NG X Ji - FEE PUZK I A 134%%k%%2698 1200
2605 FSF % 142132kt %081 X NG M X JH A B A 182541722 1200
2606 AL 14022 7%kkxx45%0032 NG zMIX JE A B AT 138%%4%9635 1200
2607 T 14022 7ssksksktokk:0827 KA T M X Ji - A B A 13952706 1200
2608 Fh 14022 7skskkstk%0833 KA =M X Jil LR B AT 135%%kk4 184 1200
2609 5 14022 7%kskskx45k5040 NG =X Ji - A B A 139542849 1200
2610 ik 1421 32kkskek4k08 1 1 NG =M X JE £ AR B AT 13954925 1200
2611 s 14022 7sskskskokokkk 0822 NG M X JH A B A 155%%%%2044 1200
2612 I 14022 T4kskk4kx094 1 KA =X Ji - A AT 187+%*%%6225 1200
2613 TE&E 142121 5kskkxkk3723 NG M X Ji - A B A 151%%4%6278 1200
2614 Ee 140227 %kkxk%%%1110 KA T =M X Jil A B AT 1525skkk5888 1200
2615 [ 14022 7sskskskstkodk k081X NG =X Ji - A B A 138%%%9766 1200
2616 &t 14022 Tsskktokk k5063 NG =M X Jil LR B AT 1827585 1200
2617 SN 14213 24%kkkx45%0846 NG M X JH A B A 15 1%%%8438 1200
2618 BEIRE 140624 %k%k*kx%%%5525 NG zMIX JE A B A 136%%%%8656 1200
2619 BE R 140624 %55k x4%%5513 NG M X Ji - A B A 136%%%%3256 1200
2620 FiS U 140624%kkkk45%k5525 KA T =N IX Ji LR B AT 15940340 1200




2621 ST 14022 7wskskkstkkk08 17 KA =MIX Ji B AT 1394%x%8519 1200
2622 15 i 140227 %*kxxx%%%0837 NG =X Ji L B A 185%+%x3186 1200
2623 B H i 14022 Tstkskkookk504 1 NG =MIX Ji - FEE B AT 1394kx%9085 1200
2624 ZERGE 1421 32s%kskskk44%0820 NG M X Ji R B A 1590123 1200
2625 RAE 14022 Tsstkktokok k0828 NG =M X Jil - A B AT 1374%k%%4507 1200
2626 ) 14022 7sksksktokd:08 1 2 NG M X Ji - A B A 1867352 1200
2627 Rk 14213 23%kkkk4308 19 pNEili zMIX Jil A B AT 158*+4%2423 1200
2628 HM T 1411 24skskskk44%0083 NG =X Ji L B A 17 T%%%%9262 1200
2629 B 142132440820 NG =M X Jil LR B AT 13044542 1200
2630 THL 1421 32%kxxx%%%0817 NG M X Ji R B A 130%%4k4542 1200
2631 FH SC s 14022 Tsektetokek k0824 KAl =M X Jil - A B AT 1364k%%0016 1200
2632 A 14022 74kskkx45%0810 NG M X Ji - A B A 136%%%%4133 1200
2633 X 14022 7skskkstk% 0838 KA =M X Jil LR B AT 1861606 1200
2634 XK 14022 7skskskkod:0839 NG =X Ji L B A 1807534 1200
2635 151 14213234kt 081 1 NG X Jil LR B AT 135%k%%4478 1200
2636 EL 1421 32s%kskskk44%08 10 NG M X Ji R B A 137%%%%7035 1200
2637 BT 152628kkkk4k% 2585 NG =M X JE A B AT 133%%%%8592 1200
2638 TER 14022 Tsskskkkodok084 1 KA T M X Ji - A B A 175%%4%4389 1200
2639 FHERS 14022 75kt 0865 KA =MIX Ji - FEE B AT 1524%k%%8225 1200
2640 VRS 14022 7sskskskotkok k082X NG =X Ji L B A 150%%%5478 1200
2641 i 14022 Tsskktokok k0832 NG X Jil LR B AT 153%**%%5478 1200
2642 1575 14213 2%kkkx45%0817 NG M X JH A B A 155%%%%3552 1200
2643 jevilics 14022 7%kkkx45%%0827 NG zMIX JE A B AT 150%%%%3378 1200
2644 KT 14022 7#kskkk4k%08 1 4 KA T M X Ji - A B A 155%%%%1907 1200
2645 AT 14022 7k 08 18 KA T =N IX Ji LR B AT 187*x+%0484 1200
2646 27K AR 1406025k xx%%%7 529 NG =X Ji L B A 187%%%%x3167 1200
2647 1% 14213234kt 081 1 NG =X Jil LR B AT 15940564 1200
2648 BEH 14022 7skskskk44%08 16 NG M X Ji R B A 172%%4% 7485 1200
2649 5 i g 14213 2%kkxx45%082X NG zMIX JE A B AT 18846754 1200
2650 SE 14022 7kt 4:0838 NG M X Ji - A B A 136%%4%8442 1200
2651 Bk 14921 32%kkxx%%%0816 KA T =N IX Ji LR B A 137#%k9483 1200
2652 K 14022 7skskskkk4:08 15 NG =X Ji L B A 136%%%0935 1200
2653 [IFNA 14022 Tkt 0820 NG =M X Ji B AT 150%xk5401 1200
2654 N 14022 73kskxk4k%505X NG M X JH A B A 1525%%4%2082 1200
2655 ZUE 14022 Tsskktokok k0822 NG =X Jil - A B A 1513kk%4753 1200
2656 ESENE] 142123 %kskskk44k 1527 NG M X Ji - A B A 15 1skkkk4361 1200
2657 F&E 14022 7tk 0822 KA =MIX Ji - FEE B AT 1384kk%3037 1200




2658 HHE 14022 7skskkstkkk505X KA =M X Jil LR B AT 155%%%%9988 1200
2659 XI 510525%kkkkkxx8148 NG =X Ji L B A 187%4%2481 1200
2660 fEE 1421 32skk4kk%08 12 NG =MIX Ji - FEE B AT 1593%k++8064 1200
2661 TR 1421 32s%kskskk44%0819 NG M X Ji R B A 159%%%2986 1200
2662 Tl 14213 2%kkkx4%%0813 NG zMIX JE A B AT 139%#4%5069 1200
2663 1A% 140227 **xx%%%%0851 NG M X Ji LR B A 186%k4x4452 1200
2664 AFAL 14213 2%kkxx4%%0818 KA =M X Jil LR B AT 15051054 1200
2665 [opin 1421 32%*kxxx%%%0818 NG =X Ji L B A 1391638 1200
2666 A 14213240k 0815 NG =MIX Ji - FEE B AT 139348281 1200
2667 THS 3R I 14213 2%kkkx45%0812 NG M X JiH A B A 151%%%%6985 1200
2668 ML 14022 7#kkkx4%%0817 KAl zMIX JE A B AT 15145k 7461 1200
2669 HE 14022 7%kkkx45%0828 NG M X Ji - A B A 195%%%6830 1200
2670 Fhi 14213 23kkkk43k0833 pNEili] =N IX Ji LR B AT 139%+4%2983 1200
2671 U5 14022 73kskx44k%506 X NG =X Ji L B A 18458830 1200
2672 T4 14022 73kkkk465035 NG =N IX Jil B AT 182346035 1200
2673 R 3L 14022 Tsskskkkds:083 1 NG M X Ji R B A 15130402 1200
2674 {E251H 14022 7%k x4%%5045 NG zMIX JE A B AT 150%%%%9827 1200
2675 il 1421 32%kxxx%%%0855 KA T M X iR B A 136%%%%8351 1200
2676 el 14022 7skskkstkk:0032 KA =MIX Ji - FEE B AT 134%%k%%4394 1200
2677 el 140227 %*kxxx%%%0818 NG =X Ji L B A 15145564 1200
2678 AR 14022 Tsktetokek k0834 NG z=MIX Ji - FEE B AT 1313kk%3408 1200
2679 N 140227 ***kxx%%%082X NG M X Ji R B A 185%k4%6437 1200
2680 HE 14022 7#kkxx45k%08 1 X NG zMIX JE A B AT 187%4%4022 1200
2681 5K 14022 Tkt 08 14 KA T M X iR B A 139543054 1200
2682 EFIZE 14022 708 38 KA T =M X Ji A B AT 138%x%%4919 1200
2683 5% 140227 %k*kxxx%%083X NG =X Ji L B A 13951122 1200
2684 A 15262 7skskkstokkk 1922 NG =MIX Ji - EE B AT 134%%k%%9755 1200
2685 /3TN 1421 32s%kskskk44%08 14 NG M X Ji R B A 137%%%%3103 1200
2686 EaNEs)t 14022 7#kkkx45%%0812 NG zMIX JE A B AT 134%%%%3229 1200
2687 ANESR 14022 7skskskkok4:0829 NG M X iR B A 150%%%%7555 1200
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2692 W5 14022 7#kkxx45k%08 1 X NG zMIX JE A B A 139%#4%7268 1200
2693 M 14022 74kskkx435k5045 NG M X Ji - A B A 186%x%%2724 1200
2694 ES0 14022 75kt 0852 KA =MIX Ji - FEE B AT 1593k%%5692 1200
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2696 X3 14213 24%kkkx44%0819 NGk ZMIX Ji A = SR 13959257 1200
2697 hiE2 14022 Tskktokk 0820 NG =M X JE £ AR = SN 13941991 1200
2698 s 14022 7%kskkx45%08 17 NG =X St R4 = SR 175%%%%4122 1200
2699 215 14022 7%k x45%%0840 NG zMIX JE A :/—%ifﬁﬂﬁ 137442560 1200
2700 BUKHE 140227 %*kxxx%%%0835 NG =X Ji LR — AT 139k 2352 1200
2701 A 14022 T3kkkkotkk0832 KA =MIX Ji - FEE — 2] 139+%%9739 1200
2702 B4 14022 T#4kk4k% %5039 KA ZMIX Ji A = SR 136%%%%x1425 1200
2703 KR E 14022 Ttk k0818 NG =MIX Ji - FEE = SN 15942012 1200
2704 KI5 14022 7%kkkx45%0828 NG =X St R4 = SR 155%%4%4328 1200
2705 IFER 13072234k %4323 KAl =M X Jil - A :/—%ifﬁﬂﬁ 1364k%%3426 1200
2706 PR 140227 %*kxxx%%%0826 NG =X iR — AT 138k 7880 1200
2707 AT 4R 1421 32ss8kk4kk %0817 KA =MIX Ji - FEE — 2] 139%%x7869 1200
2708 bR 1421 324%kkkx45k0822 NGk ZMIX Ji A = SR 133%%%0759 1200
2709 Hid % 14022 Tstkskkookk504 1 NG z=MIX Ji - EE = SN 188#kk42714 1200
2710 Rl 1421 32%4kx4k% %0816 NG =X St R4 = SR 136%%4%2745 1200
2711 HEXE 14022 Tsskktokk k0822 NG =X Jil - A :/—%ifﬁﬂﬁ 1874%k%%4660 1200
2712 N 14212454k %8226 KA =M X Ji R4 /« AT 138+k%%2335 1200
2713 B CRL 14022 7tk 0874 KA =M X Jil LR — 2] 1385733 1200
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2718 B &M 142132skkskskekkoiok 1121 KA T =IHIX Ji L — AT 156%:k+%3245 1200
2719 O 14022 Tws5kk4k% %0829 KA =MIX Ji - FEE — 2] 13939540 1200
2720 IR 14022 74kskkx45%08 16 NGk ZMIX Ji A = SR 159%%%9037 1200
2721 #RsE 14022 Ttk 08 10 NG =X JE £ AR = SN 192:k%%2654 1200
2722 Bk 14022 7skskskkk4%08 15 NG M X Ji R — AT 18738816 1200
2723 % 152628%kkx4%k%%4038 NG X Jil - A :/—%ifﬁﬂﬁ 187#kk%3252 1200
2724 X B 14213 2%kskkx44k3827 NG M X Ji - A — AT 166%ksk4238 1200
2725 XN 152628 kkskkskkk%4028 KA zMIX JE L FEE — 2] 18743252 1200
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2727 A4 142132tk 0834 NG =M X JE £ AR = SN 13846767 1200
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